3

> EdmHRBERSHE

A SHASHRMNE

Shandong Zhengyu Machinery Co., Ltd.
Shandong Fangzheng Machine Tools Co.,Ltd.



.

F ¥ /RS oo’E BHLPR

FENR EXmBR

Fangzheng MachineTools Perfect Quality



a‘e;::q:-lzﬂ‘]. C e e

WRAENKRTEFRASDEEEFLEHRETVEX, WRFERERZEEVKRK
NI VEESE, SMRFTE, THXFRERNEFINTHESEN, A TH
WA, RETN &R,

WRAENKTRGRAIZBLZWAFTRFHEEFIL . CNCEIR TR SR
ATV R, ELENKRMEHTEF, =aafE. e, HOEK, AQF
ZHEHEOBEN, FREBEO~@BAEFTIE, ISO001REAHRIAIE,

BRAIRESLNEE, FURMNESEE, EHNFDERS, @NTHL,
HEER, SBENER, siTENE, HFE e KENEARAR, EASIMNM™
RRESMNRIE, AXNTNFEFRELLRI. £ZTIM. BV, JEET.
BRETOHEZH~%, BRRBR, HEFTE, REERIINAFRGEE, AExE
MYAREXAER, mRpEEE. EE8. ZB. ZE. megXx. KETEERM
X,

AN —BETREFE—, BREL, BEIANRE, KERENEARS
2, BENEEGE, SN TRNES, JUEAFAREFEERTE, BiR
o, EERE, BARESARRENSETRKMG, MEEE, THERH, R
S EE,

BRELAUATEHAEEENINEFEEEEFNEM EEIWE KR, #

E—
%:_:/I:L'\“EWLO

0






=i B3 CONTENT

ZY—10004 yA £ [0[0]05)
HiIETEZRT
CNC TOOL SYSTEMS
W HESREIR Wi RIESREIR Wi HESRESR
BT #EHu=Ht Ik TIHA DIN69871 43tz s JI4R CAT sinet s T4
MILLING CHUCK ARBORS MILLING CHUCK ARBORS MILLING CHUCK ARBORS
ZY—10008
WiRIESREH W HESRETR Wi RIESRESR Wi HESREIR
BT #HEERTRE(RER) DIN ##IZERTEE (REE) CAT #EHIEERTEZE (RER) HEERTREE (FHE)
MORSE TAPER(WITH TANG) ) MORSE TAPER WITH TANG ) MORSE TAPER WITH TANG ) MORSE TAPER(WITH DRAWBAR)

ZY-10016 ZY-10018 ZY—-10020 ZY—-10022

WiFRIESRE 100 WiFMESREN T Wi EESRE12R Wi EESRE IR
DIN #in R TEE (FhE) CAT #HImRRERE (FHE) BT $EEREhIRAT DIN $EBHIESHIET
\ MORSE TAPER(WITH DRAWBAR) | | MORSE TAPER(WITH DRAWBAR) ) | DRILL CHUCK ARBORS ) | DRILL CHUCK ARBORS )

ZY—10024 ZY—-10026 ZY—-10028 ZY—10030

WiFAIESHRE4RN Wi MIESRE 15T WiFAIESRE 16T WiMESRETR
CAT SEEIESHIEAT BHKHRL BT/FMA FEHETIHF BT/FMB M TIHF
\_DRILL CHUCK ARBORS )\ SELF—FASTEN DRILL CHUCK )\ BT/FMA SHELL MILL ARBORS | | BT/FMB SHELL MILL ARBORS

ZY—-10038

WA SRS 18T WIS RS 19T WA S 19T R
SHIEZ AR R SHIRZ AR IR SHIEZ AR A ﬁEﬂﬂﬂE*ﬂﬁnﬁ

DING9871/FMB SETE #t TI#F BT $E3iimiB AKX DIN $fsizB SN IHF ANGULAR MOUNTING SQUARE
DIN69871 /FMB SHELL MILL ARBOR COMBI SHELL END MILL ARBORS COMBI SHELL END MILL ARBORS BITE BORING ARBORS

ZY—10040 ZY—10046 ZY—10048

o\

-
e \(\ gzgiﬁﬁzzg WA SHRE21 ~ 227 WS S E 23T WSS BB
B THEE 7] g s 4t i b A i
a STRAIGHT MOUNTING SQUARE BT 714 DINGESZ T3 714 CATSERR I 5 TIH
BITE BORING ARBORS END MILL ADAPTERS END MILL ADAPTERS END MILL ADAPTERS

Let all the world love ™



7= B3 CONTENT

ZY—10050, 10052

WiFMESREDR
BT #pi%38 1 714R
MILLING CHUCK ARBORS

WiFHESRE2. 270
Ry HERX IR
THREAD LOCKING TYPE CHUCK

WiFRiE S RE28T
BT/SK(DINGIBTIA) G RIE R L%
BT /SK (DIN63871A) GSK HIGH SPEED COLLET CHUCK

ZY—100524, 526

WiFHES 29T
IS030, {7
1SO30 COLUMBUS

ZY—10062, 10064

WiFHESBE3N T
ISO,/DIS7388 /2—1984B 4T
\ RETENTION KNOB

N

2Y—2000212, 214, 216

ZY—10054 10056

WiFZHiES B30T
JIS B6339—1986 $i4T
RETENTION KNOB

ZY—10058

WiEHiESHRE30R
DING9872—1988 $i4T
RETENTION KNOB

%250
COLLET SERIES

ZY—20004, 20006

ZY—20002

WiHiES B2
DINB499B #R/EERZ 51|32k
\_DIN6433B ER COLLETS

-

ZY—20008

WiFEIE SRR Wi HES BT Wi HESRENR Wi HESRETR
CSKREABHEIRIE. 10T, BRER ERG BUTy#2esk ER [EfE ER #RF
\ GSK HIGH SPEED NUT WITHOUT KEYWAY ) | TAPPING COLLET )\ ERNUT )\ ER SPANNER )

Wi HESRE29N
ST TIHA. SRR T4
ELASTIC EXPANSION TAPPING THE HANDLE

ZY—10060

WSS REI T
ANS|/ASME B5.50—1985 #i4T
RETENTION KNOB

ZY—2000210

Wi HESREBR
CSKE ki 3%
\ CSK HIGH SPEED DOLLET

-

ZY—20010

ZY—-20010

Wi HESRETR
ER R F
\ ER SPANNER

-

ZY—-20010

WiFESRESTTT
ER RF
\_ER SPANNER

.

ZY—-20012

WiFES R8T
ER EHHEFRL
\ ER MILLING CHUCK SET

.

Wi HiESREIOR

C/ER EMIEIH
C/ER Straight shank collet
chuck and extension type

ZY—-20018

WiEMIESREA T
DING388A #R/EEOCEK 5l &k 3k
DIN6388A EOC COLLETS

WiMIESREA T
DING388B #R/AEEOCZ Fl|§k Sk
DIN6388B EOC COLLETS

ZY—-20014

Wi HESRE9T

C/ER EMEH (MEL/MZIZIE)
C/ER Straight shank collet
\chuck and extension type )

WiRESRENT
8681162 51| L
868116 EOC COLLETS

ZY—20021, 20022

WiFMiESRE42RT
EOC,/0Z8, EOC/0Z [ENE
EOC,/0Z8, EOC,/0Z CLAMPING NUT

Wi¥RiESRE2R
EOC,/0Z $FF
EOC,/0Z SPANNER

WiFRiESRE4ITT
EOC/0Z ZmIIEHHEIL
EOC/0Z MILLING CHUCK SET

ZY—20028

WiFAESREMT
JM71 BB AR
JM71 STRAIGHT SHANK COLLETS

7= B3 CONTENT

WiFAIESREM4T
Ee R LER
MILLING CHUCK SET

WiFAIES R E45SR
% RGeSk
QUICK ACTION MILLING CHUCK

ZY—20038

WiEHIESREATR
DIN6343 U3k
DIN6343 CLAMPING COLLETS

ZY—20040

WiEAIESRETR
TAPER COLLETS

ZY—20048

WiFRiES R S50 WiFEESRE T WiESRES T Wi iESRE520
J45 Bingse s TCSEUHA ML 3k i PR AL P 3 WA FKiE R
J45 TAPPING CHUCK ) TCS TAPPING TORSION TAPPING COLLET TAPPING COLLET ADAPTER ) TORSION CLAMP CONNECTOR )

WiFAIES R E46R
ETI#%k
SHARPENER COLLETS

WiEAMIES IR 46T
DING341 skl
DIN6341 COLLETS

WSS IS 48TT
HEFLA B Sk
KEYLESS DRILL CHUCK
WITH TAPER MOUNTED

ZY—-20044

Wi HiESRE49TT
12l B Rk
KEYLESS DRILL CHUCK
WITH THREAD MOUNTED

ZY—-20052, 20054

Wi HiESRE2R

HRHLENER. RRYLENER W55 B 53T
MORSE TAPER DRILLING SLEEVES R8 &
\ MORSE TAPER TAPPING SLEEVES ) R8 COLLETS J

ZY—200601

WiFIESRET
7:24% 3% 75|
\ 7:24 COLLET SERIES

.

ZY—30006

Wi ES RN
7:24/MT BZRE(RER)
7.24 TO MT ADAPTER(WITH TANG)

CLE]
MILLING ARBOR SERIES

ZY—30008

WiFHES 56T
7:24/R8 TEE
7.24 TO R8 ADAPTER

Wi HiESRE8R
SHETIFF
END MILL ADAPTERS

W55 L8R
SIHETIFF
END MILL ADAPTERS

ZY—20058

Wi ES 53T
R8 JLhitt
\_R8 COLLETS DRAW BAR )

ZY—20060

Resss 7

\_KEY TYPE DRILL CHUCK J

ZY—30002

WiFAiES 5T
7:24/MT BEE(FEK)

\7:24 TO MT ADAPTER(OPENING) J

ZY—30004

W55 50T
7:24/MT ZHEE (PR
\7:24 TO MT ADAPTER(DRAW BAR) )

Wi ESRESTTT
7:24 SEIEHF
7.24 DRILL CHUCK ARBORS

Wi iES R8T
ST
END MILL ADAPTERS

Wi iES R E58R
SISETIFF
END MILL ADAPTERS

Wi HiESRE5IR
EXH®TIHF
SHELL END MILL ARBORS




7= B3 CONTENT

Wi EESREIN
EXH®TIHF
SHELL END MILL ARBORS

Wi HFSREIN
EXBTF
SHELL END MILL ARBORS

Wi HESREIN
EXBTHF
SHELL END MILL ARBORS

W5 SR E60TT
REBAXE I
COMBI SHELL END MILL ARBORS

W5 S RE60TT
REBANXHIIH
COMBI SHELL END MILL ARBORS

ZY—30018

W5 S RE60TT

R AN T A B
ATTACHMENT OF COMBI SHELL
END MILL ARBORS

ZY—-30018
RIS B E60 T
ggiﬁiﬁéﬁﬁ%m Wi IE S RES T Wi IE S RES T
ATTACHMENT OF COMBI SHELL R8 TRE ERFPEE
END MILL ARBORS ) R8 TO MS SLEEVES ) MORSE TAPER SLEEVES )
ZY—-30026 ZY—-30028 ZY—-30030
FIES 63T
Wi S 63T S Wi S BT
BAEHNERE MORSE TAPER SLEEVES DIN2187 fIKEZE
\STRENGTH—DRIVEN SLEEVES )\ orawean Tvee) ) GXTENSION SOCKET WITH MS_HOL5
ZY—30034 ZY—30036 ZY—30038
WiFiES 65T W52 56671 WiFHiESBETR
BEiRshiET SRR B R K SHIEAT HRBEKSIET
STRAIGHT SHANK DRILL CHUCK MORSE TAPER DRILL CHUCK MORSE TAPER DRILL CHUCK
| ARBORS )\ ARBORS WITH DRAW BAR )\ ARBORS WITH TANG )

Wi HiES R8T

RSB S AT
MORSE DRILL CHUCK ARBORS

/

ZY—30044

Wi HESREIM
EXBTITRRET

SCREW FOR SHELL END MILL
ARBORS

/

Z2Y—30046

W5 S RE6IT
EREMETIH

STRAIGHT SHANK MILLING
MACHINE ARBORS

WiEEESRENT

DINSESEE R 3t TI4F
SHELL MILL ARBORS

WFAESRENT
HEReEEE
R8 TAPER SLEEVES

WiFRESRET2R
HizT. 24T RE
7.24 TAPER SLEEVES

WiF4HES R E60TT
REBAXHEIIHF
COMBI SHELL END MILL ARBORS

ZY—30018

W5 S R E60TT
RETBANE TR M
ATTACHMENT OF COMBI SHELL
END MILL ARBORS

Wi HiESRE2R

273 BBEE
273 MORSE TAPER SLEEVES )

ZY—30032

WiFRIES R EE65T
R8 ShiAt
\RS DRILL CHUCK ARBORS

J

ZY—30040

Wi ES R8T

SR EEIRAT
| MORSE DRILL CHUCK ARBORS

J

ZY—30048

Wi HiESRETOR

BTSESn BBt T4
SHELL MILL ARBORS

Wi HESRER

HSK (AZ) ERGETIHR
ER COLLET CHUCK

7= B3 CONTENT

ZY—30058

Wi HESRET4T

HSK (ARY) ILBETIHF
END MILL HOLDER

ZY—30060

Wi HESREBR

HSK (ARY) EXGETIH
SHELL END MILL HOLDER

BEEOHZRT]
PRECISION VISE SERIES

ZY—70008

WiF4iES 8071
ZXQGG FRIFEEEZTRFOM
PRECISION SINE TOOL VISE )

WiFRIESRE78RN
QGG ZIIFEZ TAFOM
PRECISION TOOL VISES

ZY—30064

Wi RESRETTR
HSK (ARY) ZRRE
MORSE TAPER ADAPTER

WiFAESRETOR
HSK (AZY) REFAXGTIHF
COMBI—SHELL END MILL HOLDER

ZY—-70004

ZY—70006

WiFMESRETIR
AREATOH
PRECISION MODULAR VISES

WiFRIESRET8 R
OKG RFIHE= TAFOM
PRECISION TOOL VISES

Wi HESRE0N
ZXQKG RFIEBIEZTETOH
PRECISION SINE TOOL VISE

WiFAIES R8N

HIR R AEE A ST OH
QUICK ACTION PRECISION MODULAR
VISES WITH SWIVEL BASE Y,

ZY—40006

WSS R85
BRAE SRR
\_CARBIDE HALF-NOTCHED CENTER )

ILESR]
CENTER SERIES

ZY—40008

W5 S RESSTT
BREETR
CARBIDE CENTER

ZY—40014

Wi HES R8T
BRI EFE TS

\_MEDIUM-DUTY LIVE CENTER J

WiF4ES 8971
HEREL KR
PRECISION HEAVY LIVE CENTER

ZY—40016

Wi HESRETR
BREETRERTIR
CARBIDE MEDIUM—DUTY LIVE CENTER

SEXFRT

INDEX FIXTURE SERIES

Wi HiESRE2N
HIRERRASFOM
PRECISION MODULAR VISES
WITH SWIVEL BASE

W AESRESI R
2ve3me . WEAATOM
SINGLE & DOUBLE ACTION VISES

ZY—40002 ZY—40004

WiFES 84T WiFHiES 84T
[ERAFES FERTALC
\_DEAD CENTER )\ HALF-NOTCHED CENTER )

ZY—40010 ZY—40012

WSS 86T WiFHiES R EE6TT
M1l BUEE ERE TS HERREETR

\PRECISION LIVE CENTER Y, \PRECISION LIGHT-DUTY LIVE CENTER/

ZY—40020

ZY—40018

WiFHiES R8T
EIRBNK @R
HIGH—SPEED MEDIUM—DUTY
MULTI—PURPOSE LIVE CENTER

WiFHiES R8T
RN EFE TR (KAL)
MEDIUM-DUTY LIVE CENTER(EXTENDED)

ZY-50004

W55 R0
5C mATE
5C COLLET BLOCK SET

WiFHES 0T
5C &
5C FIXTURE




7= B3 CONTENT

ZY-50006

WiFESREN T
PF70/5C 54 Bk
PF70,/5C SPIN INDEX

Wi ES NI
HE—HhKHE

Five unity Drill Re—sharpener

ZY—-60002

WiF4HES 6T
F1 g
TYPE F1 BORING HEADS )

ZY—-60008

W55 R8T
F1 BB TIHR
\_F1 BORING SHANK )

ZY—80006

WiFHESREN T
PF100B,/5C 37 BM&4y4y sk

PF100B /5C HORIZONTAL VERTICAL

COLLET INDEX

Wi HESRE2R
Fl2R 77 ges ik
SEMI—UNIVERSAL DIVIDING HEAD

W55 B4R
ShKHRENL R T
Drill Re—sharpening Machine

ZY—5A004

Wi HIESRER
BETIHENL RS
End mill Re—sharpening Machine Y

ZY—60004

W55 R0 T WSS R E 8T WIS R8T
F1 Biggsk F1 BB TIHR F1 BB TIHR
TYPE F1 BORING HEADS F1 BORING SHANK ) F1 BORING SHANK )

ZY—60006

TIEBEFR

Cutting tool

regeneration tool

ELR
BORING HEADS SERIES

ZY—60006

FATRERS

PARALLEL BLOCK SERIES

ZY—80008

ZY—80002

Wi HESRENR
PB161 EIF{THR
\_PRECISION PARALLEL BLOCK )

ZY—80004

Wit 55 B E 9T
PB150 EF 44k
\PRECISION PARALLEL BLOCK Y,

ZY—800010

WiFES R E 9T WiFHESRE1000 WiFESRE100R WiFESRE100:
PB151 HEI{TH PB153 BUF{THL PB154 BUF{THR PB155 EUF4THR
PRECISION PARALLEL BLOCK PRECISION PARALLEL BLOCK PRECISION PARALLEL BLOCK PRECISION PARALLEL BLOCK
\d J \ AN J

Z2Y—80012

iz &5
EDGE FINDER SERIES

ZY—100002

W55 REE 1025
DIN317 $FEmek
MORSE SHANK PULLER

ZY—90002

Wi EESREI0IR
SRR KD
ELECTRONIC EDGE FINDER

ZY—90004

WiHMESRE101TT
Rk
MECHANICAL EDGE FINDER

ZY—100004

Wi ESRE 1020
DIN318 3 F ek

HALF AUTOMATIC MORSE SHANK

PULLER

ZY—100006

Wi RIES R E1025T
TIRHTIE

VERTICAL HORIZONTAL TOOL
HOLDER DEVICE

HEZRJ

OTHER ACCESSORY SERIES

ZY—100008

Wi ESRE 1037
HERUT
HYDRAULIC SOFT CLAWS

=E

NT30

16.2

NT40

Germany DIN 2080—A NT

68.4

#3175

NT45
7.24
—
&) 8 2
= ] B
o
LY
1068
29 3.2 ||12
NT50
7:24
i
3 N 8
= ] §
LY,
1268
32 |h2

FANGZHENG TOOL

HIE TV ARG iRAE
NC.TOOLING SYSTEM

ZEGYO

[E PR International ISO 7388 /1—A JT

t[E China GB10944

fE=[E Germany DIN69871 SK

DIN69871.30

19 164

o

15

DIN69871.40

%5 228

-

4
&
1Y

18.5

18.5

DIN69871.45

313 204

19.3

24

24

DIN69871.50

377 355

~JJ

257

30

30

47.8

19.1

7:24

f

w w
Ty 8 1188
= ] 2 =
15.9
35
19.1
KKl
==t
~| v
|~
==
g
15.9
35
82.7 19.1
(K]
7:24 ==
S © 2|8
- ¥ T e
- CYEY
15.9
35
101.75 19.1
7:24
-l
W 8 gle
= 4 Mo
g wiE

35

2]




HZ< Japan MAS 403 BT

16.1
238

b

23175

%[E America ANSI B5.50 CAT

CAT30

18.67 | 16.26

#3175

£55.27

CAT40

05\3‘5

]

#4445
a53

22,61

{193|

273

25715

[\

3137 | 28.96

CAT45

N

CATS50

23175
#3889

15.88

35.05

19.05

1.1

~ ZY-10002 BT sERIESE IS T]48  MILLING CHUCK ARBORS

MAS. BT

.

L1

16.38

24445

272.72

I N
i\lt/i

44.45
256,36

15.88

35.05

#51.16

314710

B 574
7541

19.05

IE

2591

#69.85
B85

£119.109

35.31

FANGZHENG TOOL

mm
IS Model No. D D1 #UZS Model No. D1
BT X ER—L1 BT X ER—L1

BT30 X ER16—70 28 31.75 BT45 X ER25—70 57.15
BT30 x ER20—70 34 31.75 BT45 X ER25—100 57.15
BT30 X ER25—70 42 31.75 BT45 X ER32—-70 57.15
BT30 X ER32—-70 50 31.75 BT45 X ER32—100 57.15
BT30 x ER40—80 63 31.75 BT45 X ER32—120 57.15
BT40 X ER16—70 28 44 45 BT45 x ER40—80 57.15
BT40 x ER20—70 34 44 .45 BT45 X ER40—100 57.15
BT40 x ER20—100 34 44 45 BT45 X ER40—120 57.15
BT40 X ER20—150 34 44 45 BT50 X ER16—70 69.85
BT40 X ER25—60 42 44 .45 BT50 X ER16—90 69.85
BT40 X ER25—70 42 44 45 BT50 X ER20—70 69.85
BT40 X ER25—90 42 44 45 BT50 x ER20—90 69.85
BT40 x ER25—100 42 44 .45 BT50 X ER20—150 69.85
BT40 X ER25—150 42 44 45 BT50 X ER25—70 69.85
BT40 X ER32—70 50 44 45 BT50 X ER32—-70 69.85
BT40 x ER32—100 50 44 .45 BT50 X ER32—80 69.85
BT40 X ER32—150 50 44 45 BT50 X ER32—100 69.85
BT40 x ER40—70 63 44 45 BT50 X ER32—120 69.85
BT40 x ER40—80 63 44 .45 BT50 X ER40—80 69.85
BT40 X ER40—150 63 44 45 BT50 X ER40—100 69.85
BT40 X ER50—100 78 44 45 BT50 x ER40—120 69.85
BT45 X ER16—70 28 57.15 BT50 X ER50—90 69.85
BT45 X ER20—70 34 57.15 BT50 X ER50—120 69.85

2 69.85

£291.29

15.88

3505

FANGZHENG TOOL

. TTRHSERATIMREARER . IEHOHK SE=2MEEHKAR TIHE, FHRAAAD/BEY, 4NBT40AD,/BXER32-70,

. RIBEEFRMHTETIN, FEREEAC6.3/12000rpm, HEEHEE AG2.5,/20000rpm, (TS EAEMEE.

. When order please indicate the hilt the concrete form. |f needs in the center cold and the flange water leakage
hilt, please mark AD/B.

. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3/12000rpm, the precise
precision is G2.5,/20000rpm.

HETREN

(%2
=
w
=
n
>
)
-
o
o
=
(&)
=
(&)




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

ZY—10004 DING9871 HE#i=5kF T4 MILLING CHUCK ARBORS ZY—10006 CAT #E#u=gt3L 748 MILLING CHUCK ARBORS

BIETARN

[%2)
=
]
=
1%
>
%)
—
o
o
=
(&)
=
O

HETREN

(%)
=
w
=
w
>
w
—
o
o
=
o
=
(&)

DING9871 g

= — Tl
——m

L1

mm

mm
AIE Model No. U= Model No. 1= 1=
DIN63871. AXER—L1 D b DIN63871 . AXER—L1 D b BS Modal Ho. D Dr aS Modal flo. D Dr
DIN69871.A30 X ER11—80 19 31.75 DIN69871 . A40 X ER40—80 63 44 .45 CATA0XER16-63 28 11 a5 CAT20 X ERB0_80 - 11 a5
DIN69871 . A30 X ER16—63 28 31.75 DIN69871 . A40 X ER40—100 63 44 .45 CATA0<ER16—70 28 4445 CATA0 % ER50—100 8 4445
DIN69871 . A30 X ER20—63 34 31.75 DIN69871 . A40 X ER40—150 63 44 .45 CAT40 % ER16—100 28 44 45 CAT50 X ER16—70 28 69 85
DIN69871 . A30 X ER25—63 42 31.75 DIN69871 . A40 X ER50—100 78 44 45 CAT40 X ER16—150 28 44 45 CAT50 X ER16—90 28 69.85
DIN69871. A40 X ER11—80 19 44 .45 DIN69871 . A50 X ER16—70 28 69.85 CAT40 X ER20—70 34 44 .45 CAT50 X ER16—100 28 69.85
DIN69871.A40 X ER16—63 28 44 45 DIN69871.A50 X ER16—100 28 69.85 CAT40 X ER20—90 34 44.45 CAT50 X ER20—70 34 69.85
DIN69871 . A40 X ER16—70 28 44 .45 DIN69871 . A50 X ER20—70 34 69.85 CAT40 X ER20—100 34 44.45 CAT50 X ER20—90 34 69.85
DING9871 . A40 X ER16—100 28 4445 DING9871 . A50 X ER20—100 34 69.85 CAT40x ER20-150 34 44.45 CATS50 X ER20-100 34 69.85
DIN69871 . A40 X ER20—70 34 44 .45 DIN69871 . A50 X ER25—70 42 69.85 CAT40 X ER25-70 42 44.45 CATS0 X ER20-150 34 69.85
DIN69871 . A40 X ER20—100 34 44 45 DIN69871 . A50 X ER25—100 42 69.85 CATA40 X ER25-90 42 44.45 CATS0 X ER25-70 42 69.85
CAT40 X ER25—100 42 44 .45 CAT50 X ER25—100 42 69.85
DIN69871 . A40 X ER25—60 42 44 .45 DIN69871 . A50 X ER25—150 42 69.85 CAT40 X ERZ5—150 2 12 45 CATS0 X ER25—150 2 69 85
DIN69871 . A40 X ER25—70 42 44 .45 DIN69871 . A50 X ER32—80 50 69.85 CATA0 X ER32—70 50 44 45 CATS0 x ER32—70 50 69 85
DIN69871 . A40 X ER25—100 42 44 .45 DIN69871 . A50 X ER32—100 50 69.85 CAT40 % ER32—100 50 44 45 CAT50 % ER32—80 50 69 85
DIN69871. A40 X ER25—150 42 44 .45 DIN69871 . A50 X ER40—80 63 69.85 CAT40 X ER32—150 50 44 .45 CAT50 X ER32—100 50 69.85
DIN69871 . A40 X ER32—70 50 44 .45 DIN69871 . A50 X ER40—120 63 69.85 CAT40 X ER40—70 63 44 .45 CAT50 X ER40—80 63 69.85
DIN69871 . A40 X ER32—80 50 44 45 DIN69871 . A50 X ER50—90 78 69.85 CAT40 x ER40—80 63 44 .45 CAT50 X ER40—100 63 69.85
DIN69871 . A40 X ER32—100 50 44 45 DIN69871 . A50 X ER50—100 78 69.85 CAT40x ER40—100 63 44.45 CATS50 X ER50—90 78 69.85
DING9871 . A40 X ER32—150 50 4445 DIN69871 . A50 X ER50—150 78 69.85 CATA40 X ER40-150 63 44.45 CATS0 X ERS0—-100 /8 69.85
1. ITHRHEERATRAARER R, WEROBKSEZSMERKAERITIMR, iSFRIHAD/BEY, HIDINGIS71.40AD,/BXER32-T0, RIBEEFIRMENTE W, FRHEFEEHGE.3/12000rpm, FEEHERE #G2.5,/20000rpm, (THEHE AR,
2. IRIEEETRMSEE I, REFEEHNG6.3/12000rpm, {EZFEEHG2.5,/20000rpm, (TS FRHEEEE. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage precision is G2.5,20000rpm.

hilt, please mark AD/B.
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm.

4 FANGZHENG TOOL FANGZHENG TOOL b}




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

o ZY-10008 BT $HmEK A% (RREE) MORSE TAPER(WITH TANG) ( ZY—10010 DIN 4E3inE K I/2E (BEA!) MORSE TAPER WITH TANG =z
o2 i
;a = MAS. BT ﬁ 5
O é—‘\ -
—
TN e |
2
————N
L1 B =
L
mm
IS Model No. = :
BT X MT.NO. —L1 L D D1 & Wi(kg) :
BT30 X MTA1—-45 93.4 25 31.75 0.55
BT30 X MTA2-60 108.4 32 31.75 0.90
BT30 X MTA3-80 128.4 40 31.75 0.90
BT40 X MTA1—45 110.4 25 44 45 1.20 mm
BT40 X MTA2-50 115.4 32 44 45 1.55 FIZ Model No. L 5 o & Wik
BT40 X MTA2—60 125.4 32 4445 1.65 DIN69871. A X MT.NO ., —L1 EE Wi(kg)
BT40XMTA3—70 135.4 40 44.45 1.80 DIN69871 . A30 X MTA1—50 97.8 25 31.75 0.55
BT40 X MTA3-75 140.4 40 44.45 1.90 DING9871. A30 x MTA2—60 107.8 32 31.75 0.80
BT40 X MTA4~90 155.4 48 44.45 2.30 DIN69871.A30 X MTA3—-75 122.8 40 31.75 0.85
BT40 X MTA4—-95 160.4 48 44 45 2.40
DIN69871.A40 X MTA1—45 113.4 25 44 45 1.20
BT40 X MTA4—135 200.4 48 44 45 2.65
BT45 X MTA1—120 202 8 25 57 15 190 DIN69871.A40 X MTA1-50 118.4 25 44 45 1.30
BT45 X MTA3—120 202.8 40 57.15 2.40 DIN69871 . A40 X MTA2—60 128.4 32 44 45 1.56
BT45 X MTA4—98 180.8 48 57.15 2.40 DIN69871 . A40 X MTA3-75 143.4 40 44 .45 1.80
BT50 X MTA1—-45 146.8 25 69.85 4.10 DIN69871.A40 Xx MTA4—95 163.4 48 44 45 2.40
BT50 X MTA2-50 151.8 32 69.85 4.00 DIN69871.A50 X MTA1—45 146.75 25 69.85 4.05
BT50 X MTA2-60 161.8 32 69.85 4.20 DIN69871. A50 X MTA2—60 161.75 32 69.85 4.40
BTS0XMTA2-120 221.8 32 69.85 4.30 DIN69871 . A50 X MTA3—65 166.75 40 69.85 4.50
BTS0XMTA3—-65 166.8 40 69.85 4.20 DING9871. A5O X MTA4—95 196.75 48 69.85 4.90
-7 7
BTS0XMTA3-75 176.8 40 69.85 4.30 DIN69871.A50 X MTA5—100 201.75 61 69.85 5.10
BT50 X MTA3-120 221.8 40 69.85 4.40
DIN69871 . A50 X MTA5—105 206.75 61 69.85 5.15
BT50 X MTA3—-150 251.8 40 69.85 4.68
BT50 X MTA4—-95 196.8 48 69.85 5.00 N . = Ny Az L g
BT50 X MTAB_105 206 8 o3 59 85 5 00 1. JTHEHEERTIMEARER R, E Ok S5 =RNEHKAZIR 1M, 15FRAIAD,/BE!, MDINGI871.40AD,/BXMT3-75,
: : i 2. RIBEETIRUENTE M, tRAEREEHG6.3/12000rpm, HEEHEE 4G2.5,/20000rpm, THIRHEEAEMAEE .
1. iTHEFHE T IMEEREER. EGOEKkSE=EMmEiHEKSEIRIJI4E, 1B5HRAFAD/BEY, #NBT40AD,/BXMTA3-75, 1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
2. RIBFFERMINFEIIN, FREFFEAG6.3/12000rpm, FFEFEE AHG2.5,/20000rpm, {THIRHEFRAREEE. please mark AD/B.
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the
hilt, please mark AD/B. precise precision is G2.5,/20000rpm.

2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm,
the precise precision is G2.5,/20000rpm.

6 FANGZHENG TOOL FANGZHENG TOOL e




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

FZY—10012 CAT {EEIFERT/ZE (BER) MORSE TAPER WITH TANG FZY—10014 KIS E /2% (J54H) MORSE TAPER(WITH DRAWBAR)

BIETARN
HETREN

(%2
=
w
=
n
>
)
-
o
o
=
(&)
=
(&)

[%2)
=
]
=
1%
>
%)
—
o
o
=
(&)
=
O

D1

L1

#I-2 Model No. L b D1 TEE
BT XMT.NO.—L1 Figure
BT40 X MTB1—45 110.4 25 1
mm BT40 X MTB2—60 125.4 32 1
= BT40 x MTB3—75 140.4 40 2
215 Model No. L D D1 B2 Wi(kg) 44.45
CAT XMT.NO.—-L1 BT40 x MTB3—90 155.4 40 2
CAT40 X MTA1-—-45 113.25 25 44 45 1.30 BT40 X MTB4—95 160.4 48 3
CAT40 X MTA2—-63 131.25 32 44 45 1.70 BT40 x MTB4—100 165.4 48 2
CAT40 X MTA3-75 143.25 40 44 45 2.00 BT50 Xx MTB1—45 146.8 25 1
CAT40 X MTA4—100 168.25 48 44 45 2.50 BT50 X MTB2—45 146.8 32 1
CAT45 X MTA1-40 122.55 25 57.15 2.70 BT50 X MTB2—60 161.8 32 1
CAT45 X MTA2-50 132.55 32 57.15 3.80 BT50 X MTB3—60 161.8 40 1
CAT45 X MTA3—73 15555 40 57.15 4.20 BT50 X MTB3—75 176.8 40 69.85 1
CAT45 X MTA4—-95 177.55 48 57.15 4.60 BT50 x MTB4—80 181.8 48 3
CAT45 X MTA5—125 207.55 61 57.15 5.50 BT50 x MTB4—100 201.8 48 2
CAT50 X MTA1—-40 141.6 25 69.85 4.00 BT50 x MTB5—100 201.8 63 3
CAT50 X MTA2-50 151.6 32 69.85 4.00 BT50 x MTB5—120 221.8 63 2
CAT50 X MTA2—135 236.6 32 69.85 5.00 . 1. REEV TR NWERRERERARIEST
CAT50 X MTA3—63 164.6 40 69.85 4.50 2. REEFRTRRTIRERRBERERERST, THNNFERTIEER
3. REECHTHIMERRERENKHET, TR INER TSR
CAT50 X MTA3—150 251.6 40 69.85 5.50 s oy o S obar N N
4. VTRHEERRTIARERRAER . INEFOHKSE=EMEH IR TN, ISFRIAAD,/BEY, HIBT40AD,/BXMTB3-75,
CATS0XMTA4-85 186.6 48 69.85 4.80 5. {RRBEMIRMENTETIN, FEIEEHGE.3/120000m, FERHERE#G2.5,/20000pm, {TIIRHEERIEMAHEE.
CAT50 X MTA5—105 206.6 61 69.85 5.20 Note;1. See figure 1,when the arbor being used, it is necessary to fix inner hex screw.
2. See figure 2,when the arbor bein used, it is necessary to fix standard knob, please note when order it.
IR E MM T T, FEE R 4G6.3,/12000rpm, FERERF % G2.5,/20000rpm, 1T RS ERIRE R, 3. See figure 3,when .the. arbor beerg used, it is necessary to fix .extensmn knob, please onte when order it.
. . . . . . 4. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage
According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise hilt, please mark AD/B
precision is G2.5,20000rpm. 5. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the

precise precision is G2.5,/20000rpm.

S FANGZHENG TOOL FANGZHENG TOOL 9




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

Eg B ZY—-10016 DIN $EEITEKTEE(FHE!) MORSE TAPER(WITH DRAWBAR) ‘ ZY—10018 CAT $##HIEEKTEE (JFH8!) MORSE TAPER(WITH DRAWBAR) Eg

-l 85

B35 B35
MT.NO, |

L

#IE2 Model No. L b D1 TEHE S
DIN69871 . AXMT .NO . —L1 Figure + ] § N
DIN69871 . A40XMTB1—45 113.4 25 T LA T
DIN69871 . A40XMTB2—-60 128.4 32 1
DIN69871 ., A40XMTB3—-70 138.4 40 3 2
DIN69871 . A40XMTB3—80 148 .4 40 44 45 2 mm
DIN69871 . A40XMTB3—100 168.4 40 2 e — =
! Model No. =
-.5-
DIN69871 . A40OXMTB4—90 158.4 48 3 CATXMT.NO . —L1 L D D1 Figure
DIN69871 . A40XMTB4—100 168.4 48 2 CAT40 x MTB1—45 11325 25 1
DIN69871 . AS0XMTB1—45 146.8 25 1 CAT40 x MTB2—60 128 25 32 1
DIN69871 ., AB0XMTB2—45 146.8 32 1 CAT40 X MTB3—75 143.25 40 2
— 44 45
DIN69871 ., ABOXMTB3—-60 161.8 40 1 CAT40 X MTB3—90 158 25 40 2
DIN69871 ., ABOXMTB3—80 181.8 40 1 CAT40 x MTB4—100 168.25 48 2
DIN69871 . A5S0XMTB4—80 181.8 48 69.85 3 CAT50 x MTB2—60 161.6 3175 1
DIN69871 ., ABOXMTB4—90 191.8 48 2 CAT50 x MTB3—60 161.6 4 28 65 85 ]
DIN69871 . A50XMTB4—120 221.8 48 2 CAT50 X MTB4—90 1916 50 8 2
DING69871 ., AS0XMTB5—100 201.8 61 3 CAT50 X MTB5—100 201 .6 6985 3
DIN69871 . AS0XMTB5—120 221.8 61 2
iE: 1. TEEITHIIRERNERRENARIEST E: 1. REREETHIRERNERREN SRR
— == — SEp e Y > AN IE T — — S e A 4 s YU
2. TEEZFTN AN GRS, ST T 2. FREEF R TE R R R RRST, ST MR $TiEE
3. REERFRH TIER A E R IHCRIET, TR IR ETiEERA 3. FEERH RN AR E A A E R KT, ST E R 4TS
4. {THIRSEERRTIARAIR AT . MEROBEK %2 RIEHKSHM TIAR, EHRAIAD,/BEL, JIDINGIS71.40AD/ TR ST IR B m S AL R N
BXMTB3-70, 4. IRIBEERMRMBNTE I, FREREEAG6.3/12000rpm, 1EZHEE AHG2.5,/20000rpm, JTHAHEERAEE
5. IRIBEERHEMShEE I, REFRSE HG6.3/12000rpm, FEZEFEE #G2.5,/20000rpm, TS TR E{FHEE ., Note; 1. See figure 1,when the arbor being used,it is necessary to fix inner hex screw.
Note: 1. See figure 1,when the arbor being used,it is necessary to fix inner hex screw. 2. See figure 2,when the arbor being used,it is necessary to fix standard knob,please note when order it.
2. See figure 2, when the arbor bein used,it is necessary to fix standard knob,please note when order it. . . - . . .
. . o . . . 3. See figure 3,when the arbor being used,it is necessary to fix extension knob, please onte when order it,
3. See figure 3,when the arbor being used, it is necessary to fix extension knob,please onte when order it.
4 4. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the

When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage
hilt, please mark AD/B. precise precision is G2.5,/20000rpm.
5. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the

precise precision is G2.5,/20000rpm.

10 FANGZHENG TOOL FANGZHENG TOOL 11




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

 ZY—10020 BT 4E#{#5553E4F  DRILL CHUCK ARBORS ( ZY—10022 DIN 4#E#{#455E4F DRILL CHUCK ARBORS

BIETARN
HETREN

ez [72)
= =
e w
= =
= 2
& =

—
S 3
o o
= =
o [S)
= =
S S

y

\J]HH_W

5 e
L L2 ﬂ
L L2
mm L
AIE Model No. FIFF =
BT—NO.S—L1 L2 L D D1 Drawbar thread Wt (kg)
BT30—J1—45 16.669 110 9.754 31.75 M12 0.60 mm
BT30—J2—45 22,225 115.6 14.199 31.75 M12 0.70 N
: ' ' : #IE Model No. WFF
BT30—J3—45 30.956 124.4 20.599 31.75 M12 0.80 L2 L D D1
BT30—J6—45 25.4 118.8 17.170 31.75 M12 0.75 DIN69871.A—NO.S-L1 Drawhar thread
BT30—J33—45 25.4 118.8 15.850 31.75 M12 0.75 DIN69871 . A40—J0—32 11.112 111.5 6.35 44 45 M16
BT30-B10-45 14.5 107.9 10.094 81.75 M12 9.60 DIN69871 . A40—J1—32 16.669 117 9.754 44,45 M16
BT30—B12—45 18.5 111.9 12.065 31.75 M12 0.60
BT30—B18—45 32 125.4 17.780 31.75 M12 0.82 DIN69871 . A40—J25—-32 19.05 119.5 13.940 44 45 M16
ST40- 1745 16.669 127.1 3.754 44,45 M1o 15 DIN69871. A40—J3-32 30.956 131.4 20.599 44.45 M16
BT40—J2—45 22.225 132.6 14.199 44 45 M16 1.25
BT40—J25_45 19.05 1294 13940 44 45 M16 120 DIN69871 . A40—J4—32 42 .069 142.5 28.550 44 45 M16
BT40—J3—45 30.956 141.4 20.599 44 45 M16 1.45 DIN69871 . A40—J5—-32 47.625 148 35.890 44 45 M16
BT40—J4—45 42.069 152.5 28.550 44 .45 M16 1.55 DIN69871 . A40—J6—32 25 4 125 8 17.170 44 45 M16
BT40—J5—45 47.625 158 35.890 44 45 M16 1.60
BT40—J6—45 5.4 135 8 17.170 4445 V16 1 30 DIN69871 . A40—J33—32 25.4 125.8 15.850 44 45 M16
BT40—J33—45 25.4 135.8 15.850 44 45 M16 1.30 DIN69871 . A40—B6—32 10 110.4 6.35 44 45 M16
BT40-B10-45 14.5 124.9 10.094 44.45 M16 1.40 DIN69871.A40—-B10—32 14.5 114.9 10.094 44 .45 M16
BT40—B10—120 14.5 199.9 10.094 44 .45 M16 1.76
BT20_B1245 185 1289 12,065 44 45 V16 134 DIN69871 . A40—B10—45 14.5 127.9 10.094 44 45 M16
BT40—B16—32 24 121.4 15.733 44 45 M16 1.40 DIN69871 . A40—B12—-32 18.5 118.9 12.065 44 45 M16
BT40-B16—45 24 134.4 15.733 44.45 M16 1.45 DIN69871 . A40—B12—80 18.5 166.9 12.065 44 45 M16
BT40—B16—75 24 164.4 15,733 44 45 M16 1.55
BT40-B16-90 ” 179 4 15 733 12 45 16 T 20 DIN69871 . A40—B16—26 24 118.4 15.733 44 45 M16
BT40—B18—45 32 142 .4 17.780 44 45 M16 1.70 DIN69871 . A40—B16—32 24 124 .4 15.733 44 45 M16
BT40-B18—75 32 172.4 17.780 44.45 M16 1.76 DIN69871 . A40—B16—45 24 137.4 15.733 44 45 M16
BTo0-J1=45 16.669 193.5 9.754 69.85 M24 3.%0 DIN69871 , A40—B18—32 32 132.4 17.780 44 .45 M16
BT50—J2—45 22.225 169 14.199 69.85 M24 3.95
BT50—J3—45 30.956 177.8 20.599 69.85 M24 3.70 DIN69871 . A40—B22—-32 40.5 140.9 21.793 44 45 M16
BTS0-J4-45 42.069 188.9 28.550 69,85 Ma4 3.75 DIN69871. A40—B24—32 50.5 150.9 23.825 44 .45 M16
BT50—J5—45 47.625 194 4 35.890 69.85 M24 3.80
BT50—J6—45 25 4 172 2 17.170 69 85 M24 4.00 DIN69871 ., A50—B16—45 24 170.75 15.733 69.85 M24
BT50—J33—45 25.4 172.2 15.850 69.85 M24 4.00 DIN69871 . A50—J3—45 30.965 177.7 20.599 69.85 M24
BT50—B10—45 14.5 161.3 10.094 69.85 M24 3.60 DIN69871. A50—J6—45 25 4 172 1 17.170 69 85 M24
BT50—B10—100 14.5 216.3 10.094 69.85 M24 3.80
BT50_B12—45 185 1653 12,065 69 85 M24 3 60 DIN69871 . A50—J33—45 25.4 172 .1 15.850 69.85 M24
BT50—B16—45 24 170.8 15.733 69.85 M24 3.65 DIN69871 . A50—B16—45 24 170.8 15.733 69.85 M24
BT50-B16-60 24 185.8 15.733 69.85 M24 3.70 DIN69871.A50—B18—45 32 178.8 17.780 69.85 M24
BT50—B16—75 24 200.8 15.733 69.85 M24 3.74 50_B22-60
BT50—B16—90 24 215.8 15.733 69.85 M24 3.78 DING9871. A50—-B22— 40.5 202.3 21.793 69.85 M24
BT50—B18—45 32 178.8 17.780 69.85 M24 3.70 DIN69871 . A50—B24—60 50.5 212.3 23.825 69.85 M24

12 FANGZHENG TOOL FANGZHENG TOOL 13




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

F@E ZY—10024 CAT $###=%5%+#F DRILL CHUCK ARBORS ZY—-10026 E{kz§h3zsL SELF—FASTEN DRILL CHUCK =2
m & E’lﬁ%
(S =g
ﬁg NO. S ﬁg
B35 e /J% W3
NI
L1 L2
L
mm
AIE Model No. FIHF
CAT—-NO.S—L1 L2 L D D1 Drawbar thread
CAT40—J2—45 22.225 135.5 14,199 44 45 5/8"—11
CAT40—J3—45 30.956 144 .2 20.599 44 45 5/8"—11
CAT40—J4—45 42,069 155.3 28.55 44 45 5/8"—11
CAT40—-J6—45 25.4 138.65 17.17 44 45 5/8"—11 BT/APU %Wﬁ%ﬁg&% SELF—FASTEN DRILL CHUCK
CAT40—J33—45 25.4 138.65 15.85 44 45 5/8"—11
CAT40-B16—45 24 137.25 15,733 44 .45 5,/8"—11 B 2 HEEW
; Model No L L L. D dh d R (kg)
CAT40—B18—45 32 145.25 17.780 44 45 5/8"—11 .
CAT45-J1—45 16.669 144.2 9.754 57.15 3,/4"-10 BT30XAPUS—80 80 137.4 55 37 6 0.04 0.72
CAT45—J2—45 22.225 150 14.199 57 .15 3/4"-10 BT30XAPU13—-110 110 170.4 75 46 50 13 0.04 1.85
CAT45—J3—45 30.956 158.5 20.599 57.15 3/4"-10 BT30XAPU16—110 110 180.4 80 57 16 0.04 2.18
CAT45—J4—45 42,069 169.6 28.55 57.15 3/4"-10 BT40XAPUS—85 85 159.4 55 37 6 0.04 1.46
CAT45—J5—45 47.625 175.2 35.89 57.15 3/4"-10 BT40XAPU13—100 100 177.4 75 63 50 13 0.04 2.00
CAT45-J6—45 25.4 153 17.17 57.15 3/4"-10 BT40XAPU16—105 105 187.4 80 57 16 0.04 2.33
CAT45—J33-45 25.4 153 15.85 57.15 3/4"-10 BT50XAPU8—90 90 200.8 55 37 6 0.04 4.16
CAT45-810-45 14.5 142 10.094 57.15 3/4"-10 BTS0XAPU13—100 100 213.8 75 00 50 13 0.04 4.70
CAT45-B12—4 18 146 12.06 7.1 3/4"-10
° ° -5 -065 57.15 / BT50XAPU16—105 105 223.8 80 57 16 0.04 5.03
CAT45—B16—32 24 138.6 15.733 57.15 3/4"-10
CAT45—B16—45 24 151.6 15.733 57.15 3/4"-10
CAT45-B18—45 32 159.6 17.780 57.15 3/4"-10 DIN69871 /APU #E{kzX g3k SELF—FASTEN DRILL CHUCK
CAT50—J2—45 22.225 168.85 14,199 69.85 1"-8
. iU = BEEW
CAT50—J3—45 30.956 177.56 20.599 69.85 1"-8 Model No. L L Lz D di de R (kg)
CAT50—J4-45 42.069 188.67 28.55 69.85 1"-8 DIN69871 . 30XAPUS—80 80 139.8 55 37 6 0.04 0.60
CAT50-J5-45 47.625 194.23 35.89 69.85 -8 DIN69871 . 30XAPU13—120 120 179.8 75 50 50 13 0.04 1.45
CAT50—J6—45 25.4 172 17.17 69.85 1"-8
DIN69871.30XAPU16—125 125 179.8 75 57 16 0.04 1.78
CAT50—J33—45 25.4 172 15.85 69.85 1"-8
DIN69871 . 40XAPUS—75 75 1554 55 37 6 0.04 1.46
CAT50—B10—45 14.5 161.1 10.094 69.85 1"-8
CATEO—B12—45 185 165 1 12,065 69 85 ' 8 DIN69871 . 40XAPU13—100 100 180.4 75 63 55 50 13 0.04 2.00
CAT50—B16—60 24 185.6 15 773 69 85 1" 8 DIN69871.40XAPU16—115 115 195.4 80 57 16 0.04 2.33
CAT50—B18—60 32 193.6 17.780 69.85 1"—8 DING9871.50XAPU8—75 75 188.75 55 37 6 0.04 3.86
CAT50—-B22—60 40.5 202.1 21.793 69.85 1"—8 DIN69871 .50XAPU13—100 100 213.75 75 97 50 50 13 0.04 4.40
CAT50—B24—60 50.5 212.1 23.825 69.85 1"-8 DIN69871 . 50XAPU16—105 105 218.75 80 ' 57 16 0.04 4.73

14 FANGZHENG TOOL FANGZHENG TOOL 15




WiET R AR MWIET R AR

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

EE ZY-10028 BT/FMA Em$tJJ#F BT/FMA SHELL MILL ARBORS ‘ ZY-10030 BT/FMB Em#tJI#F BT/FMB SHELL MILL ARBORS @E
o & ke
B35 S
B s BEEW
Model No. L L1 L2 D di d2 K1 K2 (kg)
BT30 X FMB22—45 114 .4 45 18 50 22 26 4.8 10 0.85
= = BT30 X FMB22—60 126.4 60 18 50 22 26 4.8 10 1.25
8 s L L1 L2 D di d2 K1 K2 Eth X
Model No. (kg) BT30 X FMB27—45 113.4 45 20 60 27 31.5 5.8 12 1.20
BT30 X FMA25.4—60 128.4 60 20 50 25.40 31.5 4.52 9.52 1.30 BT30 X FMB32—45 1154 45 22 78 32 41 6.8 14 1.35
BT30 X FMA31.75—45 115.4 45 22 60 31.75 41 6.70 12.70 1.35 BT40 X FMB22—45 128.4 45 18 48 22 26 4.8 10 1.45
BT40 X FMA25.4—45 130.4 45 20 50 25.40 31.5 4.52 9.52 1.80 BT40 X FMB22—-60 143.4 60 18 48 22 26 4.8 10 1.70
BT40 X FMA25 .4—60 145 .4 60 20 50 25.40 31.5 4.52 9.52 2.00 BT40 X FMB22—100 173.4 100 18 48 22 26 4.8 10 2.20
BT40 X FMA25.4—90 175.4 | 90 20 50 25.40 | 31.5 452 | 9.52 2.60 BT40xXFMB27-45 | 130.4 45 20 60 27 31.5 5.8 12 1.60
BT40XFMA25.4—105 | 190.4 | 105 20 60 | 25.40 | 31.5 | 452 | 9.52 | 2.70 BT40xFMB27-60 | 145.4 60 20 60 27 31.5 5.8 12 2.00
BT40XFMA31.75—45 | 132.4 | 45 22 60 | 31.75 | 41 6.70 | 12.70 | 2.00 BT40XFMB27-%0 | 175.4 %0 20 €0 27 31.5 | 5.8 12| 2.3
BT40 X FMB27—105 190.4 105 20 60 27 31.5 6.8 12 2.50
BT40 X FMA31.75-75 162.4 75 22 60 31.75 41 6.70 12.70 2.70
BT40 X FMB32—45 132.4 45 22 78 32 41 6.8 12 1.75
BT40 X FMA31.75—-90 177.4 90 22 60 31.75 41 6.70 12.70 2.90 BT40 x FMB32—60 147 4 60 22 78 2 41 3 3 14 2 10
BT40 X FMA38. 1—60 150.4 | 60 25 75 38.10 | 44.5 | 8.87 | 15.87 | 2.80 BT40 X FMB40—60 | 150 4 pos - P 20 18 18 ” > 80
BT40 X FMA50.80—60 | 151.4 | 60 36 98 | 50.80 | 68 9.75 | 19.05 | 4.00 B TE0 < FMB22—25 | 1648 5 18 18 ” 6 48 6 | 250
BT50 X FMA25,4—45 166.8 45 20 50 25.40 31.5 4.52 9.52 4.40 BT50 X FMB22—90 209.8 90 18 48 22 26 4.8 10 5.10
BT50 X FMA25.4—90 211.8 90 20 50 25.40 31.5 4.52 9.52 5.10 BT50 X FMB22—150 369.8 150 18 48 22 26 4.8 10 6.80
BT50 X FMA25.4—150 271.8 150 20 50 25.40 31.5 4.52 9.52 6.10 BT50 X FMB27-50 171.8 50 20 60 27 31.5 5.8 10 7.00
BT50 X FMA31.75—45 168.8 45 22 60 31.75 41 6.70 12.70 4.50 BT50 X FMB27—-90 211.8 90 20 60 27 31.5 5.8 10 8.00
BT50XFMA31.75-75 | 198.8 | 75 22 60 31.75 | 41 6.70 | 12.70 | 5.30 BT50xFMB27-150 | 271.8 150 20 60 27 31.5 5.8 12 7.50
BT50 X FMA31.75—105 | 228.8 | 105 22 98 | 31.75 | 41 6.70 | 12.70 | 5.70 BT50xFMB32-50 | 173.8 50 22 /8 32 41 6.8 12 9.50
BTS0X FMA38.10—45 | 171.8 | 45 25 80 | 38.10 | 445 | 8.87 | 15.87 | 4.80 BTSOXFMB32-%0 | 213.8 %0 22 8 32 41 6.8 12 | 1.0
BT50 X FMB40—-50 176.8 50 25 89 40 48 8.3 12 5.70
BT50 X FMA38.10-75 201.8 75 25 80 38.10 44 .5 8.87 15.87 6.00
BT50 X FMB40—90 216.8 90 25 89 40 48 8.3 14 5.80
BT50 X FMA50.80—45 172.8 45 36 98 50.80 68 9.75 19.05 5.70 BT50 x FMB40—105 231 8 105 25 98 40 48 8 3 12 5 20
BTE0XFMA50.80-75 | 202.8 | 75 36 98 50.80 | 68 9.75 | 19.05 | 6.80 BT50 X FVBA0F—75 | 202 8 - ” 10 20 - s 3 s 5 00
BT50XFMA47.62-75 | 208.8 | 75 32 | 128.75 | 47.62 | - 12,50 | 25.40 | 7.90 BT50 < FMBE0—75 | 201.8 - 5 120 50 - 125 % | 720
1 THEHE A TIMBRER R, EROHKSEZ=8NE#HKLEN 7M., EiEIHAD/B, 1. TN ERR TIMREARER K. NESO#KSE=Z2MNEFKALER T, &FiEEAD/B,
2 REFEFIRMEEN &M, FERE A#G6.3/12000rpm, FEEHEE 4G2.5,20000rpm, {THARHE XA EMEISE. 2. RIEEETIRMHTEE I, FRERSEEHG6.3,/12000rpm, FEBHFEREAHG2.5,/20000rpm, TR IS ERE EEE RS,
1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. _ _ _ S please mark AD/B.
2, ACCC_’fd'nQ to .need.s to be possible to provide the balanced hilt, the standard precision is G6.3,12000rpm, the 2.According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precise precision is G2.5,/20000rpm. precision is G2.5,20000rpm.

16 FANGZHENG TOOL FANGZHENG TOOL 17




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

ZY—10032 DIN69871/FMB EE&ETJ4#F  DIN69871 /FMB SHELL MILL ARBORS ZY—10034 BT 4E¥EEAHEATEETIHF ZY—20036 DIN $EH#SRE A T4
COMBI SHELL END MILL ARBORS COMBI SHELL END MILL ARBORS

BIETARN
HETREN

ez (%)
& &
2 o
@) 1)
= =
2 E
— =
g g
5 5

— T A
S =

L1

mm mm
fU-E Model No. D D1 E- #UZS Model No. D D1 =
BT xd—L1 Wt (kg) DIN69871 . A X d—L1 Wt (kg)
BT30 X 16—55 32 31.75 1.00 DIN69871,A30 X 16—55 32 31.75 1.00
BT30 X 22—55 40 31.75 1.20 DIN69871.A30 X 22—55 40 31.75 2.00
BT30 X 27-55 48 31.75 1.20 DIN69871.A30 X 27-55 48 31.75 2.10
BT30 X 32—60 58 31.75 1.50 DIN69871 . A30 X 32—60 58 31.75 1.80
BT30 x 40—60 70 31.75 2.30 DIN69871 . A30 X 40—60 70 31.75 7.30
BT40 X 16—55 32 44 45 1.20 DIN69871,A40 X 16—55 32 44 45 1.20
B = BEEW BT40x 16—100 32 44 45 1.50 DIN69871.A40 X 16—100 32 44 45 1.50
Model No. : N g ° ¢ & « “ (k) BT40 X 22—55 40 44 45 1.25 DIN69871 . A40 X 22—55 40 44.45 | 1.23
DIN69871 . A30 X FMB22—35 100.8 8 14 26 47 47 4.8 10 1.00 BT40 X 22—100 40 44 45 1.85 DIN69871 . A40 X 22—100 40 44 45 1.83
DIN69871. A30 X FMB27—35 102.8 20 16 31.5 58 58 5.8 12 1.05 BT40 x 27-55 48 44 45 1.50 DIN69871.A40 X 2755 48 44 45 1.30
DIN69871 . A40 X FMB22—35 121.4 18 14 26 47 47 4.8 10 1.20 BT40x 27—100 48 44 45 2.00 DIN69871.A40 % 27—100 48 44 45 2.20
DIN69871 . A40 X FMB27—60 1484 20 16 31.5 58 58 5.8 12 1.80 BT40 x 32—60 58 44 45 1.50 DING69871 . A40 X 32—60 58 44 45 1.50
DIN69871 . A40 X FMB32—60 150_4 22 16 41 66 66 68 14 2 30 BT40 x 32—100 58 44 45 2.30 DIN69871.A40 X 32—100 58 44 45 2.30
BT40 x 40—60 70 44 45 2.00 DIN69871.A40 X 40—60 70 44 45 1.80
DIN69871 . A40 X FMB40—60 153.4 25 20.5 48 82 82 8.3 16 2.58
BT40 X 40—100 70 44 45 3.00 DIN69871.A40 x 40—100 70 44 45 3.00
DING9871.ASOXFMB22—35 | 154.75 | 15 14 26 47 47 4.8 | 10 | 3.40 BT50 X 16—63 32 69.85 3.60  DING9871.AB0 X 16—63 32 | 69.85 | 3.50
DING9871 . AS0 X FMB27—35 156.75 | 20 16 31.5 58 o8 5.8 12 3.50 BT50 X 16—100 32 69.85 4.00 DIN69871 . A50 X 16—100 32 69.85 | 3.80
DIN69871 . A50 X FMB32—35 158.75 22 16 41 66 66 6.8 14 3.70 BT50 x 22—70 40 69.85 3.70 DIN69871 ., A50 x 22—70 40 69.85 3.60
DIN69871 . A50 X FMB40—50 189.75 25 20.5 48 82 82 8.3 16 4.70 BT50 x 22—100 40 69.85 4.00 DIN69871.A50 X 22—100 40 69.85 4.00
DIN69871 . A50 X FMB50—60 211.75 30 25 68 95 95 9.7 19 5 80 BT50 X 27—70 48 69.85 4.00 DIN69871.A50 X 27—70 48 69.85 3.70
DIN69871 ., A50 X FMB40F—60 158.4 30 66.7 M12 89 89 8.3 15.9 2.90 BT50%27-100 48 69.85 4.40 DIN69871. A50 X 27100 48 69.85 4.40
BT50 x 32—70 58 69.85 4.20 DIN69871 . A50 x 32—70 58 69.85 3.80
DIN69871 ., A50 X FMB40F—70 201.75 30 665.7 M12 89 89 8.3 15.9 5.50 BT50 X 32—100 58 69 85 470 DIN69871_ ABO X 32—100 58 69 85 470
DIN69871 ., A50 X FMBBOF—70 211.75 40 101.6 M16 129 129 12,5 | 25.4 5.70 BT50 x 40—75 70 69 85 450 DIN69871 . A50 X 40—75 70 69.85 3.90
DIN69871. A50 X FS40—60 154.4 26 66.7 50 110 110 8.3 16 3.20 BT50 X 40—100 70 69.85 5.50 DIN69871 . A50 X 40—100 70 69.85 5.30
DIN69871 . A50 X FS40—70 211.75 26 66.7 50 110 110 8.3 16 5.70 BT50 X 50—75 90 69.85 4.60 DIN69871.A50 X 50—75 90 69.85 4.50
DIN69871 . A50 X FS60—70 196.75 | 25 101.6 | M16 140 140 12.5 | 25.4 5.50 BT50 X 50—125 90 69.85 7.20 DIN69871. A50 X 50—125 90 69.85 7.20
1 iTHRHEE R IR AR . IFE Ok SE =& MmEH KL 714, 1§E£HAD/B, 1 ITMRHE R IR ER R, WE OBk SE=ENmE#HKSEH TR, SFRAFAD,/BEL, 41BT40AD,/BX32-60,
2. RIBEZEFIRMTE IR, #RAEREEHG6.3/12000pm, 1FEHFE #G2.5,/20000rpm, (TR EFEARAIEE . 2 WREEETRMEN T & TN, #REFSEAG6.3/12000rpm, FEEHEE 4G2.5,/20000rpm, (TR EERAEMAIEE.,
1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. please mark AD/B.
2.According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm . precision is G2.5,/20000rpm.

18 FANGZHENG TOOL FANGZHENG TOOL 19




HiIEITRZRI
CNC TOOL SYSTEMS

MiEZT AR

CNC TOOL SYSTEMS

~ ZY-10038 R} B LG #852 J14%8 ANGULAR MOUNTING SQUARE BITE BORING ARBORS FZY—10040 EHARHI=fA5E 7] STRAIGHT MOUNTING SQUARE BITE BORING ARBORS

HETREN

(%2
=
w
=
n
>
)
-
o
o
=
(&)
=
(&)

BIETARN

[%2)
=
]
=
1%
>
%)
—
o
o
=
(&)
=
O

MAS.BT

EDIUL“ o

MAS. BT

i

mm
D — IS Model No 0 D1 L w RA7IES
IS Model No. ' D1 L W BERAFIIES = ' min max Type of square cutter

min max Type of square cutter BT45-TZC25—120 25 40 20 120 8 F8—82—24
BT40-TQC25-150 25 38 20 150 8 F8—45-32 BT45—TZC38—150 38 60 30 150 10 F10—82-36
BT40-TQC30—150 30 42 24 150 8 F8—45-36 BT45—TZC50—165 50 70 40 165 13 F13—82—48
BT40-TQC38-150 38 52 30 150 10 F10—45-48 BT45—TZC72—195 72 100 60 195 19 F19—82—-70
BT40—TQC42—150 42 56 34 150 10 F10—45-52
BT40—TQC50—150 50 65 40 150 13 F13—45-62 yre—
BT40—-TQC62—150 62 90 50 150 16 F16—45-80 ZY—10042 BT #EHU=3#t7I4F END MILL ADAPTERS
BT40—TQC72—150 72 110 60 150 19 F19—45-92
BT45—TQC25—180 25 38 20 180 8 F8—45-32 %MT\ Lo
BT45—TQC30—180 30 42 24 180 8 F8—45-36 M T
BT45—TQC38—200 38 52 30 200 10 F10—45—48 “ e
BT45—TQC42—200 42 56 34 200 10 F10—45-52 \Lhﬁ[ \/
BT45—TQC50—200 50 65 40 200 13 F13—45—62
BT45—TQC50—230 50 65 40 230 13 F13—45—62 - S
BT45—TQC62—200 62 90 50 200 16 F16—45-80
BT45-TQC62—270 62 90 50 270 16 F16—45-80 mm
BT45—TQC72—200 72 110 60 200 19 F19—45-92 El2 Model No. L D D1 L2 La B2 Wi(ke)
BT45—TQC72—270 72 110 60 270 19 F19—45-92 BT X d-L1
BT45—TQC72—250 72 110 60 250 19 F19—45-92 BT30 X 6-50 98.4 25 31.75 18 0.66
BT45—TQCY0—200 90 125 75 200 19 F19-45-118 BT30 X 660 108.4 25 31.75 18 0.72
BT45—TQC90—250 90 125 75 250 19 F19—45-118 BT30 X 8—60 108.4 28 31.75 18 0.80
BT50—TQC25—150 25 38 20 150 8 F8—45-32 BT30 % 10—60 108.4 35 31.75 20 0.83
BT50—TQC30—170 30 42 24 170 8 F8—45-36 BT30 X 10—80 128.4 35 31.75 20 0.83
BT50—TQC38—170 38 52 30 170 10 F10—45—48 BT30 X 12—60 108.4 42 31.75 22.5 0.88
BT50—TQC42—180 42 56 34 180 10 F10—45-48 BT30 X 14—60 108.4 44 31.75 22.5 1,02
BT50—TQC50—200 50 65 40 200 13 F13—45-62 BT30X 16—75 123.4 48 31.75 24 1.04
BT50—TQC62—250 62 90 50 250 16 F16—45-80 BT30X 18—75 123.4 50 31.75 24 1.26
BT50—TQC72—250 72 110 60 250 19 F19—45-92 BT30X 20—75 123.4 52 31.75 25 1.36
BT50—TQC90—250 90 125 75 250 19 F19—45-118 BT30 X 25—90 138.4 65 31.75 24 25 1.50

20

FANGZHENG TOOL

FANGZHENG TOOL

21



WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

ﬁé ZY—-10044  #$=:rEEJJFF END MILL ADAPTERS ZY—10046 DIN $E#$=I557J#F END MILL ADAPTERS EE
g g
ﬁH'i § mm _DN69STLA L L EHH §
= .= Z 5
=9 ES Model No. L D D1 L2 L3 EE Wi(kg) | - =
BT40 X 6—50 115.4 25 44 45 18 0.96 %:
BT40 X 6—60 125.4 25 44 45 18 0.98 - s
BT40 X 8—50 115.4 28 44 45 18 1.00 o
BT40 x 10—63 128.4 35 44 45 20 1.08 S Model No. =
BT40 X 12—63 128.4 42 44,45 22.5 1.20 DING3871 . A X d—L1 L D D1 L2 L3 E2E Wi(kg)
BT40x 14—63 128.4 44 44.45 22.5 1.22 DIN69871 . A30 X 6—50 97.8 25 31.75 18 0.58
BT40X 16—63 128.4 48 44.45 24 1.24 DIN69871 . A30 X 8—50 97.8 28 31.75 18 0.64
BT40Xx 16-70 135.4 48 44.45 24 1.30 DIN69871 . A30 X 10—50 97.8 35 31.75 20 0.72
BT40Xx 18—63 128.4 50 44.45 24 1.36 DIN69871 . A30 X 12—50 97.8 42 31.75 22.5 0.80
BT40Xx 2063 128.4 52 44.45 25 1.36 DIN69871 . A30 X 16—50 97.8 48 31.75 24 0.96
BT40Xx20-70 135.4 52 44.45 25 2.10 DIN69871 . A40 X 6—50 118.4 25 44 45 18 0.92
BT40 x 25—90 155.4 65 44.45 24 25 2.07 DING9871. A40 x 8—50 118.4 28 44 45 18 0.96
BT40 x 25—100 165.4 65 44.45 24 25 2.08 DING9871 . A40 X 10-50 118.4 35 44 45 20 2.00
BT40x 32—100 165.4 72 44.45 24 28 2.25 DING9871. A40 X 12—50 118.4 42 44 45 22.5 1.12
BT40x 32—110 175.4 72 44.45 24 28 2.30 DING9871 . A40 X 14—50 118.4 44 44 45 22.5 1.12
BT40x 40—120 185.4 90 44.45 30 32 2.50 DING9871.A40 X 16—63 131.4 48 44 45 24 1.20
BT40x 40—140 205.4 90 44.45 30 32 2.80 DING9871.A40 X 18—63 131.4 50 44 45 24 1.20
BT50 X 6—63 164.8 25 69.85 18 3.20 DIN69871 . A40 X 20—63 131.4 52 44 45 25 1.32
BT50 X 8—63 164.8 28 69.85 18 3.23 DIN69871 . A40 X 25—100 168.4 65 44 45 24 25 2.04
BT50x 10—63 164.8 35 69.85 20 3.24 DIN69871 . A40 x 32—100 168.4 72 44 45 24 28 2.24
BT50x 12-80 181.8 42 69.85 22.5 3.36 DIN69871 . A40 X 40—120 188.4 90 44 45 30 32 2.40
BT50x 16—80 181.8 48 69.85 24 3.48 DIN69871 . A50 X 6—63 164.75 25 69.85 18 3.30
BT50 X 20—80 181.8 52 69.85 25 3.52 DIN69871.A50 X 8—63 164.75 28 69.85 18 3.40
BT50x 25—100 201.8 65 69.85 24 25 4.28 DING9871.A50 X 10—63 164.75 35 69.85 20 3.42
BT50x 25-105 206.8 65 69.85 24 25 4.30 DING9871.A50 X 12—63 164.75 42 69.85 22.5 3.42
BT50 X 25—150 251.8 65 69.85 24 25 4.35 DING9871.A50 X 14—63 164.75 44 69.85 22.5 3.44
BT50 X 25—-200 301.8 65 69.85 24 25 4.40 DING9871.A50 X 16—63 164.75 48 69.85 24 3.46
BT50 X 32—100 201.8 72 69.85 24 28 4.44 DIN69871.A50 X 18—63 164.75 50 69.85 24 3.48
BT50x 32—-105 206.8 72 69.85 24 28 4.56 DING9871 . A50 X 20—63 164.75 52 69.85 25 4.24
BT50x 40-115 216.8 90 69.85 30 32 4.58 DING9871 . A50 X 25—80 181.75 65 69.85 24 25 4.40
BT50 X 40-120 221.8 90 69.85 30 32 4.58 DIN69871 . A50 x 32—100 201.75 72 69.85 24 28 4.52
BT50 X 50—150 251.8 100 69.85 35 35 4.90 DIN69871 . A50 x 40—120 221.75 90 69.85 30 32 4.72
1. ITHEHEERA TR RETR K. MEROEKSE=ENmE#HKSEIR TI4E, 7EHRAAAD,/BE!, IIBT40AD,/BX12-63, 1. THRHESERA TIREAR AR, INEROHEK S %2 SMEHOSAIRJIAE, iSHRAFAD,/BEY, HIDINGIS71.40AD,/BX12-50,
2. RIZFEEFMREBNFEIIMN, FRAEREEAGE.3/12000rpm, 1FZHEE #HG2.5,/20000rpm, JTHIEHEFAEAEE, 2 IRIEFEFRMENFE I, FRAEREAHG6.3/12000rpm, #5ZEFEE AG2.5,/20000rpm, JTMAHEEAREE.
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, 1.When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B. please mark AD/B.
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise 2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
precision is G2.5,/20000rpm. precision is G2.5,20000rpm.

22 FANGZHENG TOOL FANGZHENG TOOL 23




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

Eé ZY—10048 CAT $EZ#=r8t7J#F END MILL ADAPTERS ZY—10050 BT #{3=s82 7] MILLING CHUCK ARBORS Eg
Uﬁ:% mm ﬂﬁ:%
5B 5E
52 #UZS Model No. d D D1 &2
BT X MC—L1
BT40 X MC16—86 16 50
BT40 X MC20—90 20 56
BT40 x MC20—100 20 56
mm
= BT40 X MC20—135 20 56
E1S Model No. L D D1 L2 L3
CTXD—L1 BT40 X MC25—100 25 63 44 45
CAT40X3,/16"—2~1/2" 131.8 19.05 14.3 BT40 X MC25—105 25 63 '
CAT40X1,/4"—2~1/2" 131.8 20.64 19.8 BT40 X MC32—100 32 70
CAT40X5,/16"—2~1/2 131.8 22.22 19.8 BT40 X MC32—105 2 20
CAT40X3,/8"—2~1,/2"
/ / 131.8 32 19.8 BT40 X MC32—135 32 70
CAT40X7,/16"—2~1/2" 131.8 31.75 22.2 AS. BT a0 X MCA2115 %
x —
CAT40X1,/2"—2~5 /8" 134.9 44 .45 4445 22.2 | = 42
CAT40X5,/8"—3~3,/4" 163.5 44 45 23.8 - : = a BT50 X MC20—100 20 56
CAT40X3,/4"—3~3/4" 163.5 44 45 25.4 BT50 X MC32—110 32 70
CAT40X7,/8"—4" 169.9 52 27 22.2 BT50 X MC32—150 32 70 69.85
CAT40X1"—4" 169.9 63 28.6 25.4 = BT50 X MC42—120 42 90
CAT40X1~1/4"—4~1/8" 173 69.85 28.6 25.4 BT50 X MC42—150 42 90
CAT50X3,/8"—4~1,/2" 215.9 31.75 19.8 BT50 X MC42—165 42 90
CAT50X3,/8"—6~1,/2" 266.7 31.75 19.8
CAT50X1,/2"-2~5/8" 168.3 44 .45 22.2 ZY—10052 DIN69871 #i3=5: 1 7% MILLING CHUCK ARBORS
CAT50X1,/2"—4~5/8" 219.2 44 .45 22.2 mn
CAT50X5,/8"—3~3/4" 196.85 44 45 23.8 #IE Model No.
DIN69871 X MC—L1 d D D1
CAT50X5,/8"—5~3,/4" 247.7 44 .45 23.8
CAT50X3,/4"~3~3/4" 196.85 44,45 25.4 DIN69871.40 X MC16-90 16 50
CAT50X3,/4"-5~3,/4" 247.7 44 .45 25.4 DIN69871 .40 X MC20—100 20 56
CAT50X7,/8"—3~3/4" 196.85 52 69 85 27 22.2 DIN69871 .40 X MC20—120 20 56
CAT50X7,/8"—5~3/4" 247.7 52 ' 27 22.2 DIN69871 .40 X MC25—105 25 63 44 45
CAT50X1"—4" 203.2 63 28.6 25.4 DIN69871 .40 X MC32—100 32 70 '
CAT50X1"—6" 254 63 28.6 25.4 DIN69871 .40 X MC32—105 32 70
CAT50X1~1,/4"—4" 203.2 69.85 28.6 25.4 DIN69871 .40 X MC32—135 32 70
CAT50X1~1,/2"—4 203.2 69.85 28.6 25.4 DIN69871 .50 X MC20—110 20 56
CAT50X1~1,/2"—6" 254 69.85 28.6 25.4
_ - DING9871 .50 X MC20—150 20 56
CAT50X2"-5~5,/8 244 5 69.85 30.2 36.5 a DING9I871 50 x MC32—150
CAT50X2"—7~5,/8" 295.3 69.85 30.2 36.5 .50 % - 32 70
DIN69871.50 X MC32—165 32 70 69.85
= B /4 —h 37 fs — v kY gk ) kY kY R o
RBEERMREE L E I, FRERSE AG6.3/12000rpm, FEEHEE #4G2.5,/20000rpm, (TR IEEAMEE. DIN69871 50 X MC42—120 2 %0
According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
S DIN69871.50 X MC42—150 42 90
precision is G2.5,/20000rpm,
DING9871.50 X MC42—165 42 90

24 FANGZHENG TOOL FANGZHENG TOOL 25




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

ZY—100521 #24r5iiE 3 JJ4 THREAD LOCKING TYPE CHUCK ZY—100521 #2&y$iE 3] THREAD LOCKING TYPE CHUCK

HETRRN
HIETHREN

@ (%)
= =
5 z
= 2
@ 1)
= =
g 3
= =
o =
O o

\ a I O] 1

de

‘\ = © 7,%,,7,uq d
-
WD a

AI-E Model No. M di1 d2 D L1 #UE Model No. M di1 d2 D L1
BT30—MCA06—-50 6 6.5 10 20 50 DIN69871 .30—MCA06—50 6 6.5 10 20 50
BT30—MCA06—75 6 6.5 10 23 75 DIN69871 . 30—MCA06—75 6 6.5 10 23 75
BT30—MCA08-50 8 8.5 13 23 50 DIN69871 .30—MCA08—-50 8 8.5 13 23 50
BT30—MCA08-75 8 8.5 13 23 75 DIN69871 .30—MCA08—-75 8 8.5 13 23 75
BT30—MCA08—100 8 8.5 13 25 100 DIN69871 .30—MCA08—100 8 8.5 13 25 100
BT30—MCA10-50 10 10.5 18 23 50 DIN69871 .30—MCA10-50 10 10.5 18 23 50
BT30—MCA10-75 10 10.5 18 28 75 DIN69871 .30—MCA10-75 10 10.5 18 28 75
BT30—MCA10—-100 10 10.5 18 32 100 DIN69871 .30—MCA10—100 10 10.5 18 32 100
BT30—MCA12-50 12 12.5 21 30 50 DIN69871 .30—MCA12-50 12 12.5 21 30 50
BT30—MCA12-75 12 12.5 21 31 75 DIN69871 .30—MCA12—-75 12 12.5 21 31 75
BT30—MCA12—-100 12 12.5 21 36 100 DIN69871 .30—MCA12—100 12 12.5 21 36 100
BT30—MCA16—-50 16 17 29 34 50 DIN69871 .30—MCA16—-50 16 17 29 34 50
BT30—MCA16—75 16 17 29 34 75 DIN69871 .30—MCA16—75 16 17 29 34 75
BT30—MCA16—100 16 17 29 40 100 DIN69871 . 30—MCA16—100 16 17 29 40 100
BT40—MCA06—50 6 6.5 10 20 50 DIN69871 .40—MCA06—-50 6 6.5 10 20 50
BT40—MCA06—75 6 6.5 10 23 75 DIN69871 .40—MCA06—75 6 6.5 10 23 75
BT40—MCA08—-50 8 8.5 13 23 50 DIN69871 .40—MCA08—-50 8 8.5 13 23 50
BT40—MCA08-75 8 8.5 13 23 75 DIN69871 .40—MCA08—-75 8 8.5 13 23 75
BT40—MCA08—100 8 8.5 13 25 100 DIN69871 .40—MCA08—100 8 8.5 13 25 100
BT40—MCA10-50 10 10.5 18 23 50 DIN69871 .40—MCA10-50 10 10.5 18 23 50
BT40—MCA10-75 10 10.5 18 28 75 DIN69871 .40—MCA10—-75 10 10.5 18 28 75
BT40—MCA10—-100 10 10.5 18 32 100 DIN69871 .40—MCA10—100 10 10.5 18 32 100
BT40—MCA12-50 12 12.5 21 30 50 DIN69871.40—MCA12-50 12 12.5 21 30 50
BT40—MCA12-75 12 12.5 21 31 75 DIN69871 .40—MCA12—-75 12 12.5 21 31 75
BT40—MCA12—100 12 12.5 21 36 100 DIN69871.40—MCA12—100 12 12.5 21 36 100
BT40—MCA16-50 16 17 29 34 50 DIN69871 .40—MCA16-50 16 17 29 34 50
BT40—MCA16—75 16 17 29 34 75 DIN69871.40—MCA16—75 16 17 29 34 75
BT40—MCA16—100 16 17 29 40 100 DIN69871 .40—MCA16—100 16 17 29 40 100
BT50—MCA06—50 6 6.5 10 20 50 DIN69871 .50—MCA06—50 6 6.5 10 20 50
BT50—MCA06—75 6 6.5 10 23 75 DIN69871 .50—MCA06—75 6 6.5 10 23 75
BT50—MCAQ08-50 8 8.5 13 23 50 DIN69871 .50—MCA08—-50 8 8.5 13 23 50
BT50—MCA08—-75 8 8.5 13 23 75 DIN69871 .50—MCA08—-75 8 8.5 13 23 75
BT50—MCA08—-100 8 8.5 13 25 100 DIN69871 .50—MCA08—100 8 8.5 13 25 100
BT50—MCA10-50 10 10.5 18 23 50 DIN69871 .50—MCA10-50 10 10.5 18 23 50
BT50—MCA10-75 10 10.5 18 28 75 DIN69871 .50—MCA10-75 10 10.5 18 28 75
BT50—MCA10—100 10 10.5 18 32 100 DIN69871 .50—MCA10—100 10 10.5 18 32 100
BT50—MCA12-50 12 12.5 21 30 50 DIN69871 .50—MCA12-50 12 12.5 21 30 50
BT50—MCA12-75 12 12.5 21 31 75 DIN69871 .50—MCA12—75 12 12.5 21 31 75
BT50—MCA12—-100 12 12.5 21 36 100 DIN69871 .50—MCA12—100 12 12.5 21 36 100
BT50—MCA16—-50 16 17 29 34 50 DIN69871 .50—MCA16—-50 16 17 29 34 50
BT50—MCA16—75 16 17 29 34 75 DIN69871 .50—MCA16—75 16 17 29 34 75
BT50—MCA16—100 16 17 29 40 100 DIN69871 .50—MCA16—100 16 17 29 40 100

26 FANGZHENG TOOL FANGZHENG TOOL 27




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

@g ZY—-10052101 BT/SK(DIN69871A) GSKE 4L EGFZ LRSI ZY—100522 GSHM{HAFICEF T4 ELASTIC EXPANSION TAPPING THE HANDLE @%
ETE BT/SK(DIN69871A) GSK HIGH SPEED COLLET CHUCK s, 57 ﬂﬂ%
o o
£5 MAX :M ﬁg
S FIZ Model No. D L L1 L2 D1 D2 | GOy COLLET| KES T — = B35
BT /SK30—GSK6—60 60 33 33 19.2 0.7 :UI[
BT /SK30—GSK6—90 | 2 ~6 | 90 56 65 | 19.5 [ , cské | 0.7
BT /SK30—GSK6—120 120 | 62 %5 0.8 u
BT /SK30—GSK10—45 45 22 22 40000 0.8 —
BT /SK30—GSK10—60 60 35 35 0.9 EIS Model No. D L1 D1
BT /SK30—GSK10—75 |2~ 10| 75 50 50 | 27.5 | 27.5 CsK10 1.0 BT40-TER20-100 100 36
BT /SK30—GSK10—90 90 65 65 1.0 - -~
BT /SK30—GSK10—120 120 | 95 95 1.1 BT40-TER25-110 44. 45 110 42
BT /SK30—GSK16—60 60 37 37 1.1 BT40-TER32-110 110 46
BT /SK30-GSK16=75 | , . [ 75 52 52 40 10 cskie 1-2 BT40-TER40-120 120 56
BT /SK30—GSK16—90 90 67 67 1.2 BT50-TER20-120 120 3%
BT /SK30—GSK16—120 120 | 97 97 1.3
BT /SK30—GSK20—60 60 | 37 | 37 0.7 BT50-TER25-120 9. 85 120 42
BT /SK30—GSK20—75 |4 ~ 20 [ 75 52 52 48 48 CSk20 | 0.9 BT50-TER32-120 ' 120 46
BT /SK30—GSK20—90 90 67 67 1.2 BT50-TER40-130 130 56
BT /SK30—GSK25—90 |6 ~ 25| 90 67 67 55 55 CSK25 | 1.5
BT /SK40—GSK6—60 60 30 30 19.5 | 20000 1.0
BT /SK40-GSK6-90 | , . [ 90 51 60 | 195 | 3 oske 11
BT /SK40—GSK6—120 120 | 60 90 : 1.4
BT /SK40—GSK6—150 150 | 60 | 120 25 1.5 _ =
BT /SK40—GSK10—60 60 32 32 27 5 1.1
BT /SK40—GSK10—75 75 45 45 . 1.2
BT /SK40—GSK10—90 90 48 60 1.2
BT /SK&0—GoK10—120 | 2~ O 720 [ 73 [ 90 | 2/-5| 40 CSK10 —77 u
BT /SK40—GSK10—150 150 | 73 | 118 34.5 1.6
BT /SK40—GSK10—180 180 | 73 | 148 39 1.6 #JE Mode!l No. D L1 D1
g%gﬁgzggﬂ == LR L DIN69871. 40-TER20-100 100 36
- - ' DIN69871. 40-TER25-110 110 42
BT /SK40-GSK16-90 | o o[ 90 58 58 10 0 cski6 1.5 44. 45
BT /SK40—GSK16—120 120 88 88 1.7 DIN69871. 40-TER32-110 110 46
BT /SK40—GSK16—150 150 118 118 1.9 N DIN69871. 40-TER40-120 120 56
BT /SK40—GSK16—180 180 | 148 | 148 25000 70 OMERE: <AT3
BT /SK40—GSK20—60 60 32 32 1.3 OEZRMR: 20CrMnTi
BT/SK40-GSK20-75 | 4~ [ 75 [ 45 | 45 | ,o | ,o csk20 L 1-4  OFEE. HRC56—60 ZY—100523 1SO30 #iI=f%I4/L7J4® The handle CNC engraving machine
BT /SK40—GSK20—90 | 200 | 90 60 60 1.6 .
BT,/SK40—GSK20—120 120 | 90 | 90 7.0  OFHRE :>0.8mm
BT /SK40—GSK25—75 75 47 47 1.7 OTIHRTEE B T4 G2.5 AUE |SO30XER32—L1| L1 | D
BT /SK40—GSK25—90 |6 ~ 25 [ 90 61 61 55 55 | 20000 | CSK25 [ 1.8 (o precision taper: <AT3
BT /SK40—GSK25—120 120 | 91 91 2.0 _ o ISO30XER32—45 | 45
BT /SK50—GSK6—105 105 | 55 | 64 3.8 O Material;: 20CrMnTi 4 |SO30XER32—60 | 60 145
BT /SK50-GSK6—135 | , | 135 | 60 92 | 95| 32 csks |_3-9 O Hardness;HRC56—60
BT /SK50—GSK6—165 165 | 60 | 114 : 2.0 ¢ ISO30XER32—100 [100| 45
arbon Depth.>0.8mm
BT /SK50—GSK6—200 200 | 60 | 151 30 4.2 , 1SO30X0Z25—70 170 145
BT /SK50—GSK10—105 105 | 57 57 27.5 4.2 © Shank dynamic balance
BT /SK50—GSK10—135 135 | 70 92 I~ 4.4 standard; G2.5
BT /SK50—GSK10—165 | 2 ~ 10| 165 | 75 | 114 | 27.5 CSK10 | 4.6
BT /SK50—GSK10-200 200 | 75 | 151 36 4.8 ZY—100524 1SO30 RETENTION KNOB ZY—100526 Ef{¢7  COLUMBUS
BT /SK50—GSK10—225 225 | 75 | 178 20000 5.0 L
BT /SK50—GSK16—105 105 | 62 62 40 4.7 o
BT /SK50—GSK16—135 135 | 92 92 4.9 P
BT /SK50—GSK16—165 | © ~ '® (765 | 90 | 122 | *° 50 CSK16 —5 5 g ?{FUE i : I =
BT /SK50—GSK16—200 200 | 90 | 157 52 5.5 ﬁL{t 3 SO = s
BT /SK50—GSK20—105 105 | 62 62 43
BT /SK50—GSK20—135 135 | 92 92 4.6 2
BT /SK50—Gok20—165 |+ ~ 20 465 [ 122 | 122 | 8 | 48 CSK20 —575 Bt -2l
BT /SK50—GSK20—200 200 | 157 | 157 5.4 Mx0.1 4201
BT /SK50—GSK25—105 105 | 62 62 5.2
BT /SK50—GSK25—135 135 | 92 92 5.4
BT /SKB0—GSK25—165 | © ~ 2° [ 765 | 122 | 122 | 2° | 95 | 19000 | CSK25 |—55
BT /SK50—GSK25—200 200 | 157 | 157 6.0

28 FANGZHENG TOOL FANGZHENG TOOL 29




WiEzT AR MIET R R

CNC TOOL SYSTEMS CNC TOOL SYSTEMS

- ZY-10054 MAS403—1982 }7%T RETENTION KNOB ZY—10060 ANSI/ASME B5.50—1985 #ij%] RETENTION KNOB

R RE
=g T e
85 . . i
B3 W / oy I3 | o 45 B3
= o = 5] ] 7
JE\J 1 { — S ¢
e .
£ mm ' i :
IS Model No. D D1 D2 M L L1 L2 H H1 ) ,Ll )
LDB—P30T( 6 ) 12.5 7 1 M12 | 43 23 18 5 2.5 | 45° 60° 90° o
LDB—P:OT( 0) ; 7 10 15 M12 g 62 jz 28 6 450 600 900 RIS Nodel No. - - v 5 5 5 ” "
LDB—P45T(6) ! 14 19 | M ! 3 8 457 60° %0 LDA—30 9.78 13.21 | 1/2"—13 | 27.94 11.68 8.13 2.54 1.01
LDB—PSO0T(6) % 7 23 | M4 | 85 45 3 10 5 | 4" 60° %0 LDA—40 12.45 18.80 | 5/8"—11 | 38.10 16.26 11.18 3.05 1.52
I LDA—45 15.37 23.88 | 3/4"—10 | 45.72 20.83 14.73 4.06 2.03
ZY—10056 JIS B6339—1986 #i§] RETENTION KNOB LDA—50 20.83 | 28.96 1"-8 58.42 254 17.78 5.08 2.54
— 1 ZY—10062 1SO/DIS7388,/2—1984A #$i%] RETENTION KNOB
| > D
¢ W / ~d 50 L
' AJ \\"
mm ]
£IZ Model No. D D1 D2 M L L1 L2 H Hi )
LDJ—30P 12.5 8 12 M12 43 23.4 18.4 5 3 mm
LDJ—35P 12.5 1 15 M12 44 24 19 5 3 FIZ Model No. b D1 D2 M ] T L2 H o
LDJ—45P 21 17 23 M20 60 30 23 7 4 LDI—40A 17 14 19 M16 54 26 20 4 4
LDJ—50P 25 21 28 M24 74 34 25 7 5 LDI—45A 21 17 23 M20 65 30 23 5 5
ZY—10058 DIN69872—1988 #i%] RETENTION KNOB .
ZY—10064 1SO/DIS7388,/2—1984B }i%] RETENTION KNOB
A L - B b - - L -
_—n»;b__ /’ P / ~ 430 ] B
- = 7 ‘r,"t**"’
1B L 1161
mm
mm
A5 Model No. D D1 D2 M L L1 L2 FIZ Model No. D D1 D2 M L L1 L2 H Hi
LDD—30A(B) 13 9 13 M12 44 24 19 LDI-30B 13 9.3 13.3 M12 27 11.8 8.1 2.7 1.2
LDD—40A(B) 17 14 19 M16 54 26 20 LDI—40B 17 12.95 18.95 M16 44 .5 16.4 11.15 3.25 1.75
LDD—45A(B) 21 17 23 M20 65 30 23 LDI—45B 21 16.3 24 .05 M20 56 20.95 14.85 4.25 2.25
LDD—50A (B) 25 21 28 M24 74 34 25 LDI-50B 25 19.6 29.1 M24 65.5 25.55 17.95 5.25 2.75

30 FANGZHENG TOOL FANGZHENG TOOL 31




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

ZY—20002 DIN6499B %R/#EERZ 31 Sk \ ZY—2000210 CSKE#E# g3 CSK HIGH SPEED DOLLET
ER SERIES COLLETS WITH STANDARD DIN6499B
1. R R ER 1. Made of special elastic steel material
-0 2. &% AhK, £HEEI, BES 2. Power clamping ability, precise accuracy _a
EE 3. izHFEE. B, 88, . E. 3. Used for boring,milling,drilling, tappping, grinding and engraving @E
Kb BEZIZE M T operation etc, “ E
K= &3
[&] [&]
= :
MoifNo d dl | 42 | 43 | @ | L L1 L2 L3 OEAMFEEHER .65Mn
: . HRC44—48
CSK06 8.9(8.6) 10.5 7.5 6 7.8 25 17.5 3.5 2.5 O
CSK10 13.7(13.1) | 15.6 12 10 12 30.5 22 5 2.3
CSK13 18.5 20.1 17 13 15 39 28 5 2.5 © Made of special esastic steel:
. ] CSK16 21.3(20.6) | 24.6 | 18.8 16 19 45 32 8 2.8 65Mn
2 5 CSK20 26.5 30 24 20 23 50 42 8 2.8
L CSK25 | 31.1(29.9) | 35.6 | 28.8 | 25.4 | 28.2 | 57 43 §5 | 2.9 O Hardness;HRC44—48
ER11—ER50 ER8
CSK06 CSK10 CSK13 CSK16 CSK20 CSK25
] = = = + = = = e = e = + = +=
Mgd:l-?—\l d H7 D D: D2 L L L2 Ls  |¢ ”ﬁ't%:[ﬁﬁi . FilR= EE EidR= SEE Fith SEE FilR= EE FilR= EE it SEE
odel No. ollapsible capacity Model No. | RANGE | Model No. | RANGE |Model No.| RANGE | Model No. | RANGE | Model No. | RANGE | Model No. | RANGE
ER8 =>1.0~5.0 8 8.45 6.5 13.5 2.98 1.5 1.2 0.5 CSK06—2 2-1.75 |CSK10-2 2-1.75 [CSK13-3 3-2.75 |CSK16-3 3-2.75 |CSK20—4 4-35 [CSK25-6 6—6.65
CSK06—2.5 |2.5-2.25|CSK10-2.5 2.5-2.25 |CSK13-3.5 | 3.5-3 |CSK16—3.175 | 3.175-2.7 | CSK20—4.5 45-4 |CSK25-8 8-6.75
ERT1 =1.0~7.0 1 1.5 9.5 18.0 3.8 2.5 2.0 0.5 CSK06—3 3-2.75 |CSK10-3 3-2.75 |CSK13—4 4-3.5 |CSK16-3.5 3.5-3 |CSK20-5 5-5.5 |CSK25-10  |10-9.5
>1.0~2.5 16 17 13.8 27.5 6.26 4.0 2.7 0.5 CSK06—3.5 | 3.5-3 |CSK10—3.175 | 3.175-2.7 |CSK13—4.5 | 4.5-4 |CSK16—4 4-35 |CSK20-5.5 55-5 |CSK25-12  |12—11.5
ER16 CSK06—4 4-35 |CSK10-3.5 3.5-3 |CSK13-5 5-4.5 |CSK16—4.5 45-4 |CSK20-6 6-55 |CSK25—14  |14—13.5
>2.5~10.0 16 17 13.8 27.5 6.26 4.0 2.7 1.0 CSK06—4.5 | 4.5-4 |CSK10—4 435 |CSKI3-5.5 | 5.5-5 |CSK16-5 545 |CSK20-65 | 6.5-6 |CK25-16  |16-15.5
>1.0~2.5 20 21 17 4 315 6 36 48 28 05 CSK06-5 5-4.5 |CSK10—4.5 4.5-4 |CSK13-6 6-5.5 |CSK16-5.5 5.5-5 |[CSK20-7 7-6.5 |CSK25-16.5 |16.5—16
ER20 : : : : . - - . CSK06-5.5 | 5.5-6 |CSK10-5 5-45 |CSKI13—6.5 | 6.5-6 |CSK16—6 6-5.5 |CSK20—7.5 7.5-7 |CSK25—17  |17—16.5
>2.5~13.0 20 21 17.4 31.5 6.36 4.8 2.8 1.0 CSK06—6 6-5.5 |CSK10-5.5 55-5 |CSK13-7 7-6.5 [CSK16-6.5 6.5-6 |CSK20-8 8-7.5 [CSK25-17.5 [17.5-17
CSK10—-6 6-5.5 |CSK13—7.5 | 7.5-7 |CSK16—7 7-6.5 |CSK20-8.5 8.5-8 |CSK25-18  [18—17.5
ER25 =>1.0~2.5 25 26 22.0 34.0 6.66 5.0 3.1 0.5 CSK10-6.5 6.5-6 |CSK13-8 8—7.5 |CSK16-7.5 7.5—7 |CSK20—9 9-8.5 |CSK25-18.5 |18.5-18
>2.5~16.0 25 26 22.0 34.0 6.66 5.0 3.1 1.0 CSK10—-7 7-6.5 |CSK13-8.5 | 8.5-8 |CSK16—8 8—7.5 |CSK20-9.5 9.5-9 |CSK25-19  |19-18.5
CSK10-7.5 7.5—7 |CSK13-9 9-8.5 |CSK16-8.5 8.5-8 |CSK20—10 10-9.5 |CSK25-19.5 [19.5-19
ER32 =>2.0~2.5 32 33 29.2 | 40.0 | 7.16 5.5 3.6 0.5 CsK10-8 8-7.5 |CSKI3-9.5 | 9.5-9 |CSK16=9 985 |CSK20-10.5 | 10.5-10 |CSK25—20  |20—19.5
>2.5~20.0 32 33 29 2 400 716 55 3.6 1.0 CSK10-8.5 8.5-8 CSK13-10 10-9.5 |CSK16-9.5 9.5-9 CSK20-11 11-10.5 |CSK25-20.5 |20.5-20
. . . . . : . . CSK10-9 9-85 |CSK13-10.5 | 10.5—10 |CSK16—10 10-9.5 |CSK20—11.5 | 11.5—11 |CSK25—21 21-20.5
ER40 =>3.0~26.0 40 41 36.2 46.0 7.66 7.0 41 1.0 CSK10-9.5 9.5-9 [CSK13-11 11-10.5 [CSK16-10.5 | 10.5-10 |CSK20-12 12—-11.5 [CSK25-21.5 [21.5-21
CSK10-10 10-9.5 |CSK13—11.5 | 11.56—11 |CSK16—11 11-10.5 |CSK20—12.5 | 12.5-12 |CSK25—22  |22-21.5
ER50 =6.0~10.0 50 52 46.0 60.0 12.6 8.5 5.5 1.0 CSK13—12 | 12—11.5 |CSK16—11.5 | 11.5—-11 |CSK20—13 13-12.5 |CSK25-22.5 |22.5-22
>10.0~34.0 50 52 46.0 60.0 12.6 8.5 5.5 2.0 CSK13—12.5 | 12.5-12 | CSK16—12 12-11.5 [CSK20-13.5 | 13.5-13 [CSK25-23 23-22.5
CSK13—13 | 13—12.5 |CSK16—12.5 | 12.5-12 |CSK20—14 14-13.5 |CSK25-23.5 |23.5-23
" s . = CSK16—13 13-12,5 |CSK20—14.5 | 14 5-14 |CSK25-24  |24-23.5
#E}E"Fﬁﬂﬂll Inspection of Accuracy D L 2@ ksl Run out tolerance CSK16-13.5 | 13.5—13 [CSK20-15 15—14.5 |CSK25—24.5 |24.5-24
I I CSK16—14 14-13.5 |CSK20-15.5 | 15.5-15 |CSK25-25  |25-24.5
CSK16—14.5 | 14.5-14 |CSK20—16 16-15.5
1.0~1.6 6 CSK16-15 156-14.5 |CSK20—-16.5 | 16.5-16
©) >1.6~3.0 10 CSK16=15.5 | 15.5-15 |CSK20—17 17-16.5
0.008 0.015 CSK16—16 16—15.5 |CSK20-17.5 | 17.5-17
; >3.0~6.0 16 CSK20—18 18-17.5
- CSK20-18.5 | 18.5-18
L >6.0~10.0 25 CSK20-19 19-18.5
>10.0~18.0 40 CSk20-19.5 | 19.5-19
L CSK20—20 20-19.5
>18.0~26.0 50 0.008 0.015
>26.0~30.0 60 FEMMN . Inspection of Accuracy
>30.0~34.0 80 0.008 0.015 ] Z[EBEEN (Run out)
4 4
O A RER , — A | B N | . MTEASHIT . Mg S — R (:0‘;';”’ .l ‘:ﬁo‘:a“’
If no special requirement, we would supply to you according to ][] grade;if you require | grade,the price would be advanced X —~ —

32 FANGZHENG TOOL FANGZHENG TOOL 33




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

ZY—-2000212 GSKEiERIEEfEMENE GSK HIGH SPEED NUT WITHOUT KEYWAY ‘ ZY—20004 ERC #Ujzsf. ERC COLLET
1 1.%f#l. 65Mn 1.Material. 65Mn
M fg |% N D M 2 W@ . HRC44~48 2 .Hardness. HRC44~ 48
odel Y. | Figl Fig2 3,555 . DINGA9OR A 3.Accuracy of DING499 standard
@g GSK6 15 21 19.5 | M15.5X1 E%
;KKE GSK10 17 24 | 27.5| Mm21.5x1 H<§
2 T Gsxie 24 31 40 | M32.5X1.5 30% g
GSK20 27 35 | 48 | M40X1.5 WT
()] Al | 160
GSK25 30 37 50 M45X1.5 =
o //
L
NN
ZY—-2000214 GSK;ZEi%#RwF GSK BALL SPANNER EJ-2 Model No. L & d D L
ER16C—d 2—-10 16.6 27.5
s
Model No. D M ER20C—d 2-13 21.6 31.5
GSK06 19.5 120 ER25C—d 2—-16 25.6 34
GSK10 27.5 130 ER32C—d 3-20 32.6 40
GSK16 40 193 ER40C—d 3-26 40.6 46
GSK20 48 200
GSK25 50 210 ZY—20006 ERG #UI4T£23z3L. TAPPING COLLET
1.%4#. 65Mn 1.Material; 65Mn
2.58FE. HRC44~48 2.Hardness. HRC44~ 48
ZY—-2000216 GSK5iEE3ELE GSK HIGH SPEED COLLET SET
30"/
s - % T
Model No. A Tpye [ ;_D =1 160 =D
GSK10—8PCS 345678910 ﬁﬂr—: VQ
GSK10—17PCS | 2,2.5,3,3.5,4,4.5,5,5.5,6,6.5,7,7.5,8,8.5,9,9.5,10 TR
GSK16—7PCS 3,4,6,8,10,12,16 L
sskis-zmes [$55HESES SIS ST S8 858 0 05T
R R S R R IS Model No. ER16G—d ER20G—d ER25G—d ER32G—d ER40G—d
GSK16—14PCS 3,4,5,6,7,8,9,10,11,12,13,14,15,16 5 1 20 " 2 20
GSK25—7PCS 6,8,10,12,16,20,25 L 27.5 31.5 34 40 46
GSK25—11PCS 6,8,10,12,14,16,18,20,22,24,25 d 3.5~8 3.5~10 3.5~16 3.5~20 3.5~25
OETFITHIRT iEAM AA ek A Z%. 530 :CSK16—6AA
ORREZ/NF 3mm, FHFEEH 0.25mm, EHZKAF 3mm N 0.5mm 3.5X2.7 4.0X3.0 4.5X3.4 5.5X4.3 6.0X4.9 7.0X5.5
© When ordering, please specify the GRADE for sk collets is A or AA TYPE, For example;CSK16—6AA dxa 8 0X6.2 9.0X7.0 10X8.0 11X9.0 12X9.0 14X11
© The gripping range of dia below 3mm is 0.25mm. The gripping range of dia over 3mm is 0.5mm
16X12 18X14.5 20X16 22X18 25X20

34 FANGZHENG TOOL FANGZHENG TOOL 35




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

ZY—20008 ER [EIl§ ER NUT ‘ ZY—20010 ER }g=F ER SPANNER
L
& 2
R “>\ =
oE OF
&g FIZ Model No. B L iEFENS Clamping Nut &g
SPANNER—ER11 17 110 ER11—A ER11-T1
o SPANNER—ER16 25 120 ER16—A ER16—T1
ZT ey __7% = SPANNER—ER20 30 130 ER20—A ER20—T1
o
g ] a e N 1 E 2l o % = $ = a AN
b= = -¢ = = - 11 F §
/ 4 E
] b
L L L L / L
L I
AR BEY MZ! T18I T28Y IS Model No. B L iEH JENE Clamping Nut
SPANNER—ER25—S 37 210 ER25—-B ER25-T2
SPANNER—ER32—S 45 250 ER32—B ER32—T2
BJ-S Model No. BK Type D(mm) L (mm) M E=Wit(kg) SPANNER—ER40—S 58 290 ER40—B ER40—-T2
ER16 A 27 19 M22X1 5 0.005 SPANNER—ER50—S 72 350 ER50—B ER50—T2
ER20 A 35 21 M25X1.5 0.01
ER25 A 40 22 M32X1.5 0.14
ER32 A 48 24 M40X1 .5 0.20 - ; )
ER8—M M 12 12 M10%0.75 0.005 : :
E=! L i i 3 -hE i
ER11—M M 16 12 M13x0.75 0.01 B Model No. Hith Size EMENE Clamping Nut
SPANNER—ER25 168 38—42 ER25—B ER25—T2
ER16—M M 22 18 M19x 1 0.05
SPANNER—ER32 190 45-52 ER32—B ER32-T2
— 4
ER20-M M 28 19 M24x1 0.05 SPANNER—ER40 210 55—63 ER40—B ER40—T2
ER25-M M 35 20 M30X1 0.08 SPANNER—ER50 240 78—85 ER50-B ER50—T2
ER11—T1 T1 19 11.3 M14x0.75 0.005
ER16—T1 T1 28 17.5 M22x 1.5 0.01 S\
ER20—T1 T1 34 19 M25x 1.5 0.05 . ]
ER25—T2 T2 42 20 M32x 1.5 0.14
EI= Model No. B L IEH JENE Clamping Nut
ER32—T2 T2 50 22.5 M40x 1.5 0.20
SPANNER—ER8M 7.5 70 ER8—M
ER40—T2 T2 63 25.5 M50% 1.5 0.30 SPANNER—ERT1M . ” ERTT—M
ER50-T2 T2 78 35.5 M64 X 2 0.50 SPANNER—ER16M 15 110 ER16—M
SPANNER—ER20M 19.5 120 ER20—M
SPANNER—ER25M 25 130 ER25—M

36 FANGZHENG TOOL FANGZHENG TOOL 37




X Xk R 35
COLLET SERIES

*x 3k

% 5
COLLET SERIES

ZY—-20012 ER E3#E$hIzsL ER MILLING CHUCK SET ‘ ZY-20014 C/ER EMIEAT (MBU/\ZE2NE) C/ER Straight shank collet chuck and extension type

1 BERFIEHIZILE, 1XEE, BERLRIRTF
2 AEHERTER

@E 1.A set included; 1 collet chuck,1 clamping nut, full set of EE
Lfé’g collets snd 1 spanner Nﬁé
-|=‘K§ 2 Packed in a wooden case or plastic case -PK%
pi = FL1Z Hole size T/ E il
Model No. in mm Pcs/set Shank
. 3/32 1/8 3/16 7/32 R8
ER16—8in(mm) 234567810 8
1/4 5/16 11/32 3/8 MT2~MT6
ER25—6in (mm) 1/8 3/16 5/16 3/8 1/2 5/8 4681012 16 6 NT30 NT40
NT50
3/32 1/8 3/16 1/4 5/16 AIE Model No. L I2 I3 D t1
ER25—10in (mm) /% 178 318 1/4 5 34568101214 1516 | 10 8 Ci0
3/8 7/16 1/2 9/16 5/8 C 8 XER8M-55 79 24
C12 Ci16
ER32—6in(mm) 1/4 5/16 3/8 1/2 5/8 3/4 6810 12 16 20 6 C20 C25 C10x ER8M—100 17
332 1/8 3/16 1/4 5/16 3/8 C32 C40 C10 X ER8M—150 167
ER32—12in(mm) 34568101214 1516 18 20 " —
RA0—8im (o) 5/8" str.sh C12 X ER8M—55 72
—oin{mm 1/8 1/4 3/8 1/2 5/8 3/4 1/8 1 358 1215 18 22 26 "
8 | 3/4 sw.sh C12 X ERBM—120 137
17 str.sh
ER40—15in(mm) | /8 3/16 1/4 5/16 3/8 7/16 1/2 3 1651: 201:21241:615 5 |, 1/43' s h C12 X ER8M—180 197 265
—1/4" str.s
9/16 5/8 11/16 3/4 13/16 7/8 15/16 1 C12 x ER11M—80 96 6
FeI (KRR FFIELr  Thread of draw bar C16 X ER1TM—50 66.6 16.6
‘ C16 X ER11M—100 116.6 ) 6.6 16 M5x0.8
#E#H Taper of collet chuck Fi#F4247 Thread of draw bar
RS 7/16"—20UNF C16 X ER11M—140 156.6
7.24 30 M12x1.75 1,/2"—13UNC C16 X ER16M—80 117
7.24 40 M16x 2.0 5,/8"—11UNC C20 X ER16M—100 125 25
7.24 50 M24x 3.0 1"—8UNC C20 X ER16M—140 165 10.6 22 M10Xx 1.5
MT2 M10x 1.5 3,/8"—16UNC C20 X ER16M—160 185
MT3 M12x1.75 1/2"—=13UNC €20 % ER20M—60 100
MT4 M16x2.0 5,/8"—11UNC
/ C20 X ER20M—100 140
MT5 M20x 2.5 3/4"—10UNC 40
C20 X ER20M—120 160 11.5
1 AT4ERs L= 4z 3 HF = ™ S e Ea| AY--| =5
TSRS, WERRAENDS . PRGBS (L BRI 20 < EFOOM150 - 2 121 75
2 i TMEMBERLE, FiTRERNERRKE
3.HRAERIUMRIBEHER, RUEFBAIERGFHHIMERL. KK C20 X ER20M—180 220
1.Please notify the thread of collet chuck draw bar and the specification of collets (metric or inch) C25 X ER20M—140 168 28
2 Please notify the length of straight shank ant.i dia. y . . 20 % ER25M—100 150 50 12 35
3.We are glad to supply collets and chucks with different shank and quantities according to your requirement
38 FANGZHENG TOOL FANGZHENG TOOL 39




x %k R 35

COLLET SERIES COLLET SERIES

ZY-20016 C/ER HE#ZEIFF C/ER Straight shank collet chuck and extension type ‘ ZY—20018 DIN6388A }RAEEOCZ % $k3zsL DIN6388A EOC COLLETS
s
0 L
LT
2 R e 2e
.EKé - mm .EKé
A= Model No. D D1 d L L1 L2 L3

EOC,/0Z6 10 1.5 1~6 21 3.5 0.5 4
EOC,/0Z8 12.65 14.5 1~8 26 4 0.8 4.5
EOC,/0Z10 15,15 17.2 1~10 30 4.5 0.8 4.5
EOC,/0Z12 17.75 19.8 1~12 34 5 1.1 4.5
EOC,/0Z16 22.65 25.5 2~16 40 5.5 1.2 5.5
EOC /0720 27.4 29.8 2~20 45 6 1.35 6
EOC /0725 32.9 35.05 2~25 52 6 1.4 6
EOC,/0Z32 41.3 43.7 4~32 60 6 1.45 7
EOC,/0Z40 49.7 52.2 6~ 40 68 6 1.45 8
EOC,/0Z50 61.1 63.8 8~50 80 7 1.55 9

A= Model No. L I2 t1 E & (kg) Weight FETHETIBE#aZ: h11 Clamp workpiece or tooling shank tolerance hi11

R e 1.8 Mox1.9 gfz E—zoozo DIN6388B #f/AEOCE Hl4EssL DING388B EOC COLLETS

C16 X ER16A—100 140 M10x 1.5 0.20 e e 1:10

C16 X ER16A—150 190 40 0.28 s __é_é

C20 X ER16A—50 90 0.25 sl =l ‘

C20 X ER16A—100 140 0.35 =

C20 X ER16A—150 190 0.40 t mm

C20 X ER20A—60 100.5 M12X1.75 0.35 AIE Model No. D1 D d L L1 L2 L3

€20 X ER20A—120 160.5 40.5 6.40 EOC168B 25.5 22.65 2~16 40 5.5 1.2 9.5

€20 X ERZ0A-TE0 220.5 0.5 EOC20B 29.8 27.4 2~20 45 6 1.35 10

C20 X ER20A—140 175.1 0.50

020 % ER25—50 To1 3} 0.40 EOC258 35.05 32.9 2~25 52 6 1.4 10

C20 X ER25—100 151 0.45 EOC32B 43.7 41.3 4~32 60 6 1.45 11

€20 X ER32-50 101.5 51 5 0.42 EOC40B 52.2 49.7 6~40 68 6 1.45 12

222:213(23;1—2050 1:;:’ — M10x1.5 gi: EOC50B 63.8 61.1 8~50 80 7 1.55 13

C25 X ER20A—140 175.1 40.5 M12x1.75 0.55 RAXFHEE: 0.5mm  Max clamping range;0.5mm

Ezzzgzzzfgo ]g 51 g‘;: m—zoozoz 868116Z% 5lJzsL 868116 EOC COLLETS

C25 X ER32—-50 101.5 51.5 0.60

EEE T M —— L = HE el to|  AB | ]

C32 X ER32—100 151.5 °1.5 0.80 868116 10 1/2 12

C32 X ER40-50 115 65 2.23

40 FANGZHENG TOOL FANGZHENG TOOL




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

TRE MR Inspection of Accuracy Z[EBkEh Run out tolerance ZY—20026 EOC/0Z ZF|EZgEEsL EOC/0Z MILLING CHUCK SET
P L I I
&) 1.0~1.6 6 1. SESHELaFI TR, 1. A set included: 1 collet chuck,1 clamping nut,
HI:I T >1.6~3.0 10 12 R, BEXRLRIZRTF full set of collets snd 1 spanner
@% — L= >3.0~7.0 16 0.010 0.015 2. KEFEREER 2. Packed in a wooden case or plastic case @%
LEEE H 1 >7.0~10.0 25 wé
ot >10.0~18.0 40 g
>18.0~24.0 50 0.015 0.020 = 7
B FAKER, —M I R, WE K 0 >24.0~30.0 | 60 T M
FULPATEE  IMEEIN >30.0~50.0 80 0.020 0.030
If no special requirement,we would supply to you
according to |l grade,if you require | grade,the price would be advanced -
] = | =
ZY—20021 EOC/0Z8 [EME EOC,/0Z8 CLAMPING NUT Mo%Jel?No. P%éi mm in gﬁaﬁ( w%(ﬁ)
R8—EOC /0Z /8mm (in) R8 3.58
. ) - 30—EOC,/0Z /8mm (in) NT30 2.52
. E L | : ﬂ 40—EOC /0Z /8mm (in) NT40 2.61
- =z 45—EOC/OZ/8mm(?n) s 1/8 1/4 NT45 3.09
50—EOC /0Z /8mm (in) 3/81/2 NT50 3.92
MT3—EOC /0Z /8mm(in) 8 1215 18 5/8 3,4 MT3 2.32
ZY—20022 EOC/OZ [EHE ZY—20024 EOC/OZ #RF MT4—EOC /0Z /8mm(in) 22.25 7/8 1 MT4 2.57
EOC/0Z CLAMPING NUT EOC /OZ SPANNER MT5—EOC,/0Z /8mm (in) MTS 3.48
1"—EOC /0Z /8mm (in) 1" 2.18
1—1/4"—EOC/0Z /8mm(in) 1—1,/4" 2.78
R8—EOC /0Z /15mm (in) R8 4.42
30—EOC,/0Z /15mm(in) 1/8 3/16 NT30 3.37
D 40—EOC/0Z /15mm(in) 1/4 5/16 NT40 3.7
— | 45—EOC /0Z,/15mm(in) 63 84 150 3/8 7/16 NT45 4.29
Mo%gelp?_\lo. mDm mLm T Mo%{l%No. mLm Dfﬁ%fﬁfl;ﬁ 50—EOC,/0Z /15mm (in) 5 121415 | 1/29/16 NT50 5.11
YMEOC /076 18 14 M14 X 1 B/EOC/0Z6 90 18~21 MT3—EOC,/0Z /15mm in) 16 18 20 5/8 11/16 MT3 3.52
YMEOC /0Z8 26 19 M20x 1.5 B,/EOC,/0Z8 125 22~26 MT4—EOC,/OZ /15mm (in) 222425 | 3/413/16 MT4 3.75
YMEOC /0710 30 19 M22x 1.5 B,/EOC,/0Z10 140 28~ 32 MT5—EOC,/0Z /15mm (in) 7/8 15/16 MT5 4.65
YMEOC /0Z12 35 20 M27% 1.5 B,/EOC /0Z12 154 34~36 1"—EOC/0Z /15mm (in) 1 1 3.43
YMEOC /0716 43 24 M33x 1.5 B,/EOC,/0Z16 168 38~ 42 1-1/4"—EOC/0Z /15mm (in) 1-1/4" 3.80
YMEOC /0720 50 28 M42 x 2 B,/EOC,/0Z20 190 45~52 1.TERRY, EiE R e KRR HI AT AR AL R e Sk B RIAE (A IS 3 )
YMEOC /0725 60 30 M48 X 2 B/EOC /0725 210 55~ 62 2ATHEMSERLE, HERERNERRKE
YMEOC /0732 72 33.5 M60X 2.5 B,/EOC /0Z32 230 68~ 72 SLEMNIFATMRBERNENR, REFEMEREBHIBESLS . KLk
YMEOC /0740 85 37 M68X 2.5 B /EOC /0740 240 78— 85 1.Please notify the thread of collet chuck draw bar and the specification of collets (metric or inch)
2 Please notify the length of straight shank and dia
YMEOC /0750 100 43 M80x2.5 B,/EOC,/0750 250 100~110 3.We are glad to supply collets and chucks with different shank and quantities according to your requirement

42 FANGZHENG TOOL FANGZHENG TOOL 43




*x 3k

ZY—-20028 JM71 BUE#HIL

%2 5

COLLET SERIES

JM71 STRAIGHT SHANK COLLETS

x %k R 5

COLLET SERIES

ZY-20032 % FR#sESE K
BEBAAHRIIRE, HARBNESHS,

QUICK ACTION MILLING CHUCK
EBRATHRIBIENIR, BERBREKEBRANTH, AERKITEBNR

1. RIS KRR B Fh

Run out of quick action collets

2. REE AR BEED

Run out of mount

BEE, BRORXEEREECHEZET, BIERE.
var /" This quick—action chuck set was developed to optiaction the time—con suning exchange of the various milling tools
@% o ¢E - in their mounts.The quick—action mounts is inserted into the spindle.Just as with convertional tapered tool shanks. @%
EK:E J Then the tool mounts are inserted into the quick—action mount and secured by one quarter of the bayunet lock.All E’FE
g ik - components of the set are precision—made hardened,and precision—ground. K3
#US Model No. D(mm) d(mm) L (mm)
C16 16 4-12 45
C20 20 4—-16 50
C22 22 4—-16 55
C25 25 4-20 60 T N
c32 32 4-25 65 AU\J‘[ SN=
C40 40 6-32 80 =E
C42 42 6—32 80
ZY—20030 Z5tsteedesiESE  MILLING CHUCK SET #UZ Model No. JXT16—40 il = Model No. JXT25-50
T MRIRIEE 1quick—action mount 1R E 1quick—action mount
VEFRENK, EOBESHES, $IE 1. The milling chuck clamp with exceptional force and with 1oLt B8 ek lcollet chuck & 8 collets | 1/Je ki 9% Jesk 1collet chuck & 9 collets
RATFEAYIAEIIT a very tight tolerance on run out (456810 12 14 16) (4568101214 16) | (68101214 16 18 20 25) | (6 8 10 12 14 16 18 20 25)
2. A& TFHLE M4 AMT2 ~MT5, 2. Used for the spindle taper of milling machine.R8, MT2~ IMERI12HEE Tmount MT1 IMNER2EFEE Tmount MT2
7.24 30~ 50%R84EH L Pk R MT5,7.24 30~50 IMER2EHEE Tmount MT2 INMERKIEFEE Tmount MT3
3.EEG LI AE TRk, BELLBILIFE 3. A set included: 1 collet chuck, full set of collets and 1 spanner MNERISHEE Tmount MT3 MRR4ASHEE Tmount MT4
1B 24534 1drill arbor B12 14 B16&5IEHF 1drill arbor B16
143k 1drill chuck 11Mh 323k 1drill chuck
1NESE TIHF 1face mill arbor 1NEESETIFF 1face mill arbor
T IMFAER =3 1hook spanner 2NE S ARTFE 2hook spanner

v | I
1 = ':J'" o
Mogdil-.?—\lo. P%séﬁt cIampifg*;:'j:a,rlllgeIE (mm) AAED Shank D (mm) : :
C16 6 45681012 RE MT2 50 d(mm) <5 >5—-12 >12 ESCHEIRE Morse Taper No. | 1 2 3 4
Cc20 8 45681012 14 16 MT3 MT4 56 L (mm) 30 50 100 L (mm) 30 50 75 100
c25 10 45681012 14 16 18 20 MTS NT30 63 4t Z Error(mm) 0.02 0.025 0.03 42 Error(mm) 0.025
C32 1 45681012 14 16 18 20 25 NT40 NT50 70
ca2 12 6810 12 14 16 18 20 25 28 30 32 90 3. RIS FT IR R BLEN <0.015mm 4. R TIFFHIAZ E BEEH<O.02mm
Redial run out of drill arbor <<0.015mm

) - Radial run out of face mill arbor<C0.02mm
1. iTERR, EERSRSL AR S RAFFIZELL
Pease notify the thread of collet chuck draw bar
2. HADEAMRBENER, RESEMERGBPRETRSL, LK
We are glad supply collets and chucks with different shank and quantities according to your requirement

FANGZHENG TOOL

— e
i

45

FANGZHENG TOOL




COLLET SERIES

3l

x %k R 35

COLLET SERIES

ZY—20034 PETJ]#13esL SHARPENER COLLETS

1.4%4#: 65Mn
278 . FiFEBHHRCE5 ~60
3814 [XHRC40 ~ 45

‘ ZY—20038 DING343 HiX3z3). DING343 CLAMPING COLLETS

1.Material. 65Mn
2.Hardness: clamping part HRC55~ 60
elastic part HRC40~ 45

1444}, 65Mn

258 J45EF4rHRCE5 ~60
384 [RHRC40 ~ 45

SEATEMER. NAEKRE

1.Material. 65Mn
2.Hardness: clamping part HRC55 ~ 60
elastic part HRC40~ 45

3.This unit is applicable to all sorts of automatic lathes,turret lathes

FkFZ=N
FEAFR

w

o &
o [
Ll L
w w
— —
w w
— -
S 5
(&) (&)

: S Ee— | B| [ %@ s 8| a0
K )
122 — / 5 ) - ] =/
EIZ2 Model No. d - :
M—d in mm M%el -E:-o_ D1 (mm) D2(mm) L (mm) dﬂ'é HoIeSS|ze(mm) v EFEE=Wt(kg)
1/8-5/8 318 DIN6343—F17.5 17.5 22 51 13 8 10 0.05
DIN6343—F22 22 30 55 16 11 13 0.09
ZY—20036 DIN6341 g Iz DIN6341 COLLETS DIN6343—F27 27 38 72.7 22 15 19 0.10
DIN6343—F28 28 38 70 22 15 19 0.12
1.#4#%: 65Mn 1.Material: 65Mn DIN6343—F32 32 45 75 26 18 22 0.27
2.7 . JFiFER4rHRCE5 ~ 60 2.Hardness; clamping part HRC55~ 60 DING343—F35 35 48 80 30 21 26 035
g8 X HRC40 ~ 45 elastic part HRC40~ 45
JEATFEMBIER 3.This unit is applicable to all sorts of automatic lathes DIN6343—F42 42 5 % 36 25 30 0.4
DIN6343—F48 48 60 94 42 29 36 0.57
DIN6343—F56 56 68 94 50 35 42 0.65
pJ DIN6343—F66 66 84 110 60 42 52 1.16
A
= 7 [ *Eﬁ%—’%" e ZY—20040 4EEF3S.  TAPER COLLETS
L Taper
_____ ]
#UE Model No. d1 (mm) D(mm) L (mm) dmax (mm) g |qFEEWt(kg) b e A
k8—d 8 12 45 5 M8 x 0.75 0.06 A
k10—d 10 15 52 6 Tr10x 1 0.09
k12—d 12 18 60 8 Tri2x 1 0.11 #IE Model No. JMT1—d JMT2—d JMT3—d JMT4—d J7B&S—d J9B&S—d
k16—d 16 24 70 11 Tr16x1.5 0.12 HERF Taper MT1 MT2 MT3 MT4 B&S7 B&S9
k20—d 20 28 80 15 Tr20%1.5 0.15 FLE d in | 1/16~5/16 | 1/8~1/2 | 1/8~3/4 1/8~1 1/8~1/2 1/8~3/4
k23—d 23 32 90 18 Tr23x 1.5 0.21 Hole size | mm 2~8 2~12 3~20 3~25 2~12 3~20
k28—d 28 38 100 22 Tr28% 1.5 0.23 D (mm) 12.2 18 24 .1 31.5 18.4 27.08
k32—d 32 45 110 27 Tr32x1.5 0.27 L (mm) 57 68 86 108 79.4 105
k45—d 45 60 140 36 Trd45 % 2 0.32 BHE Wi(kg) 0.05 0.08 0.10 0.38 0.096 0.32

46

FANGZHENG TOOL

FANGZHENG TOOL

47




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

ZY—20042 #7L 8 St45323L KEYLESS DRILL CHUCK WITH TAPER MOUNTED \ ZY—20044 1247 B E5t453sL  KEYLESS DRILL CHUCK WITH THREAD MOUNTED

1.P. DRERFERK. BEK. ER. SRSVRLER.
2. MBERTFMIAD, BiEVRESHEEVRER.

1.Grade P&D is used in lathe, milling machine_ boring machine_ drilling bench etc.

EBRAFTER. $tK. sk, B TERKRIVNMEIRLER.

Used in lathe, milling machine_  drilling bench_ electric hand and woodworking machine etc.

2.Grade M is used in high precision machine—tool, such as machining center and digital control machine,

(%}
=
o
i}
72}
—
[}
s
'}
Q
(&)

FkFZ=N
FEAFR

o
™
o
Ll
w
—
L
=
=
Q
o

S = %\% &
(]
[ N °
\\J&
L L
B 5 EHEE EER D L & Runout mm
Model No. Capacity Mount mm mm . ]
P D M B 2 k5L iRt D L FEEE Runout
J0106 0.5~6mm B10 Model No. Capacity Mount mm mm mm
34 72
J0206 1/64" ~1/4" Jm J0306 0.5~6mm M10X1 4 64
Jo108 0.5~ 8mm B12 w2 i JO306A 1/64" ~1/4" 3/8 " —24UNF
J0208 1/64" ~5/16" JT2 Jo308 0.5~ 8mm M10X1
Jo110 1~ 10mm B12 42 82 JO308A 1/64" ~5/16" 3/8 " —24UNF 40 80
J0210 JT2 0.12 0.16 J0308B 0.5~8mm N12X1.25
1/32" ~3/8" 4 88
J0210A JT33 0 06 Jo308C 1/64" ~5/16 " 1,/2 " —20UNF
Jo113 B16 44 97 ' Jo310 1~10mm M10X1
JOT13A 1~ 13mm B16 J0310A 1/32" ~3/8" 3/8 " —24UNF " o6 0.20
J0213 JT33 49 100 Jo3108 1~10mm M12X1.25
J0213A 1/32" ~1/2 JT6 J0310C 1/32" ~3/8" 1/2 " —20UNF
JO116A B16 110 Jo313 1~13mm M10X1
3~ 16mm n " n
Jo116 B18 110 J0313A 1/32" ~1/2 3/8 " —24UNF
54 014 | 0.20 | 0.07 / / / 44 97
J0216 JT6 110 J0313B 1~13mm M12X1.25
1/8“""‘5/8" n " n
J0216A JT3 110 Jo313C 1/32" ~1/2 1,/2 " —20UNF
Jo120 5~ 20mm B22 Jo316 3~16mm M12X1.25
" n 60 1 25 O " 18 0 " 25 " n n
J0220 3/16" ~3/4 JT3 JO316A 1/8" ~5/8 1,/2 " —20UNF 48 107 0.2
Jo316B 3~16mm M16X1.5
AY 4 M N 1
PRSI Sl J0316C 1/8" ~5/8" 5,8 " —16UNF

Please notify the grade in the order,

48 FANGZHENG TOOL FANGZHENG TOOL 49




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

ZY—-20048 J45 RUTg#23zs).  J45 TAPPING CHUCK ZY—20050 TCSZEVIA hIrZsfEjdc TCS TAPPING TORSION TAPPING COLLET
= Y 1o ) . s . 8 Iﬂ ]
ZERILHERMBLEERBIEN, THREFANEREMERE, RLRXEFIHFRIPMAFRIPAEM . FHR AR
PRI W L, REFTIEE, BIRSRIARMITIEELE, BrIbL4ERET, HERE, IR ¥
o This unit is consisted of chuck and tap collet.The chuck has installed compensating device for thread pitch.There W—"—I—I >
ﬁg are two different tap collets,one with overload protection and one without., When using the tap collet with overload I - E%
R protection, the protection device can automatically release to avoid tap—break.Just adjust nuts and you can get the _ 7 E
X3 . . : s A1 3
~ | different release torque quickly and conveniently. © B2 He
U= Model No, ISO DX a DIN371 DXxa DIN376 DXxa |JIS (HZ ) DXxa d(mm)
M2 2.8%x2.25 2.8x2.1 2.5x2.1 3%x2.5
M3 (1/8) 3.15%2.5 3.5%x2.7 4%3.2
M4 (5/32) 4x%x3.15 4.5%3.4 5x4
1- M5(3,/16) 5x4 6x4.9 5.5%x4.5 19
a A ~ M6(1,/4) 6.3x5 6x4.9 6X4.5
A 7 M8(5,/16) 6.3%5 8%6.2 6x4.9 6.2%5
M10(3,/8) 8X%6.3 10x8 7%x5.5 7%x5.5
M12 9%x7.1 9x7 8.5%6.5
L1 1/2" 9%x7.1 9%x7 9x7
M14(9,/16) 11.2%x9 11X9 10.5%8
M16 12.5%10 12%x9 12.5%10
5/8" 12.5%x10 12X 9 12%x9 31
M18(3/4) 14%x11.2 14 %11 14 %11
] =2 & i
B s B W LE D (mm) D1 (mm) d(mm) L1 (mm) M20 14X 11,2 16X 12 15X 12
Model No. Shank Tapping range M22(7,/8) 16x12.5 18x14.5 17x13
D30-12 DIN69871.30 31.75 59 M24 18x14 18X 14.5 19%15
D40-12 DIN69871 .40 44 45 M27(1") 20X 16 20% 16 20% 15
. M30 20x 16 22x18 23x17 48
D50-12 DIN69871.50 M3 ~M12 36 69.85 19 62 M33 22.4%18 25%20 25x19
B30—12 BT30 31.75 59 M36 25X 20 28X 22 28 % 21
B40—12 BT40 44.45 64 PT1,/16—28 86 19
69 85 —— PT1,/8-28 8X6
B50—12 BTS0 : 75 PT1,/4-19 11x9
D30-20 DIN69871 .30 31.75 PT3,/8-19 14%11 31
D40-20 DIN69871 .40 44 45 PT1,/2-14 18X14
D50—20 DING9871 .50 M7~ M20 53 69.85 » 97 PT3/4-14 23x17 48
B30-20 BT30 31.7 Ligdesk | MRER AT HANER, HETE 2 I THMESBME, MEdRHRM: 19-3.5x2.7-1
B40—20 BT40 44 45 1.With overload protection device inside the chucks torque adjustable
B50—20 BT50 69.85 2 .Show the specification in the order with diameter of shank in the form as 19-3.5X2.7— 1l
D30-36 DING9871.30 31.75 ZY—200501 3 AT IeiEiES2 TAPPING COLLET ADAPTER
D40-36 DIN69871 .40 44 45
D50—36 DIN69871.50 M14 ~M36 78 69.85 48 149
U= Model No. L D d
B30—36 BT30 31.75 . ’u ) j £
TCS1B—2B 41.5 31 19
B40—36 BT40 44 .45
24 % TCS2B—38B 62.8 48 31
B50—36 BT50 69.85
L

50 FANGZHENG TOOL FANGZHENG TOOL 517




x % % 3 x % % 3

COLLET SERIES COLLET SERIES

ZY—200502 3 fJe3LiZE$E3E TORSION CLAMP CONNECTOR ZY—20056 R8 g#igEdzs]. R8 COLLETS
1. #4#l. 65Mn 1. Material. 65Mn
BS Model No.| d H NO.S 2. TR, FiHER4HRCES ~ 60 2. Hardness; clamping part HRC55~ 60
o T JTS1B 19 10 812 B16 38 4 X HRC40 ~ 45 elastic part HRC40 ~ 45 o
EE “°%___':J = - JTS28 31 6 | 518 820 3. EHF 7L ROy B Rhik 3. This unit is applicable to all sorts of milling machines, EE
OF JTS38 48 24 Bk, tIX6325. X5325% which spindle taper hole is R8,such as X6325, X5325 etc. |4

ZY—20052 EEEC4E7L314ET MORSE TAPER DRILLING SLEEVES

@212
/1620

R

=

—
=z
S
]

AN
|
i

$31.75

|

W 4535 El Clamping range
L #IE Model No. B Type i _ BE Wi(kg)
mm In
R8—01—d E7L Round 1~20 1/16~7/8 0.24
A2 Model No. MT.NO | d(mm) D (mm) L (mm) R8—02—S 57 Square 3~13 1/8~1/2 0.24
TZ1—d MT1 2.24~8.0 12.31 67 R8—03-H NITFL Hex 3~16 1/8~5/8 0.24
T22—d MT2 4.75~12 18.06 80 EEEEtA]  Inspection of Accuracy - - TR
T23—d MT3 11.2~18 24.15 80 , :
mm In mm In mm
Tz4~d MT4 16~25 31.66 %0 1~1.6 1/32~1/16 6.35 0.0005 0.013
25— MTS 19~30 4.7 160.5 [ - ¢ >1.6~3 | >1/16~1/8 12.7 0.0005 0.013
H_ | ‘}77 e >3~10 | >1/8~3/8 25.4 0.0005 0.013
ZY—20054 EKINZ3% M2 MORSE TAPER TAPPING SLEEVES L >10~16 | >3/6~5/8 3.1 00005 0.013
- >16~20 | >5/8~7/8 50.8 0.0005 0.013
MT.NO. .
ZY—20058 R8 Iz fi#F R8 COLLETS DRAW BAR
Dv‘“ """"" 1 ~ M
I — ] JJ;,—'- I 1
L > 1 '
(BT B Pr———
#IE Model No. MT.NO. d(mm) D(mm) L (mm) : N
TGO—d MTO 2.47~4 .53 9.2 59.5 FIZ2 Model No. Rt Type L (mm) L1 (mm) T =82 Wi(kg)
TG1—d MT1 2.5~8 12.31 67 LG /R8—1 I 518 50.8 M12 0.57
TG2—d MT2 5.95~12 18.06 80 LG/R8—1A I 518 50.8 7,/16” —20UNF 0.51
TG4—d MT4 16~24 31.66 90 LG,/R8—2A I 600 128 7/16” —20UNF 0.75
TG5—d MT5 22~34 44.73 156 LG,/R8—01C Il 633 128 7/16” —20UNF 0.85
TG6—d MT6 34~38 63.76 217.5 LG,/R8—01D 0 551 50.8 M12 0.62

52 FANGZHENG TOOL FANGZHENG TOOL 53



x %k R 35

COLLET SERIES

ZY—20060 3$FF4E3EsL KEY TYPE DRILL CHUCK

1. EaH. BREHI.

2. MATHR. FER. SR, KIHM. 3. gEBRZITEIAI.

#t J) F R 3
MILLING ARBOR SERIES

Z{E[GRY{O)

ﬁY—30002 7:24/MT TEE(FEX) 7:24 TO MT ADAPTER(END OPENING TYPE)

1. Suitable for medium_ heavy duty drilling use.
@% 2. For milling machine_ lathe drilling machine, °
i&é wood working machine.
N O
= 3. High speed drilling can be performed for .
possessing high griping power. @%
#1.5 Model No. 7:24 NO.S MT.NO. D(mm) D1(mm) d(mm) L (mm) e S
NT30—MTB1 30 MT1 24 31.75 12.065 75 E %
FiUE=] FHFEE  Capacity EER 5ME D KL 8 NT30—MTB2 30 MT2 30 31.75 17.780 100 i
Model No. mm in Mount mm mm Wt. (kg) NT30—MTB3 30 MT3 36 31.75 23.825 130 =
12110 1210 1/32-3/8 812 425 20 0 34 NT30—MTB4 30 MT4 48 31.75 31,267 162.6
NT40—MTB1 40 MT1 24 44 45 12.065 80
J2113 1-13 1/32-1/2 B16 53 86 0.63 NT40—-MTB2 40 MT2 30 44 45 17.780 85
J2513 1.5-18 | 1/16-1/2 2l 44 /8 0.45 NT40—MTB3 40 MT3 36 4445 23.825 100
J2516 3-16 1/8-5/8 B16 53 86 0.63 NT40—MTB4 40 MT4 48 44 45 31.267 145
J2516A 3—-16 1/8-5/8 B18 53 86 0.63 NT40—MTB5 40 MT5 61 44 .45 44,399 225
J2116 3-16 1/32-5/8 B18 57 98 1.00 NT50—MTB1 50 MT1 25 69.85 12.065 127
J2116A 1-16 1/32-5/8 B16 57 93 0.82 NT50—-MTB2 50 MT2 32 69.85 17.780 127
12120 5—20 3,/16-3 /4 B22 65 110 1 40 NT50—MTB3 50 MT3 40 69.85 23.825 127
12210 1-10 1/32-3,8 12 425 o 0 34 NT50—MTB4 50 MT4 48 69.85 31.267 127
NT50—MTB5 50 MT5 61 69.85 44,399 180
J2213 1-13 1/32—1/2 JT6 53 86 0.63
J2213A 1-13 1/32—-1/2 JT33 53 86 0.63
12613 1.5-13 | 1/16-1/2 JT33 ha 78 0.45 ZY—30004 7.24/MT #m42%E (44FEY) 7.24 TO MT ADAPTER(DRAW BAR TYPE)
J2616 3-16 1/8-5/8 JT3 53 86 0.63
J2616A 3-16 1/8-5/8 JT6 53 86 0.63 7:24 NO.S
J2616B 3-16 1/8-5/8 JT33 53 93 0.65
J2216 1-16 1/32-5/8 JT3 57 98 1.00 4 4
J2220 5—20 3/16—3/4 JT3 65 110 1.40
ZY—200601 7.243z3 . Z%|| 7.24 COLLET SERIES L
#I-E Model No. 7:24 NO.S MT .NO. D(mm) D1 (mm) d(mm) L(mm)
DIN2080. 30—1W 30 MT1 25 12.065 105
DIN2080., 30—2W 30 MT2 2 81.75 17.780 118
DIN2080 . 30—3W 30 MT3 40 23.825 155
DIN2080, 40—1W 40 MT1 25 12.065 120
DIN2080, 40—2W 40 MT2 32 17.780 120
o DIN2080. 40—3W 40 MT3 40 44.45 23.825 140
. , DIN2080 . 40—4W 40 MT4 48 31.267 178
’ E - I DIN2080, 40—-5W 40 MT5 61 44,399 238
— “ DIN2080.50—1W 50 MT1 25 12.065 160
L DIN2080 . 50—2W 50 MT2 32 17.780 160
AIE Model No. | L D | d| S A2 Model No. | L D d | s RIE ModelNo. | L | D | d | M DIN2080.50-3W 30 MT3 40 0.8 23.825 1%
DIN2080, 50—4W 50 MT4 48 31.267 180
SK40 S20X2 | 96.5 |44.65|3°25 | S20X2 MK4 S20x2 | 105 | 31.592 | 325 [S20X2  DIN2080.40 M16 [105.5| 44.9 | 325 | M16 DIN2080. 50—5W 50 MTS o1 44,399 210

54

FANGZHENG TOOL

FANGZHENG TOOL

55



w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—30006 7.24/MT TRE(REI) 7:24 TO MT ADAPTER(WITH TANG) ZY—30010 7.24 §h#=E#F 7:.24 DRILL CHUCK ARBORS

7:24 NO.S

i) S Model No. | 7,24 NO.S | MT.NO. D (mm) D1 (mm) d(mm) L (mm) 53
DIN2080. 30—MTAT MT1 25 12.065 118
DIN2080 . 30-MTA2 MT2 32 17.780 118
DIN2080.30-MTA3 30 MT3 40 31.75 23.825 138
DIN2080. 30—MTA4 MT4 48 31.267 212 AIE Model No. D d L M 2 | B2 Model No. | D d L M B
DIN2080_40—MTAT MT1 25 12,065 143 7:24—N0O .S mm mm mm Wt (kg) 7:24—N0O .S mm mm mm Wt (kg)
DIN2080_ 40—MTA2 MT2 32 17780 143 DIN2080.30—J0 6.350 | 99 0.313 | DIN2080.50—J6 17.170 | 184 2.739
DIN2080 . 40—MTA3 MT3 40 23 825 158 DIN2080 . 30—J1 9.754 | 106 0.326 | DIN2080.50-J3 |gg g5|20.599 | 191 |moa| 2.777
DIN2080. 40—MTA4 0 MT4 48 .45 31.267 188 DIN2080. 30—J2S 13.940| 109 0.341 | DIN2080.50—J4 28.550 | 202 2.953
DIN2080 . 40-MTA5 MTS 61 44399 273 DIN2080 . 30—J2 14.199| 113 0.349 | DIN2080.50—J5 35.890 | 208 3.178
DIN2080. 50—MTA MT1 25 12.065 172 DIN2080.30—J33 | 3'-75 [15.850| 122 | M2 | 0.377 | DIN2080.30-B10 10.094 | 104 0.325
DIN2080.50—MTA2 MT2 32 17.780 187 DIN2080 . 30—J6 17.170| 122 0.388 | DIN2080.30—B12 12.065 | 108 0.330
DIN2080.50~MTA3 50 MT3 40 69.85 23.825 192 DIN2080.30—J3 20.599| 123 0.426 | DIN2080.30-B16 |, [15.733] 116 |, [ 0.372
DIN2080.50—MTA4 MT4 48 31.267 197 DIN2080 . 30—J4 28.550| 136 0.602 | DIN2080.30—B18 17.780 | 124 0.393
DIN2080.50~MTA5 MTS 61 44.399 232 DIN2080 . 30—J5 35.890| 145 0.827 | DIN2080.30—B22 21.793| 133 0.460
DIN2080. 40—J0 6.350 | 126 0.789 | DIN2080.30—B24 23.825 | 143 0.518
DIN2080. 40—J1 9.754 | 133 0.797 | DIN2080.40-B10 10.094 | 132 0.801
ZY—30008 7.24/R8 IILXE 7.24 TO R8 ADAPTER
DIN2080. 40—J2S 13.940| 136 0.817 | DIN2080.40—B12 12.065 | 136 0.809
DIN2080. 40—J2 14.199| 141 0.829 | DIN2080.40-B16 |, 45/15.733] 143 |\ [ 0.848
DIN2080.40—J33 | 44.45 [15.850| 145 | M16 | 0.853 | DIN2080.40—B18 17.780 | 151 0.869
_zlw) O DIN2080. 40—J6 17.170| 145 0.864 | DIN2080.40—B22 21.793| 160 0.936
N} DIN2080.40—J3 20.599| 150 0.902 | DIN2080.40—B24 23.825 | 169 0.994
DIN2080. 40—J4 28.550| 165 1.028 | DIN2080.50-B10 10.094 | 170 2.684
L DIN2080. 40—J5 35.890| 170 1.303 | DIN2080.50—B12 12.065 | 174 2.676
DIN2080.50—J1 9.754 | 175 2.672 | DIN2080.50-B16 |gg gg| 15.733 | 182 |pppa| 2.723
RIS Model No. 722 N0 S D1 (o) o) D () DIN2080.50-J25 | o g [13.940( 177 | [ 2.692 | DIN2080.50-B18 17.780 | 195 2.744
5IN20B0 30_a " 75 - " DIN2080 . 50—J2 14.199| 180 2.704 | DIN2080.50—B22 21.793| 200 2.811
N300 40-F8 n YT - DIN2080.50—J33 15.850| 184 2.728 | DIN2080,50—B24 23.825 | 215 2.869
DIN2080.50—R8 50 69.85 175 -5

56 FANGZHENG TOOL FANGZHENG TOOL S7




N F % 3

BN HF R

MILLING ARBOR SERIES MILLING ARBOR SERIES

Z{E[GRY{O) Z{E[GRY{O)

ZY—-30012 37 $%J]#F END MILL ADAPTERS ZY—-30014 FEX$tJIJ#F SHELL END MILL ARBORS
MT2 ~MT6 R8 MT2 ~MT6 R8
@g MT. NO. E%
22 7 AT A oW =

MT2A ~MT6A

DIN2080.30~DIN2080.50

$31

d_
d |
D
1
|
75
|
d

—

o, 7:24 NO.S
T : T I 1T ‘ i ‘
TN o IJLL:L i | i T “F_L = 1.
W/ . © [ | E———| | T
AT d A d
SHANK mm SHANK in
1/4
MT2, MT3, MT4, 0 MT2, MT3, MT4, 53/ 186
MT5, MT6 = MT5, MT6 1; 5
MT2A, MT3A_ MT4A. 1 MT2A, MT3A_ MT4A. 5,8
MT5A . MT6A 16 MTB5A . MT6A 3/4
DIN2080.30_ DIN2080.40 18 DIN2080.30_ DIN2080.40 1
DIN2080.50 20 DIN2080.50 1-1/4
R8 25 R8 1-1/2
32 2
40 2-1/2

MT2A ~MT6A DIN2080. 30 ~ DIN2080 .50
__MT.NO - //\I>n: ]
= £ ] “
L
EE d EEW d
SHANK mm SHANK in
MT2. MT3, MT4, 13 MT2. MT3, MT4, 1/2
MT5_ MT6 16 MT5_ MT6 5/8
MT2A_ MT3A_ MT4A. 22 MT2A_ MT3A_ MT4A . 3/4
MTSA . MTBA 27 MT5A_ MT6A 7/8
DIN2080.30_ DIN2080.40 32 DIN2080.30_ DIN2080.40_ !
DIN2080.50 40 DIN2080.50 1=1/4
50 1-1/2
R8 R8
60 2

iE: ITMRHEERERRRFLE

58

FANGZHENG TOOL

iE: VTS ERERRR I ER

FANGZHENG TOOL

59




#t J) F R 3
MILLING ARBOR SERIES

BN HF R

MILLING ARBOR SERIES

Z{E[GRY{O) Z{E[GRY{O)

ZY—30016 EA4EANFtEETJAF COMBI SHELL END MILL ARBORS ZY-30020 R8 5{ZZE R8 TO MS SLEEVES
R8 MT2 ~MT6 L
| | MS.NO.W**Dl
N rrresssssss. I
L
gé L L I I MS. NO **QJ E%
W& = = | e | g
EE [ ] ] _ gg
3 = = 3
= i i I E
L — MT NO Ll L #UE Model No. |MS.NO.W | D(mm) L (mm) FUE Model No. MS .NO D(mm) L(mm)
BR8—1W 1 12.065 102 BR8—1 1 12,065 114
DIN2080.30~DIN2080.50
BR8—2W 2 17.780 105 BR8—2 2 17.780 127
AR q BR8—3W 3 23.825 135 BR8—3 3 23.825 153
SHANK mm BR8—4W 4 31.267 218 BR8—4 4 31.267 240
13
16
MT2, MT3_, MT4_ MT5 2
: DIN2080.30, DIN2080. 40, - ZY-30022 EERKr[EZ MORSE TAPER SLEEVES
M ] | DIN2080.50 2
I = R8 40
WJ —— ] MS. NO. S
50
2 g ] — A
. TR AT AR R T ok
ZY—30018 BE&4ENETJAFFIM{E ATTACHVENT OF COMBI SHELL END MILL ARBORS L
nE g BE
Model No. MS NO.S MS.NO.T D(mm) | d(mm) | L(mm) Wit(kg) | Accuracy (mm)
BZ2—1 2 : 18 12065 74 0.10
BZ3—1 2 ' 2. 1 80 0.24 0.015
\ , BZ3—2 17.780 0.12
DRIVE RING SPANNER SCREW 2D f arb :
IR RF 12T JI#FE12 Dia of arbors — 1 12,065 063
DRIVE RING—13 SPANNER—13 SCREW—13 13 8742 4 2 31.6 [ 17 780 90 0.50
DRIVE RING—16 SPANNER—16 SCREW—16 16 BZ4—3 3 23.825 0.38 0 020
DRIVE RING—22 SPANNER—22 SCREW—22 22 BZ5—2 2 17.780 1.49 '
DRIVE RING—27 SPANNER—27 SCREW—27 27 BZ5-3 ° 3 4.7 | 23.825 | 110 1.36
- 4
DRIVE RING—32 SPANNER—32 SCREW—32 32 Bz5—4 31.267 0.%
BZ6—3 3 23.825 3.58
DRIVE RING—40 SPANNER—40 SCREW—40 40 — 6 2 638 | 31267 | 130 3 12
DRIVE RING—50 SPANNER—50 SCREW—50 50 8765 P 0.025
5 44399 '
DRIVE RING—25 4 SPANNER—25 .4 SCREW—25 4 25.4 BZ7-5 7 83.56 195 1.69

60

FANGZHENG TOOL

FANGZHENG TOOL

61



w7 F R 3 w7 F & 3

EEOVE MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—30024 273 HUTE{ZZE 273 MORSE TAPER SLEEVES ZY—30026 35E}1fEENTE{2E STRENGTH-DRIVEN SLEEVES

__ MS.NO.S
]

=0 L : =4
N O N O
=e L =e
R e
=< ng 2 -
Model No. MS.NO.S MS.NO.T D(mm) d(mm) L (mm) Wt (kg)
B2 Model N MS.NO.S MS NO T L (s} L+ {rmem) D(mm) () BSD2—1 2 1 17.780 12.065 92 0.10
ode 0O. . . mm 1(mm mm mm
= ME.NO.S BSD3—2 3 2 23.825 17.780 112 0.12
273-20,/10 MS2 : 60 56 17.780 12 085 BSD4—3 4 3 31.267 23.825 140 0.38
273-30/10 MS3 66 23.825
273-30,/20 ) 70
2734020 17.780 ZY-30028 E[LI{RE (FifFHE!) MORSE TAPER SLEEVES(DRAWBAR TYPE)
MS4 63.5 31.267 |
273—40/30 3 23.825
273-50,/20 2 17.780 VS, NO. S
273-50 /30 MS5 3 77 70.5 44,399 23.825 =
27350 /40 4 31.267 rr: :4 — f — T
273-60,/30 3 23.825 I _d{l == ©
273-60,/40 MS6 4 110 103.5 63.348 31.267 o
- L
273-60,/50 5 44,399
273-04 /30 3 23.825
ME40 70 40
273—04 /40 4 31.267
27305 /30 3 23.825 e N
| eem =5 5 Accuracg
273—05,/40 ME50 4 86 50 31 267 Model No. MS.NO.S MS.NO.T D(mm) d(mm) L (mm) (mm)
273-05 /50 5 44,399 BM2—1 2 1 17.780 12.065 108.5
273—06 /40 4 31.267 BM3—1 3 1 23.825 12.065 106
ME60 100 60 I
273-06 /50 5 44,399 BM3—2 3 2 23.825 17.780 116
0.01
273-07,/40 VETo 4 . 31.267 BM4—1 4 1 31.267 12.065 110
273-07,/50 5 44,399 BM4—2 4 2 31.267 17.780 120
273-08 /40 4 110 31.267 BM4—3 4 3 31.267 23.825 140
273-08 /50 MESO 5 80 44 399 BM5—1 5 1 44,399 12.065 136
273-08 /60 6 63 348 BM5—2 5 2 44,399 17.780 136
0.02
273-09 /50 5 44399 BM5—3 5 3 44,399 23.825 148
MES0 120 90 —
273-09,/60 6 63 348 BM5—4 5 4 44,399 31.267 176

62 FANGZHENG TOOL FANGZHENG TOOL 63




BN HF R

Z{E[GRY{O)

AL B3]

ZY—30030 DIN2187 jnic#{£2E EXTENSION SOCKET WITH MS. HOLE

MILLING ARBOR SERIES

MS. NO. S

\7z

EoT i

MS. NO. S

V5. NO. T __U’ “

MILLING ARBOR SERIE,

%
MILLING ARBOR SERIES

ZY—30032 R8 fhiE#F R8 DRILL CHUCK ARBORS

7/16" ~20UNF

% 3

Z{E[GRY{O)

MO%I%NO. MS.NO.S | MS.NO.T | D(mm) | d(mm) | L(mm) | \us (%) *EE{( r’:;")“ra"y
BL1—1 1 20 12,065 145 0.19
BL1—2 1 2 30 17.780 160 0.40
BL1—3 3 36 23.825 181 0.40
BL2—1 1 20 12,065 160 0.29
BL2—2 2 30 17.780 175 0.50
BL2—3 2 3 36 23.825 196 0.60
BL2—4 4 48 31.267 221 1.43
BL3—1 1 20 12.065 175 0.41
BL3—2 2 30 17.780 194 0.62 0.03
BL3-3 3 36 23.825 215 0.89
BL3—3A 3 3 40 23.825 215 1.10
BL3—4 4 48 31.267 240 1.55
BL3-5 5 63 44399 275 2.80
BL4—1 1 20 12.065 200 0.81
BL4—2 2 30 17.780 215 1.00
BL4—3 3 36 23.825 240 1.27
BL4—4 4 4 48 31.267 265 1.93
BL4—5 5 63 44.399 300 3.18
BL4—6 6 85 63.348 368 6.50 0.05
BL5—1 1 20 12.065 232 1.79
BL5—2 2 30 17.780 247 2.00
BL5—3 3 36 23.825 268 2.27 0.04
BL5—4 > 4 48 31.267 300 2.93
BL5—5 5 63 44399 335 4.18
BL5—6 6 85 63.348 403 6.70 0.05
BL6—1 1 20 12.065 294 4.40
BL6—2 2 30 17.780 309 4.25
BL6—3 6 3 36 23.825 330 4,52 0.04
BL6—4 4 48 31.267 355 5.18
BL6—5 5 63 44399 390 6.43

64

FANGZHENG TOOL

3 H : 'Q/ 15°5|1'}— R =
: ElEs
101 ﬁL
o = o =
ﬁ?sh—/lﬁge.lsm' D(mm) | L(mm) |y (i) ﬁ?sh—ﬂﬁge.lsm' D(mm) | L(mm) | \yy(kg)
R8—JO 6.350 17 0.393 R8—J5 35.890 154 0.742
R8—J1 9.754 122 0.409 R8—B6 6.350 118.5 0.250
R8—J2S 13.940 125 0.400 R8—B10 10.094 124 0.386
R8—J2 14.199 128 0.414 R8—B12 12.065 128 0.408
R8—J33 15.850 132 0.418 R8—B16 15.733 135 0.440
R8—J6 17.170 132 0.426 R8—B18 17.780 143 0.454
R8—J3 20,599 137 0.465 R8—B22 21.793 152 0.514
R8—J4 28.550 148 0.600 R8—B24 23.825 162 0.567
ZY-30034 E#FshEMF STRAIGHT SHANK DRILL CHUCK ARBORS
l,>NO. S
- s |
il ]
L1
L
#IE Model No. i m NO.S D1 (mm)
D—JO 6 JO 6.350
D—-J1 8 J1 9.754
D—J2 10 J2 14.199
D—-J3 3/8" 12 J3 20.599
D—-J4 1/2" 13 J4 28.550
D—-J5 5/8" 14 J5 35.890
D—-J6 7/8" 16 J6 17.170
D—J33 3/4" 20 J33 15.850
D—B6 1" 25 B6 6.350
D—-B10 1-1/4" 26 B10 10.094
D—B12 1-1/2" 32 B12 12.065
D—B16 1-3/4" 35 B16 15,733
D—B18 36 B18 17.780
D—B22 40 B22 21.793
D—B24 50 B24 23.825

FANGZHENG TOOL

E: WNESTHKITH, E;EAADXLIXNO.S—L. If specially order, please note;DXLi1XNO . S—L

=
=
=
58

e
==
i}
72}
o
o
==
(==
<
O
=
e}
=
=

65



w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—-30036 jmiu RIS ShIRAT ZY—30038 HERERFHIET
MORSE TAPER DRILL CHUCK ARBORS WITH DRAW BAR MORSE TAPER DRILL CHUCK ARBORS WITH TANG

MS. NO.S

ﬁ NO. S
MS. NO.W
%—\ NO. S |U
- T -

=5 t\ . =

ps% - FIZ Model No. d L FI2 Model No. d L FIZ Model No. d L yﬁ%

= MS.NO.W-NO .S mm mm MS.NO.W-NO .S mm mm MS.NO.W-NO.S mm mm -
F1Z Model No. 4 . 2 Model No. 4 . 2 Model No. 4 . MS0—B6 6.350 | 75 MS2—B22 21.793 | 128 MS4—B18 17.780 | 164
MS.NO.W-NO.S| mm | mm |MS.NO.W—NO.S| mm | mm |MS.NO.W-NO.S| mm | mm MS0—B10 10.094 | 80 MS2-B24 23.825 | 138 MS4—B22 21.793 | 172
MSOW—l0 6350 | 67 MS2W—J6 17.170 | 97 MSaW—J33 15.850 | 137 MS0—B12 12,065 | 84 MS2-B18S 17.431 | 113 MS4—B24 23.825 | 182
MSOW—J1 9.754 | 72 MS2W—J33 15.850 | 97 MS4W—B10 10.094 | 130 Mso-B16 15.733 | 91 Ms2—-Jo 6.350 | 94 MS4—Jo 6.350 | 138
MSOW—J2 14,199 | 78 MS2W—B10 10,094 | 90 MS4W—B12 12,065 | 134 Mso-B18 17.780 | 99 MS2—J1 9.754 | 100 MS4-J1 9.754 | 143
MSOW—J3 20,599 | 87 MS2W—B12 12,065 | 94 MS4W—B16 15,733 | 141 Ms0-B22 21.793 | 108 MS2—J2 14.199 | 105 MS4-J2 14.199 | 149
MSOW—J6 17.170 | 81 MS2W—B16 15.733 | 101 MS4W-B18 17.780 | 149 MS0-B24 23.825 | 118 Ms2-J3 20.599 | 114 MS4-J3 20.599 | 158
MSOW-J33 | 15.850 | 81 MS2W—B18 17.780 | 109 MS4W—B22 21.793 | 158 Mso-Jo 6.350 | 73 MS2-J4 28.550 | 125 MS4—J4 28.550 | 169
MSOW—B10 10.094 | 74 MS2W—B22 21.793 | 117 MS4W—B24 23.825 | 168 MS0—J3 20.599 | 93 MS2—-J5 35.890 | 130 MS4-J5 35.890 | 174
MSOW—B12 12.065 | 78 MS2W—B24 23.825 | 127 MS5W—J2 14,199 | 161 MS0—J33 15.850 | 88 MS2—-J6 17.170 | 108 MS4-J6 17.170 | 152
MSOW—B16 15.733 | 85 MS3W—J1 o 754 | 105 MSEW—J3 20 593 | 170 MS1-B10 10,094 | 86 MS2—J33 15.850 | 108 MS4—J33 15.850 | 152
MSOW—B18 17.780 | 93 MS3W—J2 14,199 | 111 MS5W—J4 28.550 | 181 MS1-B12 12.065 | 90 MS3-B10 10.094 | 120 MS5-B10 10.084 | 177
MSTW—l0 6350 | 71 MS3W—J3 20 599 | 120 MSEW—J5 35 890 | 186 MS1-B16 15,733 | 97 MS3—B12 12,065 | 124 MS5—B12 12,065 | 181
MS1W—J1 9.754 | 76 MS3W—J4 28.550 | 131 MS5W—J6 17.170 | 164 MS1-B18 17.780 | 105 MS3-B16 15.733 | 131 MS5-B16 15.733 | 188
MS1W—J2 14,199 | 82 MS3W—J5 35.890 | 136 MS5W—J33 15.850 | 164 MS1-B22 21.793 | 114 MS3-B18 17.780 | 139 MS5-B18 17.780 | 196
MS1W—J3 20.599 | 91 MS3W—J6 17.170 | 114 MS5W—B16 15.733 | 168 MS1-B24 23.825 | 124 MS3—B22 21.793 | 147 MS5-B22 21.793 | 204
MS1W—J6 17.170 | 85 MS3W—J33 15.850 | 114 MS5W—B18 17.780 | 176 MS1-J0 6.350 | 79 MS3—B24 23.825 | 157 MS5-B24 23.825 | 214
MS1W—J33 15.850 | 85 MS3W—B10 10.094 | 107 MS5W—B22 21.793 | 185 MS1-J1 9.754 | 85 MS3-J0 6.350 | 113 MS5-J0 6.350 | 170
MS1W—B10 10.094 | 78 MS3W—B12 12,065 | 111 MS5W—B24 23.825 | 195 MS1-J2 14.199 | 90 MS3—J1 9.754 | 118 MS5—J1 9.754 | 175
MS1W—B12 12.065 | 82 MS3W—B16 15.733 | 118 MSBW—J3 20.599 | 224 MS1-J3 20.599 | 99 MS3-J2 14.199 | 124 MS5-J2 14.199 | 181
MS1W—B16 15.733 | 89 MS3W—B18 17.780 | 126 MSBW—J4 28.550 | 235 MS1—-J4 28.550 | 110 MS3-J3 20.599 | 133 MS5-J3 20.599 | 190
MS1W—B18 17.780 | 97 MS3W—B22 21.793 | 135 MSBW—J5 35.890 | 240 MS1-J5 35.890 | 116 MS3—J4 28.550 | 144 MS5—J4 28.550 | 201
MS2W—J0 6.350 | 83 MS3W—B24 23.825 | 145 MSBW—J6 17.170 | 218 MS1-J6 17.170 | 94 MS3-J5 35.890 | 149 MS5-J5 35.890 | 206
MS2W—J1 9.754 | 88 MS4W—J2 14,199 | 134 MSBW—J33 15.850 | 218 MS1-J33 15.850 | 94 MS3-J6 17.170 | 127 MS5-J6 17.170 | 184
MS2W—J2 14.199 | 94 MSAW—J3 20 599 | 143 MS6W—B16 15.733 | 222 MS2—B10 10.094 | 101 MS3—J33 15.850 | 127 MS5—J33 15.850 | 184
MS2W—J3 20.599 | 103 MS4W—J4 28.550 | 154 MS6W—B18 17.780 | 230 MS2-B12 12.065 | 105 MS4-B10 10.094 | 145 MS6—B16 15.733 | 250
MS2W—J4 28.550 | 114 MS4W—J5 35.890 | 159 MS6W—B22 21.793 | 238 MS2-B16 15.733 | 112 MS4—B12 12.065 | 149 MS6—J3 20.599 | 252
MS2W—J5 35.890 | 119 MS4W—J6 17.170 | 137 MS6W—B24 23.825 | 248 MS2-B18 17.780 | 120 MS4-B16 15.733 | 156 MS6—J6 17.170 | 246

66 FANGZHENG TOOL FANGZHENG TOOL 67




w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—30040 #B4r4hiEdF MORSE DRILL CHUCK ARBORS ZY—-30044 EXEETIFFRIEET
M0 SCREW FOR SHELL END MILL ARBORS
L1
L2
L [an] =

25 by 25
v Model No. MS.NO.S L(mm) | Li(mm) | L2(mm) | D(mm) d(mm) M ] g
E= - e
=E]  MS1-3/8"—24UNF 83 13.5 24 3/8" —24UNF §2
W)  MS1—1,/2"—20UNF e o5 55 o . 12 o068 1,/2"—20UNF =

MS1-M12% 1.25 ' ' M12x1.25 it M ERTIFER D L it A M ERTIFER D L

MS1—5 /8" —16UNF 88 17 5 29 5 /8" —16UNF Model No. Dia of arbors(mm)| mm | mm | Model No. Dia of arbors(in) | mm | mm

MS2—M10 X 1 M10X 1 SD—M6 M6 13 17 | 18 | SD-1/4-28 | 1/4"-28 1/2 16.7 | 21

MS2—3,/8"—24UNF 97 13.5 24 3,/8"—24UNF SD—M8 M8 16 20 | 22 |sp-3/8-24 |3/8"-24 5/8 3/4 22.2| 27

MS2—M12x 125 M12x1.25 SD-M10 | M10 22 28 | 25 |sp-1/2-20 |1/2"-20 7/8 1 30.2| 33

100 7

MS2—1 /2" —20UNF MS2 19:5 75 2 17.780 1,/2"—20UNF SD-M12 | M12 27 35 | 30 |sp-5/8-18 |5/8"-18 1-1/4 38.1| 39

MS2-M16% 1.5 M16x 1.5 SD-M16 | M16 32 42 | 35 |SD-3/4-16 | 3/4"-16 1—-1,/2 47.6| 45

MS2-5 /8" —16UNF 103 17.5 29 5,/8"—16UNF SD—M20 M20 40 52 | 40 | SD-1-12 1"-12 2 63.1| 52

MS2-5 /8" —20UNF 5,/8"—20UNF SD—M24 M24 50 63 | 48 | SD-1-1/4-12 [1-1/4"-12 2-1/2 69.85| 55

MS3-M10X 1 116 13.5 24 Ml SD-M30 | M30 60 75 | 53

MS3—3,/8"—24 3,/8"—24UNF

MS3-M12x1.25 M12x1.25 1

MS3—1 /2" —20UNF MS3 e 15.5 4 27 23.825 12200 ZY—30046 EIREMETIFT

STRAIGHT SHANK MILLING MACHINE ARBORS
MS3-M16x 1.5 M16x 1.5
122 17.5 29
MS3—5 /8" —16UNF 5,/8"—16UNF
MS4—M12x1.25 MS4 145 15.5 117.5 31.6 31.267 M12x1.25

d1

ZY—30042 [SHistiZarshiEst MORSE DRILL CHUCK ARBORS

<}MS.NO.W
e -
(B} L2 ﬂ% . . ﬂﬂ . .
di(in d(in L (mm = d1(in d(in L (mm
L Mode! No. (in) (in) (mm) Model No. (in) (in) (mm)
DG1,/2-1/2 1/2 DG3,/4—1/2 1/2
A2 Model N D Ims.now| b L1 L2 D1 M M DG1,/2-5/8 5/8 102.4 DG3,/4—5 /8 5,8 108.7
= viedel . mm ' ' mm mm mm mm ! 2
. . DG1,/2-3/4 3/4 DG3,/4-3/4 3/4
MS2W—3/8"—24UNF | 24 88 13.5 3,/8"—24UNF
/ MS2W 64 17.780 |/ M10X 1.5 1/2 105.6 3/4 1.9
MS2W—1,/2"—20UNF | 27 91 15.5 1,/2"—20UNF DG1/2-7/8 7/8 DG3/4-7/8 7/8
MS3W—3,/8"—24UNF | 24 105 13.5 3,/8"—24UNF DG1,/2—-1 1 DG3/4-1 1
MS3W 81 23.825 M12x1.75 111.9 118.3
MS3W—1,/2"—20UNF | 27 108 15.5 1,/2"—20UNF DG1,/2—1-1/4 1-1/4 DG3,/4—1—1/4 1-1/4

68 FANGZHENG TOOL FANGZHENG TOOL 69




w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—-30048 BT##i=ER$tJJ#F SHELL MILL ARBORS ZY—30050 DINgEEE=ERSETI#F SHELL MILL ARBORS

] TH. E
S i

@% mm E§
W2 | %
- y A2 Model No. D B8 A2 Model No. b 2 =
3 DIN69871 . AXd—L1 Wt (kg) DIN69871 . AXd—L1 Wt (kg) ==
= =
DIN69871 . A30 X 16—60 32 1.0 DING69871.A40x 27—75 48 1.6
mm DIN69871 . A30 X 22—60 40 1.3 DIN69871 ., A40 x 32—60 58 4.5
A2 Model No. D = AIE Model No. D =2 DIN69871,A30 % 27—60 48 1.5 DIN69871 ., A40 x 40—60 70 4.8
BTXd-L1 Wt(kg) BTXd-L1 Wi(kg) DING9871. A30 X 32—60 58 1.8 DING9871. A50 X 16—60 32 3.8
BT30 X 16—60 32 1.0 BT40 x 40—75 70 2.2 DIN69871 . A30 X 40—60 70 2.2 DIN69871, A50 x 22—60 40 4.0
BT30 X 22—60 40 1.3 BT40 X 50—70 90 2.5 DIN69871 . A40 X 16—60 32 1.2 DIN69871 ., A50 x 27—60 48 4.2
BT30 X% 27—60 48 1.5 BT50 X 16—60 32 3.6 DIN69871 . A40 X 22—60 40 1.3 DIN69871 ., A50 x 32—60 58 4.5
BT30 X 32—60 58 1.8 BT50 X 16—75 32 3.9 DIN69871 . A40 X 27—60 48 1.4 DIN69871 . A50 X 40—60 70 4.8
BT30 x 40—60 70 2.2 BT50 x 16—120 32 4.3 - -
== B (4 24 317 4 — Sk i PETAY > 3 i3+ AH
5740 % 1660 - — 5750 % 2775 0 0 2. WRERETRUHTMIIN, FRIEHCS.3/12000m, FEEHEEHGC2.5/20000mm, 1TD1\1\]H]‘1EEHH*%I(J§O |
BT40 % 16—120 32 1.7 BT50 x 22—100 40 45 1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt,
please mark AD/B.
BT40 x 22—45 40 1.5 BT50 x 22—120 40 5.0
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the precise
BT40 x 22—60 40 1.7 BT50 X 27—60 48 5.5 L
precision is G2.5,/20000rpm .
BT40 x 22—100 40 3.0 BT50 X 27—105 48 4.0
BT40x 22—120 40 3.6 BT50 X 32—60 58 4.5 —
BT40x 27—45 48 1.5 BT50 X 32—75 58 1.6 ZY—30052 ﬁiﬁeﬁsﬁ IE R8 TAPER SLEEVES
BT40 % 27—60 48 1.6 BT50 X 32—105 58 1.8
]MAS.BT
BT40x 27-75 48 1.8 BT50 X 40—60 70 2.2 \ —
BT40 % 27—105 48 2.1 BT50 x 40—75 70 3.6 3{ - \ \W,W 2l g
BT40 X 27—120 48 2.3 BT50 X 40—90 70 3.7 s e
BT40 x 32—45 58 1.2 BT50 x 40—100 70 3.75
BT40 x 32—60 58 1.5 BT50 x 40—105 70 3.8 i -
BT40 x 32—75 58 1.8 BT50 X 50—60 90 4.0
BT40 x 32—120 58 2.8 BT50 X 50—70 90 4.2 mm
BT40 x 40—60 70 2.0 BT50 x 50—120 90 4.4
A= Model No. L D IS Model No. L D
1. ITHRHEEBATIMEAER R, MEF UK SEZ2MEEKSAE TIM, EHREIAD/BEL, HNBT40AD,/BX32-60, BT X R8—L1 BT X R8—L1
2. RIBFEFMRHESHFEE I, RERKEAG6.3/12000rpm, 1HZEE AG2.5,/20000rpm, {THEE FHEAEE. BT30 XR8—115 163.4 31.75 BT40 X R8—95 160.4 44 45
1. When order please indicate the hilt the concrete form. If needs in the center cold and the flange water leakage hilt, BT30 X R8—135 183 4 31 75 BT40 % R8—100 1654 44 45
please mark AD/B. BT30x R8—150 198.4 31.75 BT40 x R8—130 195.4 44 .45
2. According to needs to be possible to provide the balanced hilt, the standard precision is G6.3,/12000rpm, the XR8— : : XR8— i i
precise precision is G2.5,/20000rpm. BT40 X R8—75 140.4 44.45

70 FANGZHENG TOOL FANGZHENG TOOL 71




w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—30054 #§3x=7.24%512E 7.24 TAPER SLEEVES ZY—30056 HSK (AZ#Y) ER§%J]J4H ER COLLET CHUCK

AN
5

=5 g =5
W= R g
3 G mm %2
| .= gz i3y
- ﬁzs? ::(OEdF:lL'\:O . cIar;nE::;Br?nge - L2 P d T

HSK40AXER20—80 1-13 100 60 40 34 M10X1.5

HSK40AXER25—-80 1-16 100 60 40 42 M10X1.5

HSK50AXER16—80 1-10 105 54 50 28 M10X1.5

HSK50AXER16—100 1-10 125 74 50 28 M10X1.5

HSK50AXER25—80 1-16 105 54 50 42 M16X2.0

3 HSK50AXER25—100 1-16 125 74 50 42 M16X2.0

HSK50AXER32—100 2-20 125 74 50 50 M16X2.0

mm HSK5OAXER32—120 2-20 145 94 50 50 M16X2.0

A2 Model No. TEE | EE Model No. TEE HSK63AXER16—80 1-10 112 54 63 28 M10X1.5

DIN69871.AX7.24—L1 | L | D | P | Figwe |  BTX7.24-Ls L P | P | Figure HSKE3AXER16—100 1-10 132 74 63 28 M10X1.5

DING9871.A40x I1ISO30—50 | 127.4| 50 |44.45 3 BT40 X ISO30-50 124 .4 50 44 .45 3 HSK63AXER25—80 1-16 112 54 63 42 M16X2.0

DING9871.A40x 1ISO40—100 | 179.4 | 63 |44.45 2 BT40 X ISO40—-100 | 176.4 63 44 45 2 HSK63AXER25—100 1-16 132 74 63 42 M16X2.0

DIN69871.A50 % ISO30—-50 |[160.75| 50 |69.85 1 BT50 X ISO30—-50 160.8 50 69.85 1 HSK63AXER25—120 1—-16 152 94 63 42 M16X2.0

DING9871.A50x 1ISO40—70 |182.75| 70 |69.85 2 BT50 X 1S040—-70 182.8 70 69.85 2 HSK63AXER32—80 2-20 112 54 63 50 M16X2.0

DING9871.A50 x 1ISO50—120 |235.75| 97 |69.85 2 BT50 x 1ISO50—120 | 235.8 97 69.85 2 HSK63AXER32—100 2-20 132 74 63 50 M16X2.0

. 1. REEERE TSR A E R R A AT HSK63AXER32—120 2—-20 152 94 63 50 M16X2.0

2. REEFRMIRERMERER RS, (TR IEHTIE HSKB3AXER40—80 3-26 112 54 63 63 M20X2.0

3. TEERH TR TIARER RN FEREMKRET, ITHRNER$TEER HSK63AXER40—100 3-26 132 74 63 63 M20X2.0

Note. 1. See figure 1,when the arbor being used,it is necessary to fix inner hex screw. HSK63AXER40—120 3-26 152 94 63 63 M20X2.0

2. See figure 2,when the arbor bein used,it is necessary to fix standard knob, please note when order it.

3. See figure 3,when the arbor being used,it is necessary to fix extension knob, please onte when order it. FISKT00AXER25-100 1718 150 n 100 42 Mi6x2.0

HSK100AXER25—120 1-16 170 91 100 42 M16X2.0

HSK100AXER32—100 2-20 150 71 100 50 M16X2.0

HSK100AXER32—120 2-20 170 91 100 50 M16X2.0

HSK100AXER40—100 3—-26 150 7 100 63 M20X2.0

HSK100AXER40—120 3-26 170 91 100 63 M20X2.0

72 FANGZHENG TOOL FANGZHENG TOOL 73




w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—-30058 HSK (A#Y) 3r$E7]#F END MILL HOLDER ZY-30060 HSK (A#Y) =X $EJJ#F SHELL END MILL HOLDER
D T L4 L3
A 10z
¢ I _L _____ J_ t‘ - a ki
- __d
N O N O
%g | L iy A  —— 1 %g
‘Eg mm ﬂsg
#UIE Model No. L L1 1w
HSK AXAL1 L L2 L3 L4 D d1 T | -

HSK50AX6—65 90 39 18 — 50 25 MBX1.0
HSK50AX8—65 90 39 18 — 50 28 M8X1 .25
HSK50AX10—65 90 39 20 — 50 35 M10X1.5 mm
HSK50AX 12—80 105 54 22.5 — 50 42 M12X1.75 BS Model No.
HSK50AX 14—80 105 54 22.5 — 50 44 M12X1.75 HSK . AXd—L1 L L2 D dl ki k2
HSK50AX 16—80 105 54 24 — 50 48 M14X2.0 HSK40AX16—50 87 17 40 38 3.8 8
HSK50AX 18—80 105 54 24 — 50 50 M14X2.0 HSK40AX22—60 99 19 40 47 4.8 10
HSK50AX20—80 105 54 25 — 50 52 M16X2.0 HSK40AX27—60 101 21 40 58 5.8 12
HSK63AX6—65 97 39 18 — 63 25 MBX1.0 HSK40AX32—60 104 24 40 66 6.8 14
HSK63AX8—65 97 39 18 — 63 28 M8X1 .25 HSK50AX 16—50 92 17 50 38 3.8 8
HSK63AX10—65 97 39 20 — 63 35 M10X1.5 HSK50AX22—60 104 19 50 47 4.8 10
HSK63AX12—80 112 54 22.5 — 63 42 M12X1.75 HSK50AX27—60 106 21 50 58 5.8 12
HSK63AX14—80 112 54 22.5 — 63 44 M12X1.75 HSK50AX32—60 109 24 50 66 6.8 14
HSK63AX16—80 112 54 24 — 63 48 M14X2.0 HSK63AX16—50 99 17 63 38 3.8 8
HSK63AX18—80 112 54 24 — 63 50 M14X2.0 HSK63AX22—50 101 19 63 47 4.8 10
HSK63AX20—80 112 54 25 — 63 52 M16X2.0 HSK63AX27—60 113 21 63 58 5.8 12
HSK63AX25—110 142 84 24 25 63 65 M18X2.0 HSK63AX32—60 116 24 63 66 6.8 14
HSK63AX32—110 142 84 24 28 63 72 M20X2.0 HSK63AX40—60 119 27 63 82 8.3 16
HSK 100AX6—80 130 51 18 — 100 25 MBX1.0 HSK100AX22—50 119 19 100 47 4.8 10
HSK 100AX8—80 130 51 18 — 100 28 M8X1 .25 HSK100AX27-50 121 21 100 58 5.8 12
HSK100AX10—80 130 51 20 — 100 35 M10X1.5 HSK100AX32—50 124 24 100 66 6.8 14
HSK100AX12—80 130 51 22.5 — 100 42 M12X1.75 HSK 100AX40—60 137 27 100 82 8.3 16
HSK100AX14—80 130 51 22.5 — 100 44 M12X1.75 HSK100AX50—70 150 30 100 95 9.7 19
HSK100AX16—100 150 71 24 — 100 48 M14X2.0
HSK100AX18—100 150 71 24 — 100 50 M14X2.0
HSK100AX20—100 150 71 25 — 100 52 M16X2.0
HSK100AX25—100 150 71 24 25 100 65 M18X2.0
HSK100AX32—100 150 71 24 28 100 72 M20X2.0
HSK 100AX40—100 150 71 30 32 100 90 M20X2.0

74 FANGZHENG TOOL FANGZHENG TOOL e}




w7 F R 3 w7 F & 3

MILLING ARBOR SERIES MILLING ARBOR SERIES EECVE

ZY—-30062 HSK (A#Y) ;BE&¥ENIX$LJI#F COMBI-SHELL END MILL HOLDER ZY—30064 HSK (A#Y) FI-{£E MORSE TAPER ADAPTER

25 - 25
&2 = 2
g2 =y ot
B2 — mm B2
#IE Model No.
L L2 D d1 d2
L HSK . AXMS—L1
HSK50AXMS1—100 125 74 50 25 12.065
mm HSK50AXMS2—-120 145 94 50 32 17.780
HSK50AXMS3—140 165 114 50 40 23.825
FIZ2 Model No.
L L2 D d1 HSK63AXMS1—100 132 74 63 25 12,065
HSK . AXd—L1
HSK63AXMS2—120 152 94 63 32 17.780
HSK50AX16-50 92 17 50 32
HSK63AXMS3—140 172 114 63 40 23.825
HSK50AX22—50 94 19 50 40
HSK63AXMS4—160 192 134 63 48 31.267
HSK50AX27—65 11 21 50 48
HSK100AXMS1-110 160 81 100 25 12.065
HSK50AX32—-65 114 24 50 58
HSK100AXMS2—120 170 91 100 32 17.780
HSK63AX16—60 109 17 63 32
HSK100AXMS3—150 200 121 100 40 23.825
HSK63AX22—-60 m 19 63 40
HSK100AXMS4—170 220 141 100 48 31.267
HSK63AX27—60 113 21 63 48
HSK100AXMS5—200 250 171 100 63 44399
HSK63AX32—60 116 24 63 58
HSK63AX40—70 129 27 63 70
HSK100AX22—60 127 17 100 32
HSK100AX27—-60 129 19 100 40
HSK100AX32—60 131 21 100 48
HSK100AX40—-60 134 24 100 58
HSK100AX50—70 147 27 100 70
HSK100AX50—80 160 30 100 90

76 FANGZHENG TOOL FANGZHENG TOOL 77




REFOHRI REFOHRI

PRECISION VISE SERIES PRECISION VISE SERIES

BT E¥O% THE PRECISION TOOL VISES ZY-70006 #EZ4HAEFO5H PRECISION MODULAR VISES
1. RFAMREEEHNEE, T/EmaEEHRCS8 ~ 62 1. Made of high—quality alloy steel.The hardness of
2. 3E4TFE0.005mm /100mm  FEEH E0.005mm working surface reaches HRC58 ~ 62
3. kXM, BIERTE 2. Parallelism 0.005mm_/100mm S
e L e LD squareness 0.005mm —7 N e
5. ETIEM I, B, EREARFSNEEE 3. Quickly to clamp and easy to operate o
4. Used for precision measurement and in spection —
precision grinding,EDM and wire—cutting machine -

5. Guarantee high accuracy in any position

ZY—70002 QGG ZFEZTET 4 PRECISION TOOL VISES © o JEN
— e | B H o | Smax | L K o0 -
g Model No.| mm mm mm mm | Wt(kg) — W5
Eé) QGG50 50 25 65 155 3.0 Eg
&3 e
B QGG60 60 25 55 110 2.4 Ae 5 H S ] B4R 7 (Ka) B
QGG63 63 32 85 190 3.8 Model No. mm mm mm mm Clamping force
QGG73 73 35 100 210 5.0 GT100— | 100 30 100 270 3000
QGGeo 80 40 100 220 6.5 GT125— | 125 40 150 345 3000
Sno 0 QGGss 88 40 125 250 1.0 GT150A— | 150 50 200 420 5000
QGG100 100 45 125 260 13.0
. =] ) GT150B— | 150 50 300 520 5000
QGG125 125 50 160 300 19.5
— _IHL GT150C— | 150 50 400 620 5000
L QGG125A | 125 50 210 350 23.0
GT175A— 17 6 2 4 6
QGG150 150 50 175 315 23.8 A~ 1 > 0 00 > 000
GT175B— | 175 60 300 555 6000
ZY-70004 QKG ZRFfFZTEF[O%E PRECISION TOOL VISES GT175C— | 175 60 400 655 6000
GT175D— 175 60 500 755 6000
Fill =) B H Smax L =2 I
Model No.| mm mm mm mm Wt (kg) GT175E— | 175 60 600 855 6000
QKG25 26 8.15 22 65.4 0.5 GT200A— | 200 65 200 495 10000
QKG3e 36 20 40 100 1.2 GT200B— | 200 65 300 595 10000
QKGs8 38 20 44 105 1.3 GT200C— | 200 65 400 695 10000
QKG50 50 25 65 140 2.0
GT200D— | 200 65 500 795 10000
QKG63 63 32 85 175 3.0
GT200E— | 200 65 600 895 10000
QKG73 73 35 100 190 4.1
KGO - " 00 200 — GT300A— | 300 80 200 535 12000
. OKGEs g8 0 125 35 73 GT300B— | 300 80 300 635 12000
QKG100 100 45 125 245 100 GT300C— | 300 80 400 735 12000
= Q QKG125 125 50 160 285 18.0 GT300D- | 300 80 500 835 12000
—— QKG150 150 50 200 330 21.5 GT300E— | 300 80 600 935 12000
s B QKG150A | 150 50 250 380 23.0 GT300F—- | 300 80 700 1035 12000
QKG1508 | 150 50 300 430 24.0 GT300G— [ 300 80 800 1135 12000

7’8 FANGZHENG TOOL FANGZHENG TOOL 79




REFOHRI REFOHRI

PRECISION VISE SERIES PRECISION VISE SERIES

ZY—70008 ZXQGG ZF|}EZIFZ TEFE 4 PRECISION SINE TOOL VISE ZY-70011 THKEREIFEAHEFOH
QUICK ACTION PRECISION MODULAR VISES WITH SWIVEL BASE

1. RAMRAEEHMEIE, SPNIBEHEZEY], F{780.005mm/100mm, ZFEHEO.005mm
2. FMAEZRE, TRATAREEHISE
1. Made of high—quality alloy steel,after heat,precision ground,parallelism 0.005mm/100mm, squareness 0.005mm
2. Available inspecting angles and processing workpices with angle B—
meéf 4
. . o000
.~ 7
L
‘ = o
| ]
E == To
Lt @@@
- L J @ EXin
00
@6 >
=g RE B H Hi Smax L L1 R A EEE R
=0 Model No. mm mm mm mm mm mm in Adjustable angle range =0
= =
Egg ZXQGG50 50 25 86.6 60 140 4 e 5 H S i A3 7 (Ka) r:_sg
] = max mARH g Ml
e ZXQGGe3 63 32 34.6 85 175 Model No. mm mm mm mm Clamping force =
ZXQGGT73 3 % m 9% 190 100 GT125—1V 125 40 150 345 3000
ZXQGG80 80 40 121 % 200 5 0~45° GT150A—]V 150 50 200 420 5000
ZXQGGes 88 40 125 120 235 GT150B—[V 150 50 300 520 5000
ZXQGG100 100 45 139.2 125 245 GT175C—[V 175 60 400 655 6000
ZXQGG125 125 50 154 .2 160 285 200
ZXQGG150 150 50 160.9 190 330 200 10
ZY—-70010 ZXQKG RIFEZIEZ T EFEO5H PRECISION SINE TOOL VISE
i
- ' j
i Ea|
A= B H Hi Smax L L1 R AETEE
Model No. mm mm mm mm mm mm in Adjustable angle range
ZXQKG50 50 25 79.36 65 140 4
ZXQKG63 63 32 92.36 85 175
ZXQKG73 73 35 104 100 190 100
ZXQKG80 80 40 117 100 200 5 0~ 45°
ZXQKG88 88 40 122 125 235
ZXQKG100 100 45 134.08 125 245
ZXQKG125 125 50 144 .08 160 285 200
ZXQKG150 150 50 150.9 200 330 200 10

S0 FANGZHENG TOOL FANGZHENG TOOL &1




REFOHRI REFOHRI

PRECISION VISE SERIES PRECISION VISE SERIES

ZY=70012 HIREREHSFOH ZY-70016 ZY83RUEs WEZEAFMO4H SINGLE & DOUBLE ACTION VISES

PRECISION MODULAR VISES WITH SWIVEL BASE
. RAKREE&MEHAIE, TIEHEEEHRC58~62

E4TE0.005mm /100mm , FEH 0. 005mm
BIF{ER @A, XAER@EMA, (FREMHNEFTERKNFOE

JTZRTFmMIfl, BizgtER. =K. $tK. BREVK
Produced of high quality steel, carburized to surface hardness; HRC58 ~ 62

Parallelism 0.005mm /100mm, squareness 0.005mm

It can quickly change from double vise to single vise with very large opening

%/% . It is widely used on machining center and other precison machine tools
ol a

(oo} o @% BE3*kXZ%| Single large opening | St
oo . TEC1

A WO DN = B ODN =

o
=
o
i}
o
Ll
e
=
=
o
e
o
L
o
o

=
2
=]
£
&
82

R
&
£
|
Br
&3
3z

PRECISION VISE SERIES

S B H Smax L mARE S (Kg) — -
Model No. mm mm mm mm Clamping force WEEERF] Double opening
GT100— 1] 100 30 100 270 3000 = =
GT125— 1] 125 40 150 345 3000 s H [ L ECte
GT150A— ]| 150 50 200 420 5000 L
GT150B— ]| 150 50 300 520 5000 N 00 N
GT150C— ] 150 50 400 620 5000 @@F;E ) {%% )
GT175A—11 175 60 200 455 6000
GT175B—1I] 175 60 300 555 6000 iTEme S TEme S5 B H L
GT175C—-11I 175 60 400 655 6000 Order No. mm Order No. mm mm mm mm
GT175D—1I 175 60 500 755 6000 ZY700100 290 ZY700100( 1) 2X90 100 30 460
GT175E—1] 175 60 600 855 6000 ZY700125 320 ZY700125( 1) 2X100 125 40 520
GT200A—] 200 65 200 495 10000 ZY700150 360 ZY700150( 1) 2X110 150 50 580
GT200B— II 200 65 300 595 10000 ZY700150A 460 ZY700150A( I ) 2X160 150 50 680
GT200C—1I 200 65 400 695 10000 ZY700175 400 ZY700175( 1) 2X120 175 60 666
GT200D— 1] 200 65 500 795 10000 ZY700175A 500 ZY700175A( 1) 2X170 175 60 766
GT200E—1]] 200 65 600 895 10000 ZY700175B 600 ZY700175B( 1) 2X220 175 60 866
GT300A—1I 300 80 200 535 12000 ZY700175C 700 ZY700175C( 1) 2X270 175 60 966
GT300B—1I 300 80 300 635 12000 ZY700200 500 ZY700200( 1) 2X150 200 65 805
GT300C—1I 300 80 400 735 12000 ZY700200A 600 ZY700200A( I ) 2X200 200 65 905
GT300D—1I1 300 80 500 835 12000 ZY700200B 700 ZY700200B( 1) 2X250 200 65 1005
GT300E—1]] 300 80 600 935 12000 ZY700200C 800 ZY700200C( T ) 2X300 200 65 1105
GT300F—1I 300 80 700 1035 12000 ZY700200D 900 ZY700200D( T ) 2X350 200 65 1205
GT300G— ]| 300 80 800 1135 12000

82 FANGZHENG TOOL FANGZHENG TOOL 83




31 H X Z 5

CENTER SERIES CENTER SERIES

CARBIDE HALF—NOTCHED CENTER

ZY—40002 [E|ETL DEAD CENTER \ZY—40006 WREEF IR

__ MS.NO
__MS.NO =
S — o \ =
()
60° ] =
L L
Bs D L = BE = = &
MS.NO. B h h D L 2 B
Madsl No. mm mm Wi(kg) Accuracy (mm) Model No. MS.NO. mm mm mm mm Wt (kg) Accuracy (mm)
el MST 12.065 80 0.057 DHE1 MS1 1.5 5.5 12,065 80 0.06
bG2 MS2 17.780 100 0.1%0 DHE2 MS2 2 6 17.780 100 0.15
bG3 MS3 23.825 125 0.334 DHE3 MS3 3 9 23.825 125 0.34
o 0.010 "
RE DG4 MS4 31.267 160 0.746 DHE4 MS4 5 12.5 31.267 160 0.7 0.010 RE
Lj}% DGS MS5 44.399 200 1.862 DHES MS5 7 16 44,399 200 1.78 K
=3 bae MS6 63.348 270 4.925 DHES MS6 10 22 63.348 270 5.00 =g
b&7 MS7 83. 061 360 8.620 DHE7 MS7 12 24 83.061 360 8.30
ZY—40004 FERTmZe HALF—NOTCHED CENTER
= ZY—40008 FEES4TRZ CARBIDE CENTER
S NO
6. 60°
e —
— — <> 5
- - L
L
UL MS NO D h L - YR B MS NO D L d di = R
Model No. . mm mm mm Wit (kg) Accuracy (mm) Model No. T mm mm mm mm Wt (kg) Accuracy (mm)
DH1 MS1 12,065 7.6 80 0.057 DE1 MS1 12,065 80 12.2 8 0.057
DH2 MS2 17.780 11 100 0.150 DE2 MS2 17.780 100 18 8 0.151
DH3 MS3 23.825 15.05 125 0.334 DE3 MS3 23.825 125 24 1 12 0.335
DH4 MS4 31.267 20.8 160 0.746 0.010 DE4 MS4 31.267 160 31.6 15 0.746 0.010
DH5 MS5 44 399 29.35 200 1.862 DE5 MS5 44 399 200 44 .7 18 1.826
DH6 MS6 63.348 41.9 270 4,925 DE6 MS6 63.348 270 63.8 24 5.230
DH7 MS7 83.061 53.78 360 8.620 DE7 MS7 83.061 360 83.555 24 9.190

84

FANGZHENG TOOL

FANGZHENG TOOL

85




CENTER SERIES

ZY—40010 M11 BUfE=R[E4ETnse PRECISION LIVE CENTER

= NS MO,
o o] oL ' | 2]
Uf : T o~ .
\
L )
L L1
L
Bs MS. L D L1 d D1 | \KRETET (kg) | HRPR¥ZE (rpm) | #5FE (mm) - - - - ‘
Model No. | NO, mm mm | mm mm mm Max Load Max Speed Accuracy ey MS. L L1 D D1 d FmEE(N) | #RRERE (rpm) £ |HHE(mm)
Model No. | NO. | mm [ mm | mm | mm mm | Max Radial Load | Max Speed |Wt(kg)| Accuracy
M11 /101 MS1 124 36 27 15 12,065 80 7000 0.01
M11/102 NS2 139 15 2 20 17 780 120 2000 0 005 D411 MS1 | 115 20 34 [12.065| 18 900 5000 0.29 0.01
/ . : D412 MS2 | 145 26 45 |17.780| 25 1500 5000 0.70 0.01
_g M11,/108 | MS4 217 70 53 32 | 31.267 500 3800 0.005 D414 MS4 | 205.7 | 34.7 | 60 |[31.267| 32 3200 3200 1.70 0.01 _a
@% M11,/110 MS5 273 90 65 40 | 44.399 1200 3000 0.005 D415 MS5 | 254 45 77 |44.399| 45 6300 2400 3.39 0.015 @ i
& D411L MS1 125 30 34 [12,065| 18 900 5000 0.31 0.01 &
D412L MS2 | 155 36 45 |17.780| 25 1500 5000 0.74 0.01
D413L MS3 | 183 43 52 [23.825| 28 2000 4200 0.99 0.01
ZY—40012 #E=4LHY jZe PRECISION LIGHT—DUTY LIVE CENTER
;ﬁ%&' EIE: IEI%L“K D414L MS4 | 222 51 60 |[31.267| 32 3200 3200 1.80 0.01
D415L MS5 | 272 63 77 |44.399| 45 6300 2400 3.62 0.015
D416L MS6 | 382 |[88.5| 125 [63.348| 75 10000 1600 12.69 0.015
L1
| ZY-40016 FEES4SHEIEMETL CARBIDE MEDIUM—DUTY LIVE CENTER
7L
i B - —[60° >0 O
Y %’ s
HS. NO.
< 54 et i .
L
- MS, NO.
Lt
o A M L
Bs MS. L D L1 d D1 ZEEHE(N) | RPREEIE (rpm) | #5EE (mm)
Model No. | NO. mm mm | mm mm mm | Max Radial Load Max Speed Accuracy
DM311 MS1 115 34 | 20.3 18 | 12.065 320 5000 0.005 FiE= MS. L L1 d D D1 di BEAREHET(N) | ARPREEE (rpm) | $5EE (mm)
DM312 MS2 | 129.6 | 45 28.6 25 17.780 400 5000 0.006 Model No. [ NO., | mm | mm | mm | mm mm mm Max Load Max Speed Accuracy
DM313 MS3 | 161.7 | 52 | 32.5 28 | 23.825 800 4500 0.006 D412A MS2 | 145 26 25 45 | 17,780 | 12 1500 5000 0.010
DM314 MS4 191.7 | 60 36.5 32 31.267 1250 3500 0.006 D413A MS3 | 170 30 28 52 23.825 15 2000 4200 0.010
DM315 MS5 | 2445 | 80 50.8 45 44 399 1500 3000 0.006 D414A MS4 | 205.7 | 34.7 32 60 31.267 18 3200 3200 0.010
DM316 MS6 | 350.5 | 130 | 74.8 75 63.348 1800 2500 0.006 D415A MS5 | 254 45 45 77 44 399 24 6300 2000 0.015
DM317 MS7 | 423.5 | 130 | 74.8 75 | 83.061 2200 2000 0.006 D416A MS6 | 362 | 68.5| 75 125 |63.348 | 40 10000 1600 0.015

56

FANGZHENG TOOL

87

FANGZHENG TOOL




VA AY

x

%2 3

3l In

CENTER SERIES CENTER SERIES

ZY—-40018 SiEfHAEEE TS

HIGH—SPEED MEDIUM—-DUTY MULTI—-PURPOSE LIVE CENTER

\ ZY-40022 REZERIEHETRLE PRECISION HEAVY LIVE CENTER

D _MS.NO -
| -
b R s s
L
MS. NO
el I 4
l_lvaeo BMES |MS.| L D | L d D1 ZmEE(N) | RR¥EE(rpm) | EE |#5E (mm)
Model No. |[NO, | mm | mm | mm | mm mm | Max Radial Load Max Speed |Wit(kg)| Accuracy
b E F DM511 | MS1 |109.6| 38 | 18.5 | 16 |12.065 1400 3600 0.29 | 0.008
DM512 | MS2|128.5| 48 | 24 | 22 |17.780 3500 3400 0.39 | 0.01
m S Model No. MS.NO. D mm D1 mm L1 mm L mm DM513 | MS3| 156 | 58 | 28.5 | 25 |[23.825 5500 3200 1.09 | 0.01 ”
@g HD432 MS2 48 17.780 69 127 DM514 | MS4 |192.5| 68 | 31.5 | 28 |31.267 8000 3000 1.69 | 0.01 e
a~n: =~5
g HD433 Ms3 54 23.825 86 153 DM515 | MS5| 245 | 90 | 45 | 41 |44.399 10000 2500 4.00 | o012 [
= HD434 Ms4 63 31.367 109 182 DM516 | MS6 [ 342.5| 130 | 64 | 63 |[63.348 15000 1500 11.61 | 0.015 =
HD435 MS5 83 44399 136 217
A B c D E F
MS.NO.
L|D|L|D L|D|d|L|DJ|]d|L|D L | D
2 26 |10.2|28.5[10.2 29 (10.2| 6.5 [27.5[10.2 25 [10.2 30 | 28
3
p 32 |12.75 35 [12.75| 10 | 36 [12.75| 8 | 34 [12.75| 6 | 31 [12.75] 10 | 37 | 34
5 39 |15.7| 44 [15.7| 12 | 45 |[15.7| 10 | 42 |15.7| 8 | 43 [15.7| 12 | 48 | 40
ZY—40020 rREIEEETRLS (AN4EE!) MEDIUM—DUTY LIVE CENTER(EXTENDED)
{>MS,NO
60 _
- 4.& s
[}
L
#UI-S Model No. MS.NO, L1 mm D mm D1 mm D2 mm L mm F8 Wi(kg)
D412B MS2 28.5 40 17.780 18 141 0.84
D413B MS3 36.5 45 23.825 22 168 0.91
D414B MS4 36.5 45 31.267 22 190 1.62
D415B MS5 62 78 44399 40 267.5 3.43
D416B MS6 75 102 63.348 50 346.5 1

88

FANGZHENG TOOL

FANGZHENG TOOL

59



» E 3k & 3

INDEX FIXTURE SERIES

n» E k R 5
INDEX FIXTURE SERIES

ZY-50002 5C M755FFE 5C COLLET BLOCK SET

44,45

\SACE,

70

FEHARSE Main Technical Parameter

4. R~T Outer size(in)

FMAE Square for 5C collets

1-3/4Xx1-3/4%x2-3 /4

F3LNHE Hex for 5C collets

1-3/4%x1-3/4X1-3/4X2-3 /4

REFZ A4 Quick acting lever collet closer

1-11 /16 x 4

B8 Wi(kg)

1.41kg

RAXEERBERHNAE. M FE. 1HREXZFRNGHEE

Complete set in wooden case consists of one square block,one hex block,one handle and one collet close

ZY-50004 5C s£H 5C FIXTURE

R
NG
=X
X
R

@
o
ol
o
w
(o
=
=<
[
>
Ll
o
=

e
L
#UZ Model No. 3911-125-5C—-00
Round [E|FL 1~28mm 3/64"~1-1/8"
%ﬁ:;ﬁﬁ mn n
; Square [5FFL 3~19mm 1/8"~3/4
Clamping rang
Hex 75HFL 3~22mm 1,/8"~7/8"
D (mm) 126
Do (mm) 95
L (mm) 107.2
== Wi(kg) 4.5

ZEBESCRAES, ARBFARERNIRSRIHY, ARETER, ERRECERREL, BARERS, BFA

&, ERRE, XEFEFMHS.

5C collet is fit for this device,which can clamp tool or workpiece with different diameter and figure.It can be fixed

on lathe, grinder and other special equipment, with such features as high precision,easy operation,safe application,strong

clamping, etc

90 FANGZHENG TOOL

‘ZY—50006 PF70/5C g5 4}EEsL PF70,/5C SPIN INDEX

g

70

236

A2 Model No. PF70,/5C
Hu\E Height of centre 70mm 2-3/4"
TR EEBES) Radial run—out of spindle outer taper 0.010mm 0.0004"

EH O FLIR ) B B3 (BEEHh5%H25mm /0. 98" &%)

. . " 0.03mm 0.0012"
Radil run—out of center hole(measured from spindle nose 25mm_/0.98")

Fih LI EERIESTE Parallelism of centre line of spindle to base surface 0.02mm 0.0008"
BN EES EFRE Individual spacing dividing accuracy +4'

A ELTIABRMER, ATl 5PF70/5CTREEMERM (FHRMITE),

This unit can be used separately or to complete a set with PF70,/5C type centre(purchased specially)

ZY—50008 PF100B,/5C x7BpZE4)4y Rk
PF100B /5C HORIZONTAL VERTICAL COLLET INDEX

&8
0
i}
(7]
w
o
E
ey
><
N}
o
=

=
N2
=
X
R

100

#I= Model No. PF100B /5C
(& Height of centre 100mm 3-15/16"
F i 8B4r Thread of spindle nose 2.25"—8

PR B B3 (BE E 3%k 25mm /0. 98" &)

Radial run—out of center hole of spindle(measured from spindle nose 25mm/0.98") 0.02mm 0.0008

Fipth S S A E IR E SN End surface run out of the spindle’ s support shoulder 0.01'mm 0.0004"
T EERIF{TE Parallelism of centre line of spindle to base surface 0.02mm 0.0008"
BNE g EIRE Dividing accuracy individual spacing error +3'
1. AI#4T2, 3. 4. 6, 8, 12, 4EHHNE, KFHNEREAOLBEFSRAMER, BER)N, EEE, BEWA,

2. AOSEXMEMER, A SPR00TKRESER (FHRMITHE).

1. With indexing specifications of 2. 3, 4 6 8 12 and 24 indexes.It has operational and vertical applications
and has such unique properties as smaller dimension lighter in weight, durable high strength.
2. This unit can be used singly also can complete with PF100 center(purchased specially) .

FANGZHENG TOOL 91




» E Xk & 5 ) &/ X T S

INDEX FIXTURE SERIES CUTTING TOOL REGENERATION T00L ZEOVE

ZY-500010 F12BFFAESRESk  SEMI-UNIVERSAL DIVIDING HEAD ZY-5A001 FA—$HKHEHL Five unity Drill Re—sharpener
EHEENTELEHSHNSEHL, AIHTEE. BENS .2 Model, F1—20

B, TRE. #&. SHWNI, FHEG, BRFEH5R
RESYEESLAR]. B ERRET 247555 BER T IUHT
2,3, 4,6, 8, 12f024Z%HHE, & 3N EES
BEEAHT 2 ~50% 5 K51 ~ B8ORWEHFHE.

Semi—Universal dividing head is a simple type of univer—
sal index center and can be used for direct and indirect
dividing.No accessories for the differential dividing and
spiral work are included,but the whole construction of the
dividing head is identical with the universal type.The di—
rect index plate of 24 holes allows the direct dividing in
2. 3. 4, 6, 8_ 12 and 24 three plates in the standard
accessories make the indirect dividing possible in any number
from 2 to 50 and in certain numbers up to 380, e RS

Product advantages

1. AR ©3— D 20R)E@ARIL S, AT LARRE IO,

2. A& ©4— D 20H95TL L 54 s

3. AT BE D 4— D 201 AR S ;

[ 2] 4. T D 4— D 204 B FC RRAE S

5. MEMR, MERMIFLRREE, HALNES, EAFWK.
Applicable to twist drills (®3—®20) and center drills re—sharpening.

usuay
il
i

2R 0

Hi

oooooooooo

i
o
ol
[72]
w
(o
D
=
[ .
2
[=)
=

R
N&
=
i
R

3
(14

L4 Applicable to ©4—®20 plate drills and counter bore drills re—sharpening.
Applicable to ®4—®20 Zhou drills re—sharpening.

Easy to handle, High precision, normatively re—sharpening.

pury
(=3
S
=2
=
S
=
&=
==
==}
()
==
=
(=3
S
f=3
2
=
=

=
H
=
@m
R

4y FE3L. SEMI-UNIVERSAL DIVIDING HEAD

1% %54 Product Parameter
s FHEFL | MK | EE(kg) T —
Model No. A B H h 2 b 9 | spindle hole|  Chuck N.W g5 F1-20
SR FRAERRTESE BRI EiRES LFLEE
F12100 193 131 173 | 100 | 166 | 90 16 MS3 100 21 T To20 070 dl>4 % (;4 20
E SR O3 D4 - -
F12128 254 175 | 200 | 128 | 210 | 114 16 MS4 130 36 BASLERE
ke (i) SHE 90° ~150° 90° ~150° 170° ~180° 170° ~180°
BEEETS TAIL-STOCK ERWEEE 0° ~12° 0° ~12° 0° ~12° 0° ~12°
me RS D20CBN150 F1CBN150B1 F1CBN150B1 F1CBN150CT
Model N A1 B1 H1 h al b1 g1 -
odel No. RiR 220V + 10%AC
F12100 193 131 173 100 166 90 16 Ok I = 250W
F12128 254 175 220 128 210 114 16 i 5000 rpm
3P4 R EEFLEL Number of holes dividing plate A,B,C BEIB R 350X160X180(mm)
Plate A 15 16 17 18 19 20 REEE 20KG
Plate B 21 23 27 29 31 33 Y HEEREIE $ 3.5~ ¢ 20mm(18pcs) . FNAIF2.5mm=1pcs,bmm=1pes, FELH+24H . =4
Plate C 37 39 41 43 47 49 =/

92 FANGZHENG TOOL FANGZHENG TOOL 93




A NEFENS

EOVe CUTTING TOOL REGENERATION TOOL

) &/ X T S

CUTTING TOOL REGENERATION T00L

ZEBeVvVe

ZY—5A002 EhLtHEEH1Z % Drill Re—sharpening Machine

#U-=5-Model ;
DRM—13(P3—D13)
DRM—20( P 3—P20)
DRM—50( P 13—P50)

BhELILAA «
SOCRI R E A FHREBEREETIA, CBNURER THESENTIA
Grinding wheel; SDC wheels used for tungsten carbide tools, CBN wheels used

for high—speed steel tools.

ZY—-5A004 $ETIEHEEHLZ 5] End mill Re—sharpening Machine

3
1+

i

94 FANGZHENG TOOL

s =
i EFihsk TR EN ISR o T B BN A X 5 20
S mE
=c 0 14 &k 5 - - ==

FEmINEER R 3L A AEF it TR e Ge ik TR S,

Product advantages SEE T RIRIE, TIVIEMIAI, XITI5ME. BERETIY), FERIRERERARTITISE.

| AR RS & RS E NIk WERE FREEREE 0. Ol A, EREHIE. | EBERE, HmmINEngR.

2. TREBESHLERALAVIHIT] . I RIEHA: ATLURIE I AR ARG, EEMERRTIRE . ,

3RMERIS, (EMTAMMAELE20 P TERBIE FRENRHHER  woien motsemybses, mImm. | oo mm O IRERIER.

4 FREBRESFOSEE, SHLNES, ERFWK; = o I o ‘ -

5 MERNESHII—B. TIx%Fe, ERAES® | FTRERKIIMBRIIRE—#, TNRaERE
5. TRIBHEIRR, MHTARE (90° —150° ) | RAME (0° —12° ) MEETHEE, WRRANES | T =T e ) =
o I ks K. B]X.

6. S L KRR, - SR SN Lok .

1.Applicable to tungsten carbide and high—speed steel drills re—sharpening. i —RURASARERETIRME, HELE | FERDERIATEATIIME, FELE

2 .Grind rear inclined angle, cutting edge and chisel edge. =i 1.

3.Easy to handle, grind one piece need no more than 20 seconds. [ i LTHERBHRERE, LRFERASGAA2 | BIEREG—RABIE2TF /T, BWEHF1-2

4 High precision, normatively re—sharpening. AN, RERHEOMRALC r#REZEN G EERIFEN. XAMERL, FEFNR

5.Apex angle can be adjusted from 90° to 150° , rear inclined angle from 0° to 12° according to materials BT, FEEHAEEHH, R, BEERTHI,

to be processed.

6.Length of drill to be grinded has no limitation.

FANGZHENG TOOL 95



# X R 3 # %X &R 3

HEOVE BORING HEADS SERIES BORING HEADS SERIES EEOVO

_ 1
ZY-60002 F1 EI$%JJ4% TYPE F1 BORING HEADS A=3/4" fiShank A=18mm #gShank
= =
y FI2 Model No. 5 c 5 FIZ2 Model No. 8 c 5
BB Wi mm mm mm 5253 Wi mm mm mm
Case lIron Steel Case Iron Steel
375—1612 | 375-1616| 3—1,/8 | 1-1/8 7/16 375-3524 |375-3528| 3-1,/8 | 1-1/8 7/16
° 375—1622 | 375—1626 | 3—11,/16 | 1-11/16 | 7/16 375-3534 | 375—3538 | 3—11/16 | 1-11/16 | 7/16
375—1632 |375—1636| 4—1/4 | 2-1/4 7/16 375-3544 |375-3548| 4—1/4 | 2-1/4 7/16
N 375—1642 | 375—1646 | 3—1,/2 | 1-1/2 9/16 375-3554 |375-3558| 3—1,/2 | 1-1/2 9/16
B £ D | H BAME | IFERd | BOWEE HHIER / 2| Y / 2| ¥
Model No. mm mm Max offset Boring bor dia Min graduation Dia of Bring 375—1652 | 375—1656 | 4—1/4 2—1/4 9/16 375—3564 | 375—3568 | 4—1/4 2-1/4 9/16
F1-1/2 50 61.6 5/8" 1/27 0.001" 3/8"—5" 375—1662 | 375—1666 5 3 9/16 375—3574 |375—3578 5 3 9/16
F1-3/4 75 | 80.2 1 3/4" 0.0005" 1/2"-9" 375-1672 | 375-1676 | 3-7/8 | 1-7/8 | 11,16  375-3584 |375-3588| 3-7,/8 | 1-7/8 | 11/16
F1—1 100 93.2 1-5/8" 1 5/8"—12.5"
375—1682 | 375—1686 | 4—13/16 | 2—13/16 | 11/16 375—-3594 | 375—3598 | 4—13/16 | 2—13/16 | 11/16
F1-12 50 61.6 16mm 12mm 10—125mm
F1—18 75 80 2 25rmm 18mm 0.01mm P 375—1692 |375—1696 | 5-3/4 | 3-3/4 | 11/16 375-3614 |375-3618| 5-3/4 | 3-3/4 | 11/16
F1—25 100 93 2 41rom 25rmm 15—320mm 375—1702 |375—1706 | 4—1/4 | 2—-1/4 | 13/16 375—3624 |375-3628| 4—1/4 | 2—1/4 | 13/16
375—1712 | 375-1716| 5-3/8 | 3-3/8 | 13/16 375-3634 |375-3638| 5-3/8 | 3-3/8 | 13/16
2 T =4 TRIT I The borer is to be purchased specially
375—1722 |375-1726| 6-1/2 | 4-1/2 | 13/16 375-3644 |375-3648| 6-1/2 | 4-1/2 | 13/16
ZY—60004 S&$2J]4F CARBIDE TIPPED BORING BARS 375-1602 | 3751606 | PALTZFEARIE 12 Piece set  55p oy | 575 g50g| MALTZHFEAIE 12 Piece set
of above \ wooden stand of above \ wooden stand
c 375-1732 | 375—1736 | CALIZIFEERFE 12 Piece set  oop onyy | 975 g5g | ALTFREEIE 12 Piece set
[ of above \ plastic stand of above \ plastic stand

A=1" ##Shank A=25mm ##&Shank
B
12 Model No. 12 Model No.
s . ; s ]~ . ;

@ —_ 4 —_ g mm mm mm g mm mm mm it}
R A=1/2" AfShank A=12mm ##Shank Case lIron Steel Case lIron Steel R
ﬁﬁ% EI=S Model No. B c D ZI= Model No. B C D 375—1812 |375—1816 5 3 9/16 375-3732 | 375-3736| 127 76.2 14.8 ,,‘i
82 ol

g oS Wit mm mm mm 2 W mm mm mm 375-1822 [375-1826| 5-3/4 | 3-3/4 | 11/16 375-3742 |375-3746| 146 95.2 18 g

Case lIron Steel Case lIron Steel
375—-1212 | 375-1216 | 2—1/4 3/4 5/16 375-3212 | 375-3216| 57.15 19 7.9 375—1832 | 375—1836| 6-1/2 | 4-1/2 7/8 375—3752 | 375—3756 165 114.3 22.7
375—1222 | 375—-1226 | 2-5/8 1-1/8 5/16 375—-3222 | 375—3226 66.6 28.5 7.9 375-1842 |375—1846 | 6—1,/2 4—1/2 1-1/16 375—3762 | 375—3766 165 114.3 27.5
375—1232 |375—1236 3 1-1/2 5/16 375—3232 |375—3236| 76.2 38.1 7.9
375-3772 | 375-3776| 196.9 1461 31.75
375_1242 |375-1246 | 2-5/8 | 1-1/8 | 7/16  375—3242 |375—3246| 66.6 28.5 1.1 375-1852 | 375-1856 | 7-3/4 | 5-3/4 | 1-1/4
375—1252 |375-1256 | 3—-3/16 | 1-11/16 | 7/16 375—3252 |375—3256| 80.9 42.8 1.1 375-1862 | 375-1866| 8—1/4 | 6-1/4 | 1-1/12 375-3782 | 375-3786 | 209.6 158.8 38.6
375—1262 |375-1266 | 3-3/4 | 2—1/4 7/16 375—3262 |375-3266| 95.2 57.15 1.1
/ / / 375—1872 |375—1876 | 9—1/2 7-1/2 1-5/8 375—-3792 | 375—3796 241.3 190.5 41.8
375—1272 | 375—1276 3 1—1,/2 9/16 375-3272 |375-3276| 76.2 38.1 13 I LTRERE 7T —
. H | (o)
375-1282 |375-1286| 3-3/4 | 2-1/4 | 9/16 375-3282 | 375—-3286| 95.2 57.15 13 3751802 | 375—1806 | AL7HFEARIE 7 Piece set of 375 4002 | 375-4006 ece se
375-1292 | 375-1296 | 4—1,/2 3 9/16  375-3292 |375-3296| 114.3 76.2 13 above \ wooden stand bove \ wooden stand
— — — - — — : . - M E7HELEIE 7 Piece set of L E7{4ELEFE 7 Piece set of
y . - - 375-5002 |375—5006 .
375—1202 |375—1206 ML ESHEARIE 9 Piece 375—3202 |375—3206 ML ESHEARIE 9 Piece 375-1804 | 3751808 above \ plastic stand above \ plastic stand
set of above \ wooden stand set of above \ wooden stand
375—1302 | 375—1306 MLLOHEEERIE 9 Piece 375-3302 | 375—3306 | PALOMFEERE 9 Piece set of
set of above \ plastic stand above \ plastic stand

96 FANGZHENG TOOL FANGZHENG TOOL 97




# X R 3 ¥ 1T R R 3

REOV® BORING HEADS SERIES PARALLEL BLOCK SERIES

ZY—60006 F1 #U$ETJ4F F1 BORING SHANK ZY—80002 PB161 ZEUE{THh PRECISION PARALLEL BLOCK
1.5 E. HRC55~62 1.Hardeness HRC55 ~ 62
s 2.%8E:. =£0.01lmm 2, Accuracy 0.01Tmm
) LMo [ \//\:H:ﬂ‘ _ 3.3E4TE. 0.005mm 3.Parallelism 0.005mm
i i \]HL% Rl & Ak 8
L b Model No. LXWXxH Pcs

100X5% 16,100 X6 X 18,100 X 8 X 24,

100X 10X 30, 150X 12X 36
BUE Model No. |#HEB Shank | L(mm) | #2547 M U2 Model No. |#HZR Shank | L(mm) | #8847 M PB161 150 14 48’ 50x18 60’ 9x2
F1—MT2—M MT2 93 F1-32—M 32 117 X14x48, THOx18X50,
F1—MT3—M MT3 110 F1—40—M 40 117 150X 22 x62,200%x 31 X15%2.5(30° )
F1—MT4—M MT4 133 F1-5,/8—M 5/8" 97
FIZMTS =M MTS 169 Fi=s/4-0 4 12 ZY—80004 PB150 EIF4FHe PRECISION PARALLEL BLOCK
— AV V4
F1-MT6-M MT6 214 | 7/8"=20 | F1-7/8-M 7/8" 127 | 7/8" 20 FT
F1—R8—M RS 128 [1-1/2" 18| F1—1—M 1 137 [1-1/2"-18 158 HRC55~62 1.Hardeness  HRC55~62
F1-NT30—M NT30 102 Fl1—1—1/4—M 1-1/4" 167 2.#5E: 0.01mm 2.Aceuracy  0.01mm
3.%F47E. 0.005mm 3.Parallelism 0.005mm
F1—NT40—M NT40 135 F1—1—1/2-M 1-1,/2" 197
F1—NT50—M NT50 168 F1—1-3/4—M 1-3/4" 227 A= & 15
F1—16—M 16 17 BT40XM—45 BT40 122.4 Model No. LXWXH Pes
F1-20—M 20 117 DIN69871.40XM—40 | DIN69871.40| 120.4 PB150—1 190x10x14(16,18,20.22.24.
F1—25—M 25 117 CAT40XM—50 CAT40 130 26,28,30,32, 35,40, 45,50)
150X 8% 14(16,18,20,22, 24,
PB150—2 14%2
ZY—60008 F1A—18 HEUjEmréssl  PRECISION BORING HEAD 26,28,30,32,35,40,45,50)
80Xx4x14(16,18,20,22,24,
PB150—3 14%2
26,28,30,32,35,40,45,50)
& )
-E \ | 200X 10X 14(16,18,20,22,24,
v o PB150—4 14%2
ks @ 26.28,30,32, 35,40, 45 ,50)
= \ i ZY—80006 PB151 ZUIE{THr PRECISION PARALLEL BLOCK

1.fE. HRC55~62 1.Hardeness HRC55 ~ 62 @g
g
B=s RASEHIEE FHFFLIZ iEREEELE BREAITIE 2.¥5F: 0.01mm 2.Accuracy  0.01Tmm B
Model Max .boring diameter | Boring bar hole size | Fine feed per graduation |Max . stroke of slide block 3.F{FE. 0.005mm 3 Parallelism  0.005mm s
F1A—18 160mm 18mm 0.02mm 25mm
B S Mg Gt
RIS 1 e 1 e 1 Model No. LXWxH Pes
MOdeI NO. Specification MOdeI NO. Specification MOdeI NO. Specification PB151—1 100)(4)(10(14 18 22 26 30 34 38 42 ) 9% ?2
F1A—18—R8 7,/16" X20UNF F1A—18—MW6 M24 F1A—18—MS6 ERA  tanged PB151—2 | 160x4x10(14,18,22,26,30,34,38,42.) | 9% 2
F1A—18—-MW3 M12 F1A—18-MS3 HREE tanged F1A—18-30 M12 PB151—3 | 150X 8.5x 14(16,20,24,30,32,36,40,44) | 9% 2
F1A—18-MW4 M16 FIA-18-MS4 | HEH tanged | FIA-18-40 M16 PB151—4 | 150X 10 14(16,20,24,30,32,36,40,44) | 9% 2
F1A—18—MW5 M20 F1A—18—MS5 HER tanged F1A—18-50 M24

98 FANGZHENG TOOL FANGZHENG TOOL 990




% 3 W 8% R 3

PARALLEL BLOCK SERIES EDGE FINDER SERIES BEOV®

ZY—80008 PB153 #UIE{THk PRECISION PARALLEL BLOCK ZY—90002 JtEIKi#2E ELECTRONIC EDGE FINDER
1.5 & . HRC56~62 1.Hardeness; HRC56 ~ 62 1. R E BT 1.Touch point LED indication
2-*‘%@? 0.01mm 2_Accura(?y: 0.01mm 2 MRS & NEE 2.Manufactured from high quality alloy steel
3.3E4TE . 0.005mm 3.Parallelism; 0.005mm 3.k HRE R EE N 3.Hardened and precision ground
4, [E)4HEO0.01mm 4 Concentricity 0.01mm
B =S A% et
Model No. LXWXxH Pcs

125%x8x11(16,21,26,31,36)

125X 10X 13(18,23,28,33,38)
PB153—1 24%2

125X 12x15(20,25, 30, 35,40) v
125X 14x17(22,27,32,37,42) 7 s
150x 8% 11(16,21,26,31,36)
150X 10X 13(18,23,28,33,38) %5
PB153-2 24 %2
150X 12X 15(20, 25,30, 35,40)
150 x 14 % 17(22,27,32,37,42)
ZY—90004 {m>zXKiZ2§ MECHANICAL EDGE FINDER
i 1 =
ZY—80010 PB154 EEF{TE& PRECISION PARALLEL BLOCK 1. BAFENE, FEAHKIEE R 1.Mechanical edge finder for quick and easy location of round or flat work
1.5 & . HRC55~62 1.Hardeness; HRC55~ 62 2. kAR EES 2.Manufactured from high quality steel
2. ¥FE. 0.01mm 2.Accuracy; 0.01mm 3{ERAE 3.Easy to use
3.F4TE: 0.005mm 3.Parallelism; 0.005mm 4 RIEER, BE 4 Quick and accurate
5. [E)4H E£0.005mm 5.Concentricity 0.005mm
BS A& g
Model No. LXWXxH Pcs
150X 8 X 16(18,20,22,24,26,28,30, CBQ—00C
PB154—1 18%2 =
32,34,36,38,40 42, 44 46 48 50) s gl .
h=3
150x 8% 17(19,21,23,25,27,29,31, S - B —1 )
PB154—2 182 sl e N
33,35,37,39,41,43,45,47,49,51) 5 82
- ZY—80012 PB155 #UE{THk PRECISION PARALLEL BLOCK
=& CBQ—-00A CBQ-00D
ﬁig 1.fE. HRC55~62 1.Hardeness HRC55 ~ 62 el g Ol
- m © =4 = @0
B 2. #E: 0.0lmm 2. Accuracy 0.01mm B ° St e
EF% 3.3|Z;j:}§'; 0.005mm 3.Parallelism 0.005mm £l =7 ijf‘”]me §¢ | = = _"_,'I.L-W <
89.5 T N7 4775«
89.5 E‘%
m s g 8 o
Model No. LXWXH Pcs 3=
=&
CBQ—-00B ]
120X 10X 14(16,18,20,22, 24 — o
PB155—1 (16.18,20,22,24, 12x2 . CBQ—00E N
26,28,30,32,35,40) 5 19 s 19,
150X 10X 14(16,18,20,22,24 al T L 2 ol e ' 2
PB155—2 (16.18,20.22,24, 12x2 o1 TS (o1 31 [ A S
26,28,30,32,35,40) 525 s

100 FANGZHENG TOOL FANGZHENG TOOL 101



51
OTHER ACCESSORY SERIES

H
OTHER ACCESSORY SERIES

ZY—100002 DIN317 #5145 MORSE SHANK PULLER ZY—100008 SgEZ/N  HYDRAULIC SOFT CLAWS
A= Model No. MT .NO L (mm) H(mm)
DIN317/0 MTO 90 12
—= H-7 f=—
DIN317/1-2 MT1 MT2 140 20
DIN317/3 MT3 190 25 ARW/aNN
AAH
DIN317 /4 MT4 225 30
DIN317 /5—6 MT5 MT6 265 35
- Q} / L5P Het
L . —~ H6 [~  ~—H-8— H 2
60° ;
H-9 Hes S
ZY—100004 DIN318 #FHzh#2% HALF AUTOMATIC MORSE SHANK PULLER
AIS Model No. MT .NO #1¢ Overall Length M/ Rt K | % | A | @ @R || |RoReE| | | B2 | EERE
DIN318,/1-3 MT1 MT2 MT3 317 MODELS /DIMENSION h—1 h—2 h—3 h—4 h—5 h—7 h—9 h—10
DIN318,/4—6 MT4 MT5 MT6 380
CS05 62 25 30 10 4 10 14 38 M8 1.5%60°
o =] i ot
ZER BRI BT RR R, RIFRE, GHE7 . . . . . CS06 73 31 36 12 5 15 20 38 M10 1.5%x60°
The morse shank can easy to be pulled off by the half—automatic morse shank puller. Operation quickly,saving time and
pressure
CSo08 95 35 38 14 5 24 25 46 M12 1.5%60°
CS10 110 40 42 16 5 30 30 50 M12 1.5%60°
— D R DEV
ZY—100006 JJ4&4)iJIEE VERTICAL HORIZONTAL TOOL HOLDER DEVICE Cs12(mhz) 129 50 50 y 6 39 20 60 MI6 | 1.5x60°
B = TIHRSERE SMERST B=E CS12S(rhsE) 129 50 50 18 6 39 30 60 M14 | 1.5%60°
Model No. | Taper of Tool Holder | Outsize (mm) Weight (kg)
LD—BT30 BT30 205x98.5x 128 3.70 CS15(rZs) 165 62 62 22 8 37 43 85 M20 | 1.5%60°
LD—BT40 BT40 205x%98.5x 128 3.80
LD—BTS0 BTS0 275X 150198 11.40 CS12S(ehsD) 165 62 62 | 25,5 | 5.3 | 37 43 85 | M20 |1.5x60°
LD-DT30 DIN69871 .30 205x98.5%x 128 3.70
LD—DT40 DIN69871 .40 205x98.5%x 128 3.80
- LD-DT50 DIN69871 .50 275% 150 % 198 11.40 -
=7 LD—CAT30 CAT30 205 98.5 128 3.70 =7
2 2
F\S% LD—CAT40 CAT40 205x%98.5x 128 3.80 %‘5%
ms ms
E LD—CAT50 CAT50 275X 150 % 198 11.40 g

FANGZHENG TOOL

FANGZHENG TOOL

103






